
COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

COMBINED LIST OF SURPLUS & INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

Sr PL No. Description Unit Stock Stock 
Value LI/LR-DT WD Surplus/In

active
1 10020019 16 CYLINDER ENGINE 

BLOCK (ENVE Nos. 2 4172512 10-Mar-14 35 Surplus
2 10020032 SIDE SHEET LS Nos. 37 1875164 31-Aug-22 39 Surplus
3 10020044 SIDE SHEET RS Nos. 37 1875164 31-Aug-22 39 Surplus
4 10050541 SNUBBER VALVE Nos. 28 47134 15-Jun-23 54 Surplus

5 10050840 TRIP LEVER ASSLY - 
M.G. Nos. 32 17758 25-Oct-21 54 Surplus

6 10050875 LEVER AIR DAMPER Nos. 11 7080 23-Feb-22 54 Surplus
7 10050929 AIR DAMPER DISC Nos. 53 13881 7-Apr-22 54 Surplus
8 10050966 COVER Nos. 97 31004 13-May-22 54 Surplus

9 10052150 FUEL OIL PUMP 
COMPLETE Nos. 1 20178 16-Jan-23 54 Surplus

10 10060029 Assembly(Fitting at 
Lube Oil H Set 90 132750 21-Feb-23 54 Surplus

11 10063122 LUB OIL SRAINER 
ASSLY Set 15 125948 24-Jul-20 54 Surplus

12 10080200 TURBINE DISC 
ASSEMBLY (BG) Nos. 53 16819897 5-Apr-18 54 Surplus

13 10080582 TURBINE DISC ASSLY Nos. 24 7474800 30-Sep-19 54 Surplus
14 10080624 DUCT OUTLET Nos. 18 62329 28-Oct-21 54 Surplus
15 10080892 EXHAUST MANIFOLD Nos. 16 1330004 2-Sep-20 54 Surplus

16 10120993 PIPE WATER OUT LET 
HEADER Nos. 6 118526 12-Jun-20 35 Surplus

17 10123416 Cylinder Liner (Semi-
Finissed) Nos. 285 2567185 11-Apr-17 35 Surplus

18 10124597 CYLINDER HEAD CAST 
251 PLUS Nos. 51 1023056 31-Mar-12 35 Surplus

19 10130408 ELBOW CRANK CASE 
VENT.BLOWER Nos. 24 71776 30-Oct-21 35 Surplus

20 10130482 Outer Ring Camshaft 
Vib.damper Nos. 178 2496346 11-Nov-14 54 Surplus

21 10130664
INDUCER FOR 
COMPRESSOR(ROUGH 
C

Nos. 166 1697313 21-Jan-14 35
Surplus

22 10130780 INDUCER Nos. 76 669477 1-Mar-13 35 Surplus

23 10140013 SADDLE INTER - 
MACHINED (BG) Nos. 369 11057499 18-Aug-22 35 Surplus

24 10140025 SADDLE INTER (forged) Nos. 311 6627833 5-Mar-19 35 Surplus

25 10140037 SADDLE CENTER - 
MACHINED (BG) Nos. 161 6244326 21-Sep-20 35 Surplus

26 10140049 SADDLE CENTRE MAIN 
BRG Nos. 74 2593712 5-Mar-19 35 Surplus

27 10140177 MAIN BEARING CAP 
INTER Nos. 96 548022 1-Jul-23 35 Surplus

28 10140190 MAIN BEARING CAP 
CENTRE Nos. 32 333745 30-Jun-23 35 Surplus

29 10140281 F.P.INLET Nos. 62 43323 20-Jul-05 35 Surplus

30 10140335 YOKE AIR & EXHAUST 
VALVE Nos. 853 189860 18-Jan-22 35 Surplus

31 10140578 IMPELLER FORGING Nos. 103 1865453 21-Jan-14 35 Surplus

32 10140712 BOLT CRANK GEAR 
MACHINED Nos. 66 57782 13-Jun-23 54 Surplus

33 10140748 CAP SCREW Nos. 49 20767 18-Feb-14 35 Surplus
34 10140864 SADDLE INTER Nos. 214 9684163 16-Dec-19 35 Surplus

35 10140888 SADDLE CENTRE MAIN 
BEARING Nos. 33 1950510 16-Dec-19 35 Surplus

36 10140920 CROSS HEAD LIFTER Nos. 77 185582 25-Jun-19 54 Surplus
37 10141042 SHAFT ( MACH ) Nos. 114 374202 6-Nov-19 54 Surplus

38 10141133 IMPELLER ( FORGING ) Nos. 154 2260741 1-Mar-13 35 Surplus

39 10141406 EXT. SHAFT WITH NUT Nos. 3 62050 23-Nov-20 54 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

40 10141560 EXTENSION SHAFT 
{FORGING} Nos. 12 165559 7-Sep-22 35 Surplus

41 10142083 Connecting Rod Nos. 113 923912 27-Mar-15 35 Surplus

42 10142873 MODIFIED WATER 
PUMP MACH. Nos. 6 40457 15-Jun-23 54 Surplus

43 10143373 MODIFIED MAIN 
BEARING CAP (I Nos. 515 2787255 16-Aug-22 56 Surplus

44 10160061 SPRING Nos. 49 2906 17-Feb-21 54 Surplus
45 10160188 SPRING Nos. 2 233 20-Oct-21 54 Surplus
46 10170066 GASKET Nos. 132 1718 11-May-19 59 Surplus
47 10170078 GASKET Nos. 151 1980 19-Oct-21 59 Surplus
48 10170157 GASKET Nos. 123 1772 19-Oct-21 59 Surplus
49 10170182 GASKET Nos. 718 6271 19-Oct-21 59 Surplus
50 10170200 GASKET Nos. 59 266 14-Feb-22 59 Surplus
51 10170285 GASKET Nos. 40 446 26-May-22 59 Surplus
52 10170303 GASKET Nos. 266 1119 13-May-22 59 Surplus
53 10170492 GASKET Nos. 95 4182 19-Oct-21 59 Surplus
54 10170534 GASKET Nos. 805 50746 13-May-22 59 Surplus
55 10170613 GASKET Nos. 22 704 28-May-19 59 Surplus
56 10170625 GASKET COPPER Nos. 4347 8393 18-Oct-12 59 Surplus
57 10170662 GASKET 15D-76975-1 Nos. 21 475 27-Apr-19 59 Surplus
58 10170698 GASKET Nos. 136 7511 30-Jul-19 59 Surplus

59 10170716 GROMMET FUEL OIL 
HEADER Nos. 45 245 22-Jul-22 59 Surplus

60 10170984 GASKET Nos. 94 1481 14-Feb-22 59 Surplus
61 10170996 GASKET Nos. 145 27769 28-Dec-22 59 Surplus
62 10171009 GASKET Nos. 57 14920 26-Oct-21 59 Surplus

63 10171010 GASKET FOR OIL 
CATCHER Nos. 12 3326 26-Oct-21 59 Surplus

64 10171060 GASKET Nos. 76 1492 19-Nov-21 59 Surplus
65 10171174 GASKET COPPER Nos. 23 196 25-Mar-22 59 Surplus

66 10174862 GASKET LUB OIL 
COOLER Nos. 79 67762 23-Aug-12 59 Surplus

67 10175349 GASKET TURBO 
SUPPORT Nos. 2 444 2-Feb-19 59 Surplus

68 10175570 O-RING WATER 
JUMPER ELBOW Nos. 1 20 23-Aug-19 59 Surplus

69 10175842 GASKET KIT (COPPER) Set 13 14833 19-Apr-23 59 Surplus
70 10180412 LOCKING PLATE Nos. 20 793 7-Apr-22 54 Surplus
71 10190089 LOCKING PLATE Nos. 4 307 14-Sep-22 54 Surplus

72 10191756 TOP DECK LS WELDED 
CLY.BLOCK Nos. 20 2301106 1-Sep-22 54 Surplus

73 10191768 TOP DECK RS WELDED 
CLY.BLOCK Nos. 19 2128783 1-Sep-22 54 Surplus

74 10191835 SPLINE (FINISHED) Nos. 27 1580091 11-Sep-20 54 Surplus

75 10210702 PIN (CONTROL 
LINKAGE) Nos. 6 1084 4-Aug-07 54 Surplus

76 10210714 GUIDE Nos. 8368 538706 17-Feb-20 54 Surplus

77 10210740 ADJUSTING SCREW 
VALVE LEVER Nos. 62 26781 13-May-23 54 Surplus

78 10210880 DOWEL CONNECTING 
ROD Nos. 16 9050 31-Jul-14 54 Surplus

79 10211019 ADJUSTING SCREW 
FOR YOKE Nos. 15 6065 15-May-23 54 Surplus

80 10211020 SPL STUD BOLT(CAM 
SHAFT COUPL) Nos. 577 51780 9-Dec-21 54

Surplus

81 10211032 STUD INJECTION 
TUBE TO CYL HD Nos. 2540 52926 30-Aug-19 54 Surplus

82 10215311
SHAFT (GOV.CONTROL 
LINKAGE &CONTROL 
ARM CAM)

Nos. 4 5428 2-May-23 54
Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

83 10216480 CAM SHAFT MG Nos. 2 34262 25-Sep-20 54 Surplus

84 10216558 CAM SHAFT CYL 5 AND 
6 Nos. 23 27370 11-Nov-11 54 Surplus

85 10216571 CAM SHAFT CYL 1 AND 
2 Nos. 27 1651482 15-Sep-11 54 Surplus

86 10217538 MODIFIED STUD - 
BOLT Nos. 26 72787 2-Jun-23 51 Surplus

87 10217540 MODIFIED STUD -BOLT Nos. 52 52840 25-Aug-22 51 Surplus

88 10220136 NUT-2 1/2"-
12(EXTENSION SHAFT) Nos. 9 3723 31-Dec-18 54

Surplus
89 10220148 NUT-1/2"-13, UNC-2B Nos. 791 8701 16-Mar-21 49 Surplus

90 10220197 NUT:INTERMED.MAIN 
BEARING STUD Nos. 24 4455 30-Oct-19 35 Surplus

91 10220653 PIPE PLUG Nos. 620 13454 3-Jul-18 54 Surplus

92 10220719 NUT INTERMED.MAIN 
BRG.STUD Nos. 113 21756 25-Aug-22 49

Surplus

93 10221256 PLUG(CyL.BLOCK 
LIFTING HOLE) Nos. 11 11489 23-Apr-22 49 Surplus

94 10236211 NON RETURN VALVE Nos. 149 70302 29-Jan-19 62 Surplus
95 10240111 SHIM Nos. 198 62918 21-Oct-19 54 Surplus
96 10240317 SPECIAL WASHER Nos. 70 991 30-Aug-17 54 Surplus
97 10240330 DOWEL PIN Nos. 20 941 10-Feb-21 49 Surplus
98 10240573 PIN Nos. 2 1180 7-Jan-20 58 Surplus
99 10240585 SPRING LATCH Nos. 12 5797 24-Nov-21 54 Surplus
100 10240603 SHIM Nos. 210 30828 7-Sep-22 54 Surplus
101 10240676 SHIM Nos. 67 4809 17-Dec-21 54 Surplus
102 10240755 TY- RAP Nos. 185 17316 17-Jan-19 54 Surplus

103 10240871 SPL.WASHER-
1/4"X15/16"ODX1/16" Nos. 2 59 31-Aug-19 58

Surplus
104 10244130 V BOND COUPLING Nos. 6 9914 17-May-17 54 Surplus
105 10245637 BELLOW CONNECTOR Nos. 25 90475 25-Jun-16 54 Surplus

106 10249163 2BELLOW CONNECTOR Nos. 47 236539 21-Oct-22 54 Surplus
107 10272574 HOSE ASSEMBLY Nos. 37 65498 9-Feb-22 59 Surplus

108 10272768 KIT FOR SPECL CAP 
SCREW Set 18 47115 4-Apr-22 60 Surplus

109 10272793 KIT:02(KIT FOR 
NUTS),(06 Cyl) Set 4 16652 28-Apr-22 60 Surplus

110 10272823 KIT:03(KIT FOR 
WASHER)(06 CYL) Set 20 36444 18-Apr-22 60 Surplus

111 10272859 KIT FOR CAP SCREW Set 18 466205 18-Apr-22 60 Surplus

112 11029651 BRAKE EQUALISER 
ASSLY. Nos. 511 584584 22-Mar-12 56 Surplus

113 11051607 PROPELLER SHAFT( 
MG) Nos. 2 31460 12-May-22 59 Surplus

114 11053677 TRACTION MOTOR 
BLOWER FRONT Nos. 13 306298 8-Jul-22 39 Surplus

115 11055870 TRACTION MOTOR 
BLOWER(REAR) Nos. 5 311084 6-May-22 39 Surplus

116 11065710 PIPE FITTING FOR 
AFTER COOLER Nos. 4 9263 25-Jan-23 59 Surplus

117 11066301 BEND PIPE Nos. 5 16221 25-Jan-23 59 Surplus
118 11126188 E.C.C SPACER Nos. 21 10629 16-Aug-18 60 Surplus

119 11126309 COMPRESSOR SPACSR Nos. 46 27798 3-May-23 60 Surplus

120 11129062 COMPRESSOR SPACER Nos. 454 260137 12-Jan-21 60 Surplus

121 11151432 ANGLE FOR SIDE 
SHEET Nos. 233 127844 12-Jul-22 60 Surplus

122 11161670 NUT-1 3/4"-16,UN-3B Nos. 8 1456 2-Mar-22 49 Surplus
123 11190164 KEY Nos. 14 1194 6-Jul-22 60 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

124 11231075 AXLE DRIVING 
(ROUGH TURNED) Nos. 27 1687500 10-Mar-18 39 Surplus

125 11239037 AXLE (ROUGH 
TURNED) Nos. 14 931000 25-Aug-12 39 Surplus

126 11250288 VALVE MARKER (R.H.) Nos. 162 5412 27-Sep-18 51 Surplus
127 11250290 VALVE MARKER(L.H.) Nos. 163 5972 27-Sep-18 51 Surplus
128 11250860 SHEAVE (CAST) Nos. 4 9372 2-Jun-23 51 Surplus
129 11253060 VALVE MARKER F.P. Nos. 166 8002 27-Sep-18 51 Surplus
130 11253071 VALVE MARKER B.P. Nos. 223 10321 27-Sep-18 51 Surplus

131 11270100 GLASS WOOL 3INX35IN SQM 123.797 6625 12-Sep-12 60 Surplus

132 11270421 GASKET 1/16 IN X 
5.1/2 SQ Nos. 10 245 12-Jun-10 59 Surplus

133 11270433 GASKET Nos. 13 246 19-Jun-10 59 Surplus
134 11270469 GASKET Nos. 26 697 9-Mar-10 59 Surplus
135 11270536 GASKET Nos. 29 2241 20-Apr-22 59 Surplus
136 11270561 GASKET Nos. 23 259 29-Sep-21 59 Surplus

137 11270767 CONNEC TION SLEEVE Nos. 21 11742 8-Apr-15 59 Surplus
138 11270779 COPPER GASKET Nos. 16 13222 8-Oct-15 59 Surplus
139 11270895 V BELT B-78 (BACK) Nos. 28 15987 9-May-22 59 Surplus

140 11270901 CONNECT.SLEEVE OR 
RUBBER SEAL Nos. 14 11534 25-Nov-16 59 Surplus

141 11272624 ANTI VIBRATION 
RUBBER PAD Nos. 12 8909 30-Dec-19 59 Surplus

142 11272715 PUCK HOSE 42"LONG Nos. 6 17291 6-Jul-22 59 Surplus
143 11275790 GASKET MTR 864.7 51277 8-Apr-15 59 Surplus

144 11276149 HYTRAL PAD WITH 
DIMPLES FOR CO Nos. 750 219241 10-Aug-13 59 Surplus

145 11276198 GASKET KIT FOR 
LOCOS ( LAS ) Set 20 12700 16-Jul-22 59 Surplus

146 11276344 AXLE BOX CROWN Nos. 658 602209 7-Apr-15 56 Surplus
147 11282540 COUPLING 1/4" Nos. 26 1337 27-Jan-20 59 Surplus
148 11282551 COUPLING 1/4" Nos. 462 2396 20-Jan-14 38/66 Surplus

149 11282575 COUPLING 3/8 STYLE-I Nos. 2 161 10-Jan-22 59 Surplus
150 11283166 REDUCER Nos. 2 661 10-Oct-18 54 Surplus
151 11283890 REDUCER COUPLING Nos. 74 4032 10-Dec-20 59 Surplus
152 11284146 REDUCER COUPLING Nos. 417 4979 8-Oct-15 59 Surplus

153 11284602 ELBOW 1/2 IN STYLE1 Nos. 46 12739 9-Aug-19 59 Surplus

154 11284717 90 DEG ELBOW 1 1/4 
IN Nos. 4 1837 8-Jun-20 54 Surplus

155 11284766 ELBOW 2 IN Nos. 44 21819 13-Sep-19 59 Surplus

156 11285035 REDUCER ELBOW 
1/4X1/8IN Nos. 444 5537 26-Oct-15 59 Surplus

157 11285497 REDUCER ELBOW 
(1.1/4" X 3/4") Nos. 11 2173 8-Apr-15 59 Surplus

158 11285539 REDUCING ELBOW 1-
1/4" X 1" Nos. 358 106355 10-Dec-20 51 Surplus

159 11286623 1/2"X1/2"X 45 DEG 
ELBOW Nos. 4 381 8-Jun-20 54 Surplus

160 11286660 ELBOW 1 INX45 DEG Nos. 331 8024 9-Feb-13 59 Surplus

161 11286726 ELBOW 1.1/2 INX45 
DEG Nos. 445 21956 20-Mar-12 59 Surplus

162 11287070 TEE 1/4 IN Nos. 41 2912 19-Aug-13 59 Surplus
163 11287238 TEE 1/2 IN Nos. 4 330 29-Jan-22 59 Surplus
164 11287317 TEE 1 IN Nos. 2 4720 13-Jan-22 59 Surplus
165 11287391 TEE 1.1/4 IN Nos. 17 7181 8-Jun-20 54 Surplus
166 11288231 RED. TEE Nos. 553 9550 20-Mar-12 59 Surplus
167 11288450 RED. TEE 3/4 IN Nos. 25 3758 24-Aug-22 54 Surplus
168 11288954 TEE 1/4X1/4 IN Nos. 33 778 12-Feb-21 59 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

169 11289077 UNION SOCKET 1.1/2 
IN Nos. 148 27131 18-Jan-21 59 Surplus

170 11289272 UNION ELBOW 3/2"X90 Nos. 24 14393 3-Aug-19 59 Surplus
171 11289510 UNION TEE 1/4" Nos. 5 581 4-Jan-22 59 Surplus
172 11289582 UNION TEE 3/4 IN Nos. 64 14778 4-Jan-22 59 Surplus
173 11290780 SQ HD PLUG 1/2 IN Nos. 36 3852 9-Jan-19 60 Surplus
174 11290948 PIPE PLUG Nos. 221 5291 1-Jun-19 60 Surplus
175 11291746 PIPE PLUG 1.1/4 IN Nos. 128 6143 15-Jan-19 54 Surplus
176 11291850 PIPE CAP 3/4" Nos. 26 20170 7-Jul-22 60 Surplus
177 11295132 PIPE NIPPLE 1/2 IN Nos. 135 1406 5-Jul-18 59 Surplus

178 11304224 PLUG 1/8 " NPT 
(HEXAGON SOCKET Nos. 4819 28767 15-Jan-19 54 Surplus

179 11304558 GLOBE VALVE-1/2" Nos. 2 1601 13-May-22 54 Surplus

180 11304704 HEX BUSHING 
(Hispano Turbo) Nos. 8 5192 5-Mar-09 54 Surplus

181 11305022 HEX BUSHING Nos. 22 7410 3-Sep-22 51 Surplus

182 11320047 ERMETTO FITTING 
8205X4X4 Nos. 214 27595 20-Jan-20 59 Surplus

183 11320102 ERMETO FITTING 3/8 
IN Nos. 14 1444 27-Apr-22 59 Surplus

184 11320126 ERMETTO FITTING 
8205X8 Nos. 706 10898 5-Dec-20 59 Surplus

185 11320163 ERMETO FTG 5/8 IN Nos. 10 3151 5-Nov-18 59 Surplus
186 11320205 ERMETO COUPLING Nos. 40 7121 13-Aug-14 54 Surplus
187 11320280 FITTING Nos. 69 11295 23-Nov-20 59 Surplus

188 11320308 ERMETO FITTING 3/8 
IN Nos. 18 1342 29-Apr-23 59 Surplus

189 11320333 ERMETO FILTING 1/2IN Nos. 563 34873 10-Mar-18 59 Surplus

190 11320357 ERMETTO FITTING 
8522X10 Nos. 16 1911 24-Jun-20 59 Surplus

191 11320424 ERMETO FITTING Nos. 30 1416 10-Mar-18 59 Surplus

192 11320448 FITTING 3/8IN ODX3/8 Nos. 10 2455 28-Sep-07 59 Surplus
193 11320667 ERMETO FITTING Nos. 498 6786 23-Dec-17 59 Surplus

194 11320710 ERMETO FITTING 3/8 
IN OD Nos. 170 3223 24-Apr-19 59 Surplus

195 11320734 ERMETTO FITTING 
8405X8 Nos. 1220 30661 7-Feb-20 59 Surplus

196 11320758 ERMETO FITTING 1/2 
IN Nos. 10 987 10-Mar-18 59 Surplus

197 11320771 ERMETO FITTING Nos. 24 3234 26-Sep-18 59 Surplus

198 11320928 ERMETO FITTING 5/8 
IN Nos. 61 8376 2-Jan-20 59 Surplus

199 11321027 ERMETO FITTING 3/8 
IN ODX3/8 Nos. 110 2228 27-Jun-17 59 Surplus

200 11321143 FITTING 1/4 IN OD X 
1/4 Nos. 10 2572 24-Aug-11 59 Surplus

201 11321295 ERMETO FITTING Nos. 5 3285 10-Jun-20 59 Surplus

202 11321398 ERMETTO FITTING 
8705X8 Nos. 229 10758 29-Nov-19 59 Surplus

203 11321532 ERMETTO FITTING 
8755X8 Nos. 174 14594 5-Mar-12 59 Surplus

204 11321556 TEE Nos. 6 1518 20-Dec-19 54 Surplus
205 11321714 REDUCER Nos. 14 2270 9-Mar-20 54 Surplus
206 11321726 REDUCER Nos. 37 718 9-Sep-19 54 Surplus
207 11321738 REDUCER Nos. 109 5376 27-Jun-20 54 Surplus
208 11325033 COUPLING 3/4" Nos. 110 60851 29-Jan-22 59 Surplus

209 11325100 1" IN DRESSER 
COUPLING Nos. 20 2757 3-Aug-19 59 Surplus

210 11325197 DRESSER ELBOW 1/2IN Nos. 136 44648 29-Jan-22 59 Surplus
211 11327509 HOSE ASSLY. Nos. 11 16483 3-Dec-18 59 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

212 11327534 HOSE ASSLY.FOR 
CONTROL DESK Nos. 520 262737 10-Aug-18 59 Surplus

213 11327583 HOSE ASSEMBLY Nos. 25 6883 29-Jan-22 59 Surplus
214 11327595 HOSE Nos. 110 38257 7-May-18 59 Surplus
215 11327613 HOSE ASSLY. Nos. 8 1694 29-Jan-22 59 Surplus

216 11327649 PIPE FITTING HOSE 
ASSLY. Nos. 23 12538 7-Nov-17 59 Surplus

217 11327844 HOSE ASSLY. Nos. 3 890 12-Oct-12 59 Surplus
218 11327856 HOSE ASSLY. Nos. 6 1779 1-Sep-17 59 Surplus
219 11327870 HOSE ASSLY. Nos. 2 1038 22-Nov-18 59 Surplus
220 11327893 HOSE ASSEMBLY Nos. 35 20119 3-Nov-21 59 Surplus
221 11327900 HOSE ASSLY. Nos. 13 5681 13-May-22 59 Surplus

222 11328149 FLANGE (FOR HOSE 
ASSLY) Nos. 143 19954 9-Jan-19 54 Surplus

223 11328230 ADOPTER Nos. 376 60800 24-Nov-21 54 Surplus
224 11328381 HOSE ASSLY. Nos. 18 9838 31-Jan-22 59 Surplus

225 11329257 HOSE ASSLY (FUEL OIL 
CIRCUIT) Nos. 2 7413 5-Oct-20 59 Surplus

226 11329932 ADOPTER Nos. 160 11101 20-Dec-19 54 Surplus

227 11329944 FEMALE ELBOW 
7/8"UNFx1/2"NPTE Nos. 2 546 25-Jun-20 54 Surplus

228 11340010 CLAMP FOR 3/8" MILD 
STL.PIPE Nos. 573 14154 18-Jul-22 51 Surplus

229 11340060 PIPE CLAMP ASSY 1 IN Nos. 10 7375 29-Mar-17 51 Surplus

230 11340083 CLAMP FOR 
1.1/2"MILD STL.PIPE Nos. 546 42815 13-Feb-20 51 Surplus

231 11340204 PIPE CLAMP Nos. 919 27261 16-May-19 60 Surplus
232 11340289 CLAMP ASSY. Nos. 16 4740 17-Dec-15 60 Surplus
233 11340411 HINGE 4"X4" Nos. 7493 202607 30-Jun-16 60 Surplus

234 11343175 CLAMP FOR 3/4" 
STEEL PIPE Nos. 3232 274822 14-Dec-17 51 Surplus

235 11345779 HINGE 4" X 4" Nos. 5327 133572 6-Feb-19 60 Surplus
236 11410164 SPG RADIATOR Nos. 134 11685 3-Dec-20 51 Surplus
237 11420236 PANAL RADIATOR Nos. 8 2716832 16-Jul-22 39 Surplus
238 11420273 RADIATOR FAN Nos. 7 262996 6-May-22 39 Surplus
239 11440417 FUEL OIL GAUGE Nos. 6 16568 30-Nov-15 59 Surplus
240 11440429 LUBE OIL GAUGE Nos. 6 3612 20-Jan-21 59 Surplus

241 11445476 DUPLEX AIR 
PRESSURE GAUGE 4" Nos. 17 82032 10-Aug-18 51 Surplus

242 11445488 4" SINGLE AIR 
PRESSURE GAUGE Nos. 12 21126 5-Jul-19 51 Surplus

243 11445506 AIR FLOW MEASURING 
GAUGE SELF Nos. 60 113318 10-Aug-18 51

Surplus

244 11445518 6" SINGLE PRESSURE 
GAUGE(B.P.) Nos. 44 62503 23-Nov-20 51

Surplus

245 11445520 6" SINGLE VACCUME 
GAZE VTP Nos. 88 167673 23-Nov-20 51 Surplus

246 11445543 BOOSTER AIR GAUGE Nos. 36 22765 21-Dec-15 51 Surplus

247 11453643 TUBE BEND 3"NB X 45 
DEG. Nos. 774 112544 20-Feb-23 35 Surplus

248 11453655 TUBE BEND 2.1/2"NB X 
90 DEG. Nos. 391 49203 24-Nov-21 35 Surplus

249 11456437 HOSE ASSLY. Nos. 93 34797 21-Oct-22 59 Surplus
250 11459001 Control Desk Assly. Set 4 240974 28-Aug-18 56 Surplus

251 11459219 PRESSURE SWITCH RT-
5X. 72 VOLT Nos. 17 67983 5-Feb-22 51 Surplus

252 11459694 DECAL KIT Set 27 82835 12-Apr-13 51 Surplus

253 11487549 LOCO BRAKE RELEASE 
SWITCH Nos. 108 134125 10-Aug-18 51 Surplus

254 11522010 BOGIE FRAME 
ARRANGEMENT Nos. 8 8496000 14-Jul-22 39 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

255 11522045 SPRING SEAT ASSLY Nos. 213 2004024 4-Jul-22 56 Surplus
256 11522100 BRAKE RIGGING KIT Nos. 12 2273250 29-Apr-22 56 Surplus
257 11522677 SAND BOX ASM Nos. 94 273913 7-Jul-22 39 Surplus
258 11522689 SAND BOX ASM Nos. 45 120315 7-Jul-22 39 Surplus
259 11522690 SANDER BRACKET . Nos. 117 186993 7-Jul-22 39 Surplus
260 11522707 SANDER BRACKET Nos. 128 204574 7-Jul-22 39 Surplus
261 11522719 BRACKET Nos. 92 18925 18-Feb-15 39 Surplus
262 11522720 BRACKET Nos. 92 18925 18-Feb-15 39 Surplus
263 11531149 I-BEAM Assly.(L.H.) Nos. 6 1370997 29-Aug-16 39 Surplus
264 11531150 I-BEAM ASSLY(R.H.) Nos. 5 1142497 19-Oct-16 39 Surplus

265 11531344 BATTERY BOX ARRGT. Set 5 181690 11-Aug-14 39 Surplus

266 11532506 KIT FOR MR SUPPORT 
BRACKET Set 86 274430 5-Jan-22 56 Surplus

267 11533780 BUMPER SUPPORT 
BRACKET ASSLY. Nos. 52 294240 17-Feb-17 39 Surplus

268 11533791 BUMPER SUPPORT 
ASSLY. Nos. 33 174727 17-Feb-17 39 Surplus

269 11533845 ITEM KIT [FOR 
PERFORATED SHEET Set 40 575348 13-Jan-16 56 Surplus

270 11533936
HAND RAIL 
APPLICATION(WDS6AD
T)

Nos. 23 581774 30-Apr-22 39
Surplus

271 11535854 KIT FOR DRAFT GEAR 
ARRANGEMENT Set 4 746358 11-Sep-13 51 Surplus

272 11540515 INSPECTOR SEAT 
ASSEMBLY Nos. 131 68775 9-Aug-12 60 Surplus

273 11562626 PIPE FITTING AFTER 
COOLER ( IN Nos. 7 29089 25-Jan-23 59 Surplus

274 11563000 PIPE FITTING FOR 
L.O.COOLER(IN Nos. 7 30539 25-Jan-23 59 Surplus

275 11567004 AIR MANIFOLD FINS 
TYPE Nos. 16 300812 4-Jan-22 59 Surplus

276 11567223 FLANGE ASSLY. Nos. 53 26502 10-Jan-22 59 Surplus
277 11567235 FLANGE ASSLY. Nos. 32 22246 4-Jan-22 59 Surplus
278 11567247 FLANGE ASSLY. Nos. 18 17539 4-Jan-22 59 Surplus

279 11660284 MALE ELBOW 5/8"OD x 
3/8"PT Nos. 68 24072 12-Jan-21 59 Surplus

280 11660314 90 Dig Female Elbow 
5/8"ODx1/2 Nos. 100 45976 27-May-13 59 Surplus

281 11660429
TEE UNION 
1/2"ODX1/2"ODX3/8"O
D

Nos. 19 8496 30-Oct-18 54
Surplus

282 11663029 BEND ELBOW 3/4"X90" Nos. 462 25669 12-Jan-22 59 Surplus

283 11663042 BEND ELBOW 1"X90 
DEGREE Nos. 248 20562 12-Jan-22 51 Surplus

284 11663169 DOOR LOCK Nos. 21 4923 16-Dec-19 60 Surplus

285 11663522 AIR RESERVOIR ASSLY. Nos. 44 635135 5-Jan-22 56 Surplus

286 11663649 HOSE ASSLY.FOR 
GETURBO CHARGE Nos. 128 36920 24-Jan-15 59 Surplus

287 11663674 RED. TEE (WELD) 1" 
X1" X3/4" Nos. 11 2456 25-Jan-21 59 Surplus

288 11663704 KIT FOR 28LAV-1 
PANEL MOUNTED Set 1 760722 21-Jan-14 56 Surplus

289 11664101 KIT FOR WELD PIPE 
FITTING Set 16 166125 4-Jan-22 51 Surplus

290 11664204 CLAMP 1/4" OD TUBE Nos. 2919 21454 3-Nov-18 59 Surplus

291 11664289 FUEL BOOSTER PUMP 
& BKT ASSLY Nos. 4 24565 10-Feb-22 51 Surplus

292 11664332 PIPE CLAMP ASSEMBLY Nos. 174 15916 20-Aug-18 51 Surplus
293 11664344 CLAMP ASSLY. Nos. 1076 36657 1-Jan-19 51 Surplus

294 11664356 CLAMP ASSLY.FOR 
5/8"COPPER TUB Nos. 264 10589 18-Jul-22 51 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

295 11664629 CLAMP Nos. 155 10385 1-Dec-18 51 Surplus
296 11664642 Clamp Assly Nos. 376 8799 18-Aug-18 51 Surplus
297 11664654 HOSE ASSLY. Nos. 105 64474 21-Oct-22 59 Surplus

298 11664678 FLEXIBLE HOSE 
ASSLY.TEFLON(P.T Nos. 33 34495 13-May-22 59 Surplus

299 11664800 SANDER HOSE Nos. 181 101019 5-Nov-18 59 Surplus

300 11665040 ALUMINIUM FINISH 
STRIP ROUND Nos. 51 11781 6-Jan-17 60 Surplus

301 11667928 INERTIAL AIR 
FILTRATION SYSTEM Set 4 1118039 11-Jul-22 56 Surplus

302 11668180 CUT OUT COCK BALL 
TYPE-1/2"HAN Nos. 3 5292 20-Nov-15 51 Surplus

303 11668659 KIT FOR CLAMP FOR 
PIPE SHOP Set 18 132902 27-Aug-16 51 Surplus

304 11669512 Double Ferrule Comp. 
Tube Fitt Set 19 361535 3-Jun-22 56 Surplus

305 11669548 KIT FOR CLAMP 
WDS6AD AIR BRAKE Set 19 154845 10-Feb-22 51 Surplus

306 11669561 KIT FOR CLAMP 
WDS6AD AIR BRAKE Set 16 133413 4-Jan-22 51 Surplus

307 11700154 LONG HOOD ASSLY. Nos. 1 285650 21-Jul-22 39 Surplus
308 11700166 SHORT HOOD Nos. 7 502157 3-Jun-22 39 Surplus

309 11700178 RADIATOR 
COMPARTMENT Nos. 1 307862 21-Jul-22 39 Surplus

310 11810622 VERTICAL DAMPER Nos. 83 907925 29-Apr-22 56 Surplus

311 12080287 LIGHT WEIGHT 
TRACTION MOTOR Nos. 1 2477538 20-Apr-16 39 Surplus

312 12080342 LIGHT WEIGHT 
TRACTION MOTOR Nos. 12 20699383 8-Nov-19 39 Surplus

313 12100213 BLOWER MOTOR Nos. 11 2462555 23-Mar-12 39 Surplus

314 12102120 3 PHASE AC FUEL 
PUMP MOTOR Nos. 4 228281 8-Feb-22 51 Surplus

315 12130205 STICK TYPE MASTER 
CONTROLLER Nos. 8 792960 14-Mar-22 50 Surplus

316 12140491 2FIELD SHUNTING 
CONTACTOR Nos. 255 2434972 5-Nov-13 50 Surplus

317 12140510 CRANKING 
CONTACTOR Nos. 9 230008 10-Apr-13 50 Surplus

318 12141057 GROUND RELAY Nos. 373 3360293 5-Nov-13 50 Surplus

319 12141100 0CRANKING CONTROL 
CONTRACTOR Nos. 16 117825 13-Jul-19 50

Surplus

320 12170926 OUTLINE OF 
GEN.FIELD OVER CURR Nos. 8 1427601 11-Sep-13 50

Surplus

321 12178032 ELECTRONIC 
SIG.AUDIO BUZZER Nos. 64 40001 30-Apr-15 62 Surplus

322 12201650 FIELD CONTROL PANEL Nos. 56 464380 29-Aug-14 50 Surplus

323 12201819 TRANSITION PANEL 
COMPLETE Nos. 27 2247785 11-Jan-12 50 Surplus

324 12201893 ACCR M/P Nos. 673 1155316 29-Aug-14 50 Surplus

325 12202009 8-LED INDICATION 
PANNEL Nos. 9 14638 20-Aug-19 50 Surplus

326 12202095 8 LED INDICATER 
PANEL Nos. 11 13195 8-Jun-15 50 Surplus

327 12202332 Control Panel for 3300 
HP Nos. 1 4147398 28-Apr-15 50 Surplus

328 12242329 LOAD AMMETER SHUNT Nos. 1 6035 19-Aug-14 50 Surplus

329 12242627 LOAD CONTROL 
RESISTOR PANEL Nos. 331 3216068 30-May-14 50 Surplus

330 12242858 FIELD SHUNTING 
RESISTOR Nos. 81 1170956 14-Dec-15 50 Surplus

331 12300755 THYRITE RESISTOR Nos. 6 253343 10-Apr-13 50 Surplus
332 12313518 MICRO SWITCH Nos. 8 15789 16-Mar-22 50 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

333 12313660 MOTOR CUTOUT 
SWITCH Nos. 76 488943 19-Aug-14 50 Surplus

334 12319247 GEN.ARRGT.OF HEAD 
LAMP SWITCH Nos. 24 39979 12-Oct-18 50 Surplus

335 12319387 M.C.C.B. 100AMPS. 
130VOLTS D.C Nos. 3 15542 29-Nov-07 50 Surplus

336 12319491 TEMP.INDICATOR & 
ALARM SWITCH Nos. 2 19441 17-Aug-17 50 Surplus

337 12330784 ELECTRON BEAM 
CABLE SIZE 3.0MM MTR 90.99 4830 2-Dec-15 62 Surplus

338 12346706 LUG TERMINAL Nos. 557 5127 30-Apr-15 62 Surplus
339 12346743 LUG TERMINAL Nos. 1110 207901 24-Sep-18 62 Surplus

340 12347103 WIRE TERMINALS 1.5 
MM SQR Nos. 24 1709 12-Nov-18 50 Surplus

341 12347115 WIRE TERMINALS 1.5 
MM SQR Nos. 6 30 22-Feb-23 50 Surplus

342 12360016 LAMP HOLDER Nos. 18 2117 9-Dec-20 62 Surplus

343 12365038 CLASSIFICATION 
LIGHT ASSY Nos. 98 93970 22-Aug-07 62 Surplus

344 12365944 TAIL LIGHT Nos. 3 11209 14-Jan-14 62 Surplus
345 12374532 NAME PLATE Set 111 64824 1-May-15 62 Surplus
346 12375019 CABLE MARKER Nos. 318 1308 18-Apr-22 62 Surplus
347 12375020 CABLE MARKER Nos. 654 29240 8-Dec-20 62 Surplus
348 12386017 RCD PANEL Nos. 2 14931 10-Apr-13 50 Surplus
349 12390940 BLOCKING RECTIFIER Nos. 30 26830 15-Oct-15 50 Surplus
350 12390999 BRIDGE RECTIFIER Nos. 253 1586607 11-Sep-13 50 Surplus

351 12440115 EDDY CURRENT 
CLUTCH WITH G.BOX Nos. 4 2445267 6-Jul-22 39 Surplus

352 12442860 GEAR WHEEL 65 TEETH Nos. 54 37053939 30-Dec-19 39 Surplus
353 12461866 CHAIN CLEAT Nos. 11 1380 20-Mar-13 62 Surplus

354 12517010 FLEXIBLE CONDUIT 
PIPE 1.1/4 IN MTR 236.16 41063 11-Oct-17 62 Surplus

355 12523057 OUTLET BOX Nos. 36 8391 18-Apr-22 62 Surplus

356 12529096 CLAMP CABLE 1" 
CONDUIT Nos. 1080 17792 27-Apr-17 62 Surplus

357 12529291 BASE CLAMP COND Nos. 53721 541735 23-Sep-08 62 Surplus
358 12530013 TAPE P V C BLACK MTR 1798 1636 26-Mar-19 62 Surplus
359 12530025 PVC ADH.TAPE MTR 1632 3966 26-Mar-19 62 Surplus
360 12531030 PVC SLEEVING 16 MM MTR 0.5 10 27-Jan-15 62 Surplus
361 12536260 INSULATOR Nos. 20 13280 13-Aug-19 50 Surplus

362 12654024 HEAT RESI.ADHESIVE 
GLASS TAPE MTR 9331 233473 10-Mar-15 62

Surplus

363 15011203 H.H.CAP SCREW 7/8"-
9X2 3/4" Nos. 1973 152908 25-Mar-21 49 Surplus

364 15011264 H.H.CAP SCREW 7/8"-
9X4.1/4" Nos. 3048 150906 4-Apr-22 48 Surplus

365 15031081 H.H.CAP SCREW 3/8"-
16X7/8" Nos. 48 564 10-Feb-21 49 Surplus

366 15032188 H H CAP SCREW1/2"-
13X2 1/4" Nos. 19807 119398 4-Nov-19 58 Surplus

367 15032231 H H CAP SCREW 1/2"-
13X3 1/2" Nos. 506 4817 16-Mar-21 49 Surplus

368 15051134 HEXBOLT CAPS SCREW 
5/16 18X1\& Nos. 182 937 27-Apr-22 49 Surplus

369 15059110 H H CAP SCREW 5/16"-
18X1.1/4" Nos. 62 1113 6-May-23 58 Surplus

370 15059170 HEX HEAD CAP SCREW 
SIZE 5/16 " Nos. 337 977 2-Aug-19 58 Surplus

371 15060056 H H CAP SCREW 3/8"-
16X1/2" Nos. 88680 61496 25-Jan-23 58 Surplus

372 15061085 H.H.CAP SCEW 1/2"-
13X7/8" Nos. 196 3195 8-Mar-19 58 Surplus

373 15061218 HEX HEAD CAP SCREW 
1/2"-13X3" Nos. 5938 34203 9-Jun-22 48 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

374 15063203 H H CAP SCREW 3/4"-
10X2 3/4" Nos. 23 2300 21-Jun-23 58 Surplus

375 15074134 HEX.HD. BOLT 1/2"-
13X1.1/2" Nos. 125 12538 27-Feb-16 58 Surplus

376 15082118 SOC HD.CAP 
SCREW1/4"-20X1.1/4" Nos. 1344 4032 16-Mar-21 49

Surplus

377 15086136 SOC.HD CAP SCREW 
5/8"-11X1.1/2 Nos. 66 10218 15-Feb-21 49 Surplus

378 15086150 SOC HD CAP SCREW 
5/8"-11x1 3/4 Nos. 40 1579 11-Feb-23 49 Surplus

379 15087311 SOC.H.CAP SCREW 
3/4"-10X5 1/2" Nos. 1711 118435 15-Feb-22 48 Surplus

380 15090231 H H CAP SCREW 5/8"-
11X3 1/2" Nos. 12 658 4-Feb-23 49 Surplus

381 15090280 H H CAP SCREW 5/8"-
11X4.3/4 " Nos. 114 12070 3-Dec-21 49 Surplus

382 15100110 SOC.SET SCREW 3/8"-
16X1" Nos. 72 254 10-Feb-23 49 Surplus

383 15151130 MACHINE SCREW FLAT 
HEAD#10 Nos. 156 3682 9-Dec-15 58 Surplus

384 15159050 SCREW Nos. 466 238 24-Mar-21 49 Surplus

385 15173033 M/C SC PH RD HD 8-
32X Nos. 52 2080 20-Apr-15 58 Surplus

386 15229117 Self Tapping Screw Flat 
Hd.#14 Nos. 288 403 4-Apr-15 58 Surplus

387 15260010 METTALIC DRIVE 
SCREW Nos. 114 6427 14-Feb-22 58 Surplus

388 15264038 METTALLIC DRIVE 
SCREW Nos. 290 17400 17-Apr-15 58 Surplus

389 15285066 STR.DOWEL(STEEL):3/
8"X5/8" Nos. 38 320 7-Sep-22 58 Surplus

390 15285170
STRAIGHT 
DOWEL(STEEL):3/8"X 
2"

Nos. 314 2294 7-Sep-22 54
Surplus

391 15295138 TAPER DOWEL:0.487" 
X 1.1/2" Nos. 404 6234 8-May-23 49

Surplus

392 15312185 FLATS KEY-
5/16"X5/16"X1" LONG Nos. 151 2286 22-Mar-21 48 Surplus

393 15321113 COTTER-3/32" X 1.1/4 Nos. 2778 472 29-Mar-14 58 Surplus

394 15329082 COTTER PIN-1/8" X 
7/8" Nos. 206 156 2-Aug-19 58 Surplus

395 15330242 SPIROL PIN- 1/4" X 
1.1/2 " LG Nos. 2 1062 7-Nov-17 58 Surplus

396 15330280 SPIRAL PINS-0.50 X 
1.75" LG Nos. 10 2000 29-Sep-09 58 Surplus

397 15330412 STAINLESS STEEL 
LOCKWIRE 17SWG MTR 55.96 350 21-Oct-22 54 Surplus

398 15345129 RETAINING RING Nos. 144 7863 25-Jan-19 54 Surplus

399 15351142 SLOTTED HEX 
NUT:1/2"-13,UNC-2B Nos. 1176 3116 22-Mar-21 48 Surplus

400 15361329 HEX JAM NUT- 2.1/2"-8 Nos. 17 6069 25-May-23 49 Surplus

401 15365141 ELASTIC STOP NUT: 
1/2"-20 Nos. 28661 97447 4-Apr-22 48 Surplus

402 15367071 HEX NUT NO 8 Nos. 28121 7593 22-Mar-21 48 Surplus
403 15375080 WELD NUT NO 10-24 Nos. 536 2846 4-Apr-15 58 Surplus

404 15375160 SQUARE & ROUND 
NUT: 5/8"-11 Nos. 15633 40652 16-Aug-21 58 Surplus

405 15377106 HUG LOCK NUT: 1/4"-
20 Nos. 1136 4575 1-Aug-19 58 Surplus

406 15377120 HUG LOCK NUT:3/8"-16 Nos. 335 1159 2-Aug-19 58 Surplus

407 15380075 ELASTIC STOP NUT- 
1.1/8"-7. Nos. 154 8735 10-Sep-18 58 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

408 15380099 Hug Lock Nut (UNC-2B) Nos. 27 4779 31-May-23 49 Surplus
409 15380490 WING NUT 3/8IN-16 Nos. 3358 7992 4-Apr-15 58 Surplus

410 15380506 SELF LOCKING HEX 
NUT- 1/2"-13 Nos. 311 23537 19-Feb-22 58 Surplus

411 15390226 PLAIN WASHER 
1P83000-026 Nos. 360 464 30-Nov-21 58 Surplus

412 15396071 SPRING LOCK WASHER 
NO 8 Nos. 11134 7348 30-Apr-22 48 Surplus

413 15396253 SPRING LOCK WASHER 
1 3/8" Nos. 79 3950 7-May-19 58 Surplus

414 15397166 SPRING LOCK WASHER Nos. 26 1687 7-Mar-13 58 Surplus
415 15410092 WASHER PLAIN Nos. 1840 1417 23-Jan-23 49 Surplus

416 15410146 PRESSED CUP 
WASHER # 8 Nos. 1254 1988 12-May-23 49 Surplus

417 15707520 HEX HEAD SCREW:M-
12 X 40 MM Nos. 32 133 6-Jul-22 48 Surplus

418 15710099
HEX HEAD 
SCREW:M16 X 2 X 45 
LG

Nos. 334 3527 6-Jul-22 49
Surplus

419 15711511 HEX HEAD CAP 
SCREW:M-20 X 65MM Nos. 14690 349617 6-Feb-16 58

Surplus

420 15790034 SPRING WASHER M-20 
IS-3063 Nos. 2104 3240 18-Mar-21 49 Surplus

421 15790046 SPRING WASHER M-12 
B IS:3063 Nos. 1575 835 6-Jul-22 49 Surplus

422 15850092 SPLIT COTTER 
PIN6.3DIAX80LG. Nos. 2171 2236 22-Feb-21 49 Surplus

423 16010127 LUBE OIL MANIFOLD 
ASSEMBLY Set 24 297360 4-Jan-21 40 Surplus

424 16020091 RETAINER CYLINDER 
HEAD Nos. 127 2171638 14-Oct-14 35 Surplus

425 16020420 TOP DECK ACCESSORY 
KIT Set 130 2118415 15-Sep-20 35 Surplus

426 16020431 CRANK CASE TUBING 
KIT Set 271 1636555 20-Nov-21 41 Surplus

427 16030412 CAMSHAFT DRIVE 
HOUSING M/C ASM Nos. 21 4415265 13-Feb-23 45 Surplus

428 16030448 CAM SHAFT DRIVE 
END-PLATE KIT Set 244 1387895 18-Jan-21 35 Surplus

429 16030450 ACCESSORY DRIVE 
END-PLATE KIT Set 87 889632 15-Jan-21 35 Surplus

430 16030540 CAM SHAFT BLOCK & 
CAP ASM KIT Set 57 4017105 11-Jul-22 49 Surplus

431 16040065 LINK ASM Nos. 312 50200 18-Oct-21 45 Surplus
432 16040077 LINK ASM Nos. 344 49153 30-May-22 45 Surplus
433 16040089 LINK ASM Nos. 164 28746 30-May-22 45 Surplus

434 16040120 ROCKER ARM SUB AY- 
INJ. Nos. 1242 5159732 22-Jan-21 49 Surplus

435 16050010 GEAR ASM-ACC DRIVE Nos. 15 1207659 3-May-23 40 Surplus

436 16050046 OVER SPEED TRIP 
HOUSING Nos. 31 473984 19-May-23 45 Surplus

437 16050125 HOSE ASM Nos. 114 220812 18-Jul-22 40 Surplus
438 16050137 HOSE ASM Nos. 5 18400 7-Apr-22 40 Surplus
439 16050149 BRACKET ASM Nos. 717 74590 16-Jul-22 40 Surplus
440 16050150 STRAP ASM Nos. 256 32762 16-Jul-22 40 Surplus
441 16050174 FUEL FILTER ASM Nos. 6 322140 5-Jul-22 49 Surplus

442 16050198 MANIFOLD ASM. FUEL 
LINE Nos. 14 423947 11-Jul-22 45 Surplus

443 16050216 MANIFOLD ASM. FUEL 
LINE Nos. 23 697401 9-Apr-22 45 Surplus

444 16050307 OST COVER ASM Nos. 58 326000 16-Jul-22 40 Surplus

445 16050320 OST SHAFT ASM - RB Nos. 8 29997 11-Jul-22 45 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

446 16050332 OST SHAFT ASM - LB Nos. 6 21778 11-Jul-22 45 Surplus

447 16050344 OVER SPEED TRIP 
ASSEMBLY Nos. 99 350393 7-Apr-22 40 Surplus

448 16050411 BRACKET ASM LEVER 
TOGGLE Nos. 359 176096 18-Oct-21 45 Surplus

449 16050423 GEAR GOV.DRIVE ASM. Nos. 24 893918 20-Dec-19 40 Surplus

450 16050435 STUB SHAFT FORGOV. 
DRIVE ASM Nos. 369 6113063 10-Jun-20 40 Surplus

451 16050460 INJECTOR CONTROL 
SHAFT ASM-LB Nos. 5 131240 11-Jul-22 45 Surplus

452 16050472 INJECTOR CONTROL 
SHAFT ASM- RB Nos. 17 778866 11-Jul-22 45 Surplus

453 16050939 MANIFOLD ASSLY 
FUEL LINE Nos. 9 504450 23-Jun-22 45 Surplus

454 16050940 MANIFOLD ASSLY 
FUEL LINE Nos. 9 504450 23-Jun-22 45 Surplus

455 16060027 LUBE OIL PUMP 
ASSEMBLY Nos. 21 1951081 13-Jul-22 40 Surplus

456 16060090 SCAVENGING LUBE 
OIL PUMP ASSLY Nos. 24 2293236 13-Jul-22 40 Surplus

457 16060155 TUBE ASM Nos. 50 179764 28-Aug-20 40 Surplus
458 16060167 TUBE ASM Nos. 31 181413 2-Dec-22 40 Surplus
459 16060520 BLOCK ELBOW Nos. 680 446696 5-Jul-22 49 Surplus
460 16060593 KIT PAC ITEM Set 410 795345 5-Jul-22 49 Surplus
461 16060611 STRAP ASSEMBLY Nos. 798 384528 21-Oct-22 45 Surplus

462 16070069 WATER MANIFOLD 
ASM-RB Nos. 57 607998 24-Mar-22 45 Surplus

463 16070082 WATER MANIFOLD 
ASM-LB Nos. 38 325061 4-Feb-21 45 Surplus

464 16120139 CYLINDER HEAD 
CASTING Nos. 271 20795183 19-Mar-20 35 Surplus

465 16120176 SUPPORT INJECTOR 
CRAB Nos. 428 29693 2-Feb-21 45 Surplus

466 16120700 ELBOW (PROOF 
MACHINED) Nos. 97 217755 14-Jan-17 49 Surplus

467 16120711 ELBOW Nos. 52 364766 19-May-23 45 Surplus

468 16120929 SUPPORT HOUSING 
ASM Nos. 979 7520822 15-Jul-20 45 Surplus

469 16120991 Y FLANGED Nos. 180 976135 5-Jul-22 49 Surplus
470 16121030 FLANGE Nos. 56 21556 9-Sep-22 40 Surplus
471 16121119 COVER Nos. 349 43505 2-Sep-22 40 Surplus

472 16121326 COUNTER WEIGHT RB 
FRONT Nos. 90 338863 20-May-23 49 Surplus

473 16121405 Cassting Housing 
Turbo Main Nos. 18 2139993 13-Jun-17 35 Surplus

474 16121417 CAST.SUPP.TURBINE 
BRG. Nos. 5 45620 20-Aug-20 35 Surplus

475 16121478 Casting Scroll 
Conpressor Nos. 37 1368179 4-May-17 35 Surplus

476 16121491 Casting Support 
Compressor Nos. 8 285048 4-May-17 35 Surplus

477 16122264 COVER ACCESS. DRIVE 
(PR.MCD) Nos. 15 1386000 28-Jun-21 45 Surplus

478 16130017 SLINGER OIL Nos. 29 36166 2-Sep-22 40 Surplus
479 16130029 CAP ROCKER ARM Nos. 1591 735997 8-Apr-22 40 Surplus
480 16130157 CAM Nos. 928 244736 24-Apr-23 40 Surplus
481 16130297 THRUST COLLOER Nos. 65 544770 23-Jan-21 40 Surplus

482 16140011 RETAINER CYLINDER 
HEAD (FORGING) Nos. 3128 53627391 21-Sep-20 35 Surplus

483 16140060 Forging Main Frame 
Member- Inter Nos. 636 15846033 27-Aug-19 35 Surplus

484 16140072 Forging Main Frame 
Member-End Nos. 188 4391558 27-Aug-19 35 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

485 16140084 FORGING MAIN FRAME 
MEMBER- CENTRE Nos. 204 4438359 28-Feb-19 35

Surplus

486 16140114 BRACKET FORGING 
(OIL MANIFOLD) Nos. 408 84008 19-Jan-21 35 Surplus

487 16140291 CONNECTING ROD 
FORK FORGING Nos. 279 2116009 29-Mar-19 35 Surplus

488 16140370 End Crab Cylinder Head Nos. 364 577714 13-Jul-22 40 Surplus
489 16140539 LEVER TOGGLE Nos. 300 163871 18-Oct-21 45 Surplus
490 16140837 PLATE CAM Nos. 7 394061 3-Aug-18 49 Surplus
491 16140850 BLOCK SUPPORT Nos. 1130 302627 15-Oct-20 35 Surplus

492 16140874 CAP MAIN BEARING 
INTER Nos. 34 358694 27-Apr-19 35 Surplus

493 16140928 CONNECTING ROD 
BLADE FORGING Nos. 424 1904523 9-Apr-19 35 Surplus

494 16140953 Inter Crab Cylinder 
Head Nos. 68 249240 13-Jul-22 40 Surplus

495 16141106 MAIN FRAME MEMBER-
END Nos. 45 1239432 15-Sep-20 35 Surplus

496 16141118 MAIN FRAME MEMBER-
INTER Nos. 110 3197457 15-Sep-20 35 Surplus

497 16141120 MAIN FRAME MEMBER-
CENTER Nos. 53 1354603 21-Jan-20 35 Surplus

498 16141131 MACH. OF RETAINER 
CYL HD FORG. Nos. 4 84154 11-Jan-20 35 Surplus

499 16141143 MACH OF RETAINER 
CYL HD FORG. Nos. 162 3168694 10-Jan-20 35 Surplus

500 16141155 MACH. OF RETAINER 
CYL HD FORG. Nos. 137 2723691 19-Jan-21 35 Surplus

501 16141167 TOP DECK SECTION-
END Nos. 3 322731 18-Dec-19 35 Surplus

502 16141210 GEAR LOWER IDLER Nos. 28 960920 12-Oct-22 40 Surplus

503 16141260 CARRIER PISTON PIN 
FORGING Nos. 378 1274419 17-Jul-15 35 Surplus

504 16141271 COVER AIR BOX Nos. 70 7072168 19-Jan-21 35 Surplus
505 16141283 PLATE CENTRE Nos. 252 469408 11-Feb-20 35 Surplus

506 16141295 FORGING WATER 
OUTLET Nos. 277 555896 19-Jan-21 35 Surplus

507 16141453 BRACKET INDICATOR Nos. 435 257300 3-Sep-22 40 Surplus
508 16141519 WEIGHT-THROWOUT Nos. 16 14751 27-May-23 45 Surplus
509 16141532 PIN-PISTON-ROUGH Nos. 5135 9348856 5-Apr-22 35 Surplus

510 16141568 MAIN BEARING CAP 
FORGING KIT Set 4 215200 5-Nov-14 35 Surplus

511 16141702 ANCHOR SHACKEL 
BASE Nos. 20 172935 27-Jan-21 35 Surplus

512 16141775 CAP CON ROD 
FORGING Nos. 13 280579 16-Mar-18 35 Surplus

513 16141910 GEAR LOWER IDLER 
(FORGING)(PRO Nos. 202 1913993 30-Oct-17 40 Surplus

514 16141957 MB CAP(WITHOUT 
SERRATION) Nos. 68 637731 11-Dec-19 40 Surplus

515 16141969 MB CAP (WITHOUT 
SERRATION) Nos. 122 1181207 11-Dec-19 40 Surplus

516 16141970 MB CAP(WITHOUT 
SERRATION) Nos. 9 94161 11-Dec-19 40 Surplus

517 16141994 Accessory Drive Gear 
Assly Nos. 56 487190 13-Jan-17 40 Surplus

518 16150211 BEARING Nos. 91 2067065 24-Oct-16 49 Surplus
519 16150272 BUSHING 1-1/2 PT Nos. 99 20170 24-Nov-20 40 Surplus
520 16150417 BEARING INNER Nos. 1 6322 2-Apr-22 45 Surplus
521 16160046 GUIDE SPRING Nos. 15 16811 27-May-23 45 Surplus
522 16160060 OIL RETAINER Nos. 59 432925 3-Sep-22 40 Surplus
523 16160150 SPRING Nos. 381 485930 19-May-23 45 Surplus
524 16160289 ANCHOR - SPRING Nos. 347 414711 30-May-22 45 Surplus
525 16170738 SEAL O RING Nos. 26 3520 24-Apr-23 40 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

526 16171020 GASKET Nos. 73 152609 24-Apr-23 40 Surplus
527 16171172 GASKET Nos. 31 5318 19-May-23 45 Surplus
528 16171342 GASKET Nos. 20 10466 4-Feb-21 45 Surplus
529 16180070 PLATE RETAINER Nos. 1386 222230 23-Sep-22 40 Surplus
530 16180290 CLAMP Nos. 920 16938 24-Apr-23 40 Surplus
531 16180306 CLAMP Nos. 334 25302 24-Apr-23 40 Surplus
532 16180318 CLAMP Nos. 517 41727 24-Apr-23 40 Surplus
533 16180410 SHIM 28GA Nos. 1179 29664 24-Apr-23 40 Surplus
534 16190373 CLAMP Nos. 198 41578 23-Sep-22 40 Surplus

535 16190506 COUNTER WT.LB 
FRONT Nos. 9 32430 27-May-23 45 Surplus

536 16190555 COVER PLATE-OST 
HOUSING Nos. 280 168099 23-Sep-22 40 Surplus

537 16191146 PAD TAPPING Nos. 421 15649 21-Oct-22 45 Surplus

538 16191171 EXHAUST ELBOW-
SECTION LOWER Nos. 468 1927207 15-Sep-20 35 Surplus

539 16191304 CLAMP Nos. 689 28293 23-Sep-22 40 Surplus
540 16191742 SUPPORT CORNER Nos. 242 1052906 15-Sep-20 35 Surplus

541 16191808 COVER-OST COVER 
PLATE Nos. 99 5195 23-Sep-22 40 Surplus

542 16191845 BRACKET SUPPORT Nos. 361 86650 23-Sep-22 40 Surplus
543 16191869 COVER SEAL Nos. 279 272671 23-Sep-22 40 Surplus
544 16210130 SPACER Nos. 86 162513 14-Jan-20 35 Surplus
545 16210499 BLOCK - MANIFOLD Nos. 301 381619 5-Jul-22 49 Surplus
546 16230620 SPACER Nos. 58 71881 24-Apr-23 40 Surplus
547 16230632 NIPPLE 3/8 " CLOSE Nos. 58 9108 27-Sep-22 40 Surplus
548 16240017 SHIM OIL SLINGER Nos. 241 105840 27-Sep-22 40 Surplus
549 16240029 SHIM OIL SLINGER Nos. 98 46216 27-Sep-22 40 Surplus
550 16240030 SHIM OIL SLINGER Nos. 48 55750 27-Sep-22 40 Surplus
551 16240182 SEAT SPRING Nos. 881 75290 30-Apr-18 45 Surplus
552 16240297 CLIP Nos. 296 57996 24-Apr-23 40 Surplus
553 16240315 SLINGER OIL Nos. 56 107798 27-Sep-22 40 Surplus
554 16240479 SPACER Nos. 24 8144 27-Sep-22 40 Surplus

555 16240509 CAP-45 DEGREE 
FLARED TUBE Nos. 336 67313 27-Sep-22 40 Surplus

556 16240571 TUBE ASM Nos. 233 453581 27-Sep-22 40 Surplus
557 16240595 TUBE ASM Nos. 310 426660 27-Sep-22 40 Surplus

558 16240765 CONNECTOR 1/2 T - 
1/2 PT Nos. 1900 162514 31-Dec-21 40 Surplus

559 16240911 CONNECTOR-45 
DEGREE FLARE TUBE Nos. 47 43046 18-Oct-21 45 Surplus

560 16241009 ELBOW FITTING Nos. 197 95333 10-Dec-19 40 Surplus

561 16241083 MAIN FRAME MEMBER 
KIT Set 8 1335233 6-Mar-18 35 Surplus

562 16241162 BRACKET ASSEMBLY Nos. 31 256671 13-Jul-22 40 Surplus
563 16241228 VALVE TEMP CONT Nos. 10 101294 19-May-23 45 Surplus
564 16241290 VENT ASM Nos. 57 203378 22-Sep-22 40 Surplus
565 16241319 CLIP TUBE Nos. 1215 81546 24-Apr-23 40 Surplus
566 16241320 SUPPORT CLAMP Nos. 400 239934 22-Sep-22 40 Surplus
567 16241344 VALVE - RELIEF Nos. 43 613009 11-Nov-22 49 Surplus
568 16241368 CLIP TUBE Nos. 971 70309 22-Sep-22 40 Surplus
569 16241370 CLAMP INS 3/4 Nos. 66 6161 24-Apr-23 40 Surplus
570 16241411 HOSE ASSEMBLY Nos. 54 35046 21-Oct-22 45 Surplus
571 16241423 HOSE ASSEMBLY. Nos. 54 43967 21-Oct-22 45 Surplus
572 16241538 Connector Nos. 401 50044 21-Oct-22 45 Surplus
573 16250047 NAMEPLATE Nos. 58 19945 25-Feb-21 40 Surplus
574 16360023 Detector Asm Nos. 15 1284347 2-Dec-22 49 Surplus
575 16360096 TUBE ASM Nos. 52 9026 24-Apr-23 40 Surplus
576 16360114 TUBE ASM Nos. 25 7149 22-Sep-22 40 Surplus
577 16360126 TUBE ASM Nos. 180 60491 22-Sep-22 40 Surplus
578 16360140 HOSE ASSEMBLY Nos. 31 69136 2-Dec-22 40 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

579 16360187 TUBE ASM Nos. 58 12192 24-Apr-23 40 Surplus
580 17010032 TUBE ASM Nos. 1 649 26-Mar-10 41 Surplus
581 17020050 BRACKET ASM Nos. 259 117148 17-Dec-15 48 Surplus
582 17020074 SHEAVE ASM Nos. 699 378784 9-Jan-20 48 Surplus
583 17020098 BRACKET ASM Nos. 264 196848 12-Jan-19 48 Surplus
584 17020116 BRACKET ASM. Nos. 523 136535 11-Jan-19 48 Surplus
585 17020130 BRACKET ASM. Nos. 33 14860 24-May-19 48 Surplus
586 17020141 BRACKET ASM Nos. 2 675 21-Aug-18 37 Surplus

587 17021121 RUBBER SPRING ASM A Nos. 77 1172185 31-Aug-19 37 Surplus

588 17021133 RUBBER SPRING ASM B Nos. 86 1294176 31-Aug-19 37 Surplus

589 17021170 BEARING ADAPTER 
ASM Set 36 3161735 15-Jul-22 56 Surplus

590 17021420 CAR BODY ROD ASM Nos. 4 41038 5-Jul-21 37 Surplus
591 17021637 TRACTION ROD ASM Nos. 30 1918000 10-Oct-20 37 Surplus

592 17021650 BEARING ADAPTER 
ASM WELD- LT Nos. 5 444378 9-Dec-20 37 Surplus

593 17021868 CAR BODY ROD ASM Nos. 15 911874 18-Oct-19 37 Surplus
594 17021870 GEAR CASE UPPER Nos. 6 301491 20-Jul-18 37 Surplus
595 17022046 Stud plate ASM Nos. 198 296936 16-Jan-18 37 Surplus
596 17022060 Pipe ASM Nos. 113 135293 19-Oct-19 41 Surplus
597 17022071 Pipe ASM Nos. 94 85034 19-Oct-19 41 Surplus
598 17022083 Pipe ASM Nos. 112 115510 19-Oct-19 41 Surplus
599 17022095 Pipe ASM Nos. 102 138854 19-Oct-19 41 Surplus
600 17022101 Pipe ASM Nos. 91 36666 19-Oct-19 41 Surplus
601 17022113 Pipe ASM Nos. 49 46403 26-Oct-19 41 Surplus
602 17022125 Pipe ASM Nos. 64 43245 19-Oct-19 41 Surplus
603 17022137 Pipe ASM Nos. 44 28393 19-Oct-19 41 Surplus
604 17022150 Pipe ASM Nos. 102 76871 19-Oct-19 51 Surplus
605 17022162 Pipe ASM Nos. 94 64646 19-Oct-19 41 Surplus
606 17022174 Pipe ASM Nos. 94 16483 19-Oct-19 41 Surplus
607 17022186 Pipe ASM Nos. 102 80899 19-Oct-19 41 Surplus
608 17022198 Pipe ASM Nos. 94 44583 19-Oct-19 41 Surplus
609 17022204 Pipe ASM Nos. 42 43888 19-Oct-19 41 Surplus

610 17022228 SANDER GUIDE ASM-
RH Nos. 14 19720 17-Oct-19 37 Surplus

611 17022230 SANDER GUIDE ASM-LH Nos. 36 52307 17-Oct-19 37 Surplus

612 17022241 SANDER GUIDE ASM-
RH Nos. 52 96353 17-Oct-19 37 Surplus

613 17022253 SANDER GUIDE ASM-LH Nos. 52 93302 17-Oct-19 37 Surplus
614 17022332 STEP ASM Nos. 44 113407 30-Nov-19 51 Surplus

615 17030171 GR.POCKET 
STRUCTURE ASM. Nos. 16 931612 8-Oct-11 37 Surplus

616 17030377 SAND BOX ASM. Nos. 8 23829 19-Nov-19 37 Surplus
617 17030420 SAND BOX ASM. Nos. 33 98183 19-Nov-19 37 Surplus

618 17031667 KIT FOR UNDERFRAME 
ASM WDG4 Nos. 3 5638800 21-Dec-20 37

Surplus
619 17032027 U/F HARDWARE KIT Set 14 17836 28-Mar-15 57 Surplus
620 17032544 SAND BOX ASM Nos. 8 11256 13-Sep-19 37 Surplus
621 17032570 BATTERY BOX ASM Nos. 8 210012 22-Feb-19 37 Surplus
622 17032684 TUBE ASM Nos. 418 169240 4-Sep-19 49 Surplus
623 17034838 SHIELD ASM KIT Set 273 2449845 13-Apr-19 47 Surplus

624 17035661 FUEL TANK 
ASSLY.7500 LTR Nos. 8 2060266 20-Jul-18 39 Surplus

625 17035740 KIT FOR HAND RAIL Nos. 12 674700 30-Jul-20 47 Surplus

626 17035764 BATTERY BOX APL 
WDG5 Nos. 2 190000 18-Jul-19 39 Surplus

627 17035818 SHILD APL WDG5 Nos. 13 185188 28-Dec-17 47 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

628 17035909 CATTLE GUARD ASM. Nos. 5 121213 16-Jul-19 39 Surplus
629 17040206 GRILL ASM. Nos. 128 599601 9-Jan-15 37 Surplus
630 17040528 SCREEN ASM. Nos. 17 114750 7-Sep-17 37 Surplus
631 17041132 BOLT ASM Nos. 8205 70666 31-Jan-18 57 Surplus
632 17042471 TUBE ASM Nos. 20 4860 30-Jul-15 60 Surplus
633 17043049 DOOR STOP ASM Nos. 20 39285 3-Dec-18 47 Surplus
634 17043530 SHEET ASM Nos. 54 59242 15-Sep-09 37 Surplus
635 17043542 CHANNEL ASM Nos. 1742 278996 8-Apr-16 37 Surplus

636 17044637 GUARD ASSMBLY (RH) Nos. 296 234816 17-Aug-20 47 Surplus

637 17044649 GUARD ASSEMBLY (LH) Nos. 399 315651 17-Aug-20 47 Surplus
638 17046270 FRAME ASM Nos. 356 221910 8-Apr-16 37 Surplus
639 17046282 FRAME ASM Nos. 330 220737 8-Apr-16 37 Surplus

640 17046683 CAB STRUCTURE 
ASSEMBLY Nos. 5 1581390 15-Dec-17 39 Surplus

641 17047602 DOOR FRAME ASM Nos. 66 261745 23-Jul-20 37 Surplus
642 17047614 DOOR FRAME ASM Nos. 13 30030 23-Jul-20 37 Surplus
643 17048199 DOOR ASSEMBLY Nos. 32 470400 23-Jul-20 37 Surplus
644 17048205 DOOR ASSEMBLY Nos. 32 470400 23-Jul-20 37 Surplus

645 17048849 LONG HOOD 
STRUCTURE ASSEMBLY Nos. 2 2338847 12-Apr-18 39

Surplus

646 17049040 WATER TANK 
ASSEMBLY Nos. 2 68540 12-Jan-18 47 Surplus

647 17049090 INTERTIAL 
FILTRATION APL. Nos. 17 2970933 15-Jan-18 37 Surplus

648 17049180 FLOOR MAT KIT 
(WDG5) Nos. 20 370000 19-Jan-18 37 Surplus

649 17049295 TOILET EQUIPPED Nos. 3 505064 23-Jul-20 37 Surplus
650 17050716 TUBE ASM Nos. 12 45930 24-Sep-13 41 Surplus
651 17050870 TUBE ASM Nos. 30 25031 23-Nov-20 41 Surplus
652 17051009 SHIELD ASM. Nos. 9 3045 18-Apr-22 37 Surplus
653 17051204 SHEET ASM Nos. 526 614569 18-Mar-11 37 Surplus

654 17060412 PIPE ASM FOR FP 
CAB1 END Nos. 131 307480 31-May-22 41 Surplus

655 17060436 PIPE ASM FOR FP RAD 
END Nos. 113 170745 30-May-22 41 Surplus

656 17060448 PIPE ASM FOR FP RAD 
END Nos. 89 734898 31-May-22 49 Surplus

657 17060485 PIPE ASM Nos. 2 18018 30-May-22 41 Surplus
658 17060552 PIPE ASM Nos. 2 14063 30-May-22 41 Surplus
659 17060588 PIPE ASM Nos. 434 288254 7-Oct-16 49 Surplus

660 17060620 PIPE ASM FOR BC EP 
CAB1 END Nos. 100 150966 30-May-22 41 Surplus

661 17060631 PIPE ASM Nos. 461 335520 8-Oct-16 49 Surplus
662 17060643 PIPE ASM Nos. 64 507120 17-Aug-16 41 Surplus

663 17060655 PIPE ASM FOR AUX 
AIR FILTER Nos. 34 239939 30-May-22 41 Surplus

664 17060710 PIPE ASM FOR MR-2 
OUT Nos. 2 15103 30-May-22 41 Surplus

665 17060904 CLMP ASM Nos. 483 25012 15-Mar-19 48 Surplus
666 17060916 CLAMP ASM Nos. 2227 81117 29-Mar-19 48 Surplus
667 17061027 PIPE ASM Nos. 339 531039 30-Jun-14 41 Surplus
668 17061039 PIPE ASM Nos. 72 192628 30-May-22 41 Surplus
669 17061040 PIPE ASM Nos. 136 279458 30-May-22 41 Surplus
670 17061088 PIPE ASM Nos. 202 137478 23-Nov-18 48 Surplus
671 17061120 PIPE ASM Nos. 2 21364 30-May-22 41 Surplus
672 17061131 PIPE ASM Nos. 67 194668 2-Jan-17 40 Surplus

673 17061143 PIPE ASM FOR BP CAB 
END Nos. 2 3987 30-May-22 41 Surplus

674 17061260 PIPE ASM Nos. 56 360785 13-Mar-19 41 Surplus
675 17061283 PIPE ASM Nos. 2 11959 30-May-22 40 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

676 17062469 HOSE ASM Nos. 294 103891 10-Aug-17 47 Surplus
677 17062550 TUBE ASSY. Nos. 13 9810 20-Nov-14 60 Surplus

678 17062767 PIPE ASM FOR BC CAB 
END Nos. 31 48679 30-May-22 41 Surplus

679 17062780 PIPE ASM FOR MR-IN 
(AUX AIR) Nos. 2 3872 1-Jun-22 49 Surplus

680 17062895 PIPE ASM FOR MR-1 IN Nos. 408 166056 30-May-22 41 Surplus
681 17063036 TUBE ASM. Nos. 715 177506 22-Jul-15 60 Surplus
682 17063048 TUBE ASM. Nos. 482 138262 27-Dec-16 60 Surplus

683 17063097 PIPE ASM FOR INTO MR Nos. 250 184491 31-May-22 48 Surplus
684 17063176 CLAMP ASM Nos. 3 21240 23-Feb-16 47 Surplus

685 17063425 PIPE ASM FOR AUX 
AIR TO MR EP Nos. 489 299106 30-May-22 41 Surplus

686 17063784 PIPE ASM FOR BC EP 
CAB END LS Nos. 187 203077 20-Mar-19 49 Surplus

687 17063802 PIPE ASM FOR BC EP 
CAB END RS Nos. 189 201486 20-Mar-19 49 Surplus

688 17063851 PIPE ASM FOR MR EP 
RAD END LS Nos. 63 528788 16-Mar-19 41 Surplus

689 17063875 PIPE ASM FOR BC EP 
RAD END LS Nos. 92 680483 25-Mar-19 41 Surplus

690 17063954 TUBE ASM Nos. 1 826 30-Nov-15 41 Surplus

691 17063978 PIPE ASM FOR MR-2 
TO FILTER Nos. 288 1883423 15-Apr-19 40 Surplus

692 17064028 TUBE ASM Nos. 60 16714 3-Sep-19 41 Surplus
693 17064041 PIPE ASM Nos. 90 982476 23-Apr-14 41 Surplus
694 17064235 TUBE ASM Nos. 48 16477 8-Nov-16 60 Surplus
695 17064569 PIPE ASM FOR MR EP Nos. 81 106478 30-May-22 41 Surplus
696 17064582 PIPE ASM Nos. 2 22028 30-May-22 41 Surplus
697 17064600 PIPE ASM FOR MR EP Nos. 42 38292 31-May-22 49 Surplus
698 17064764 PIPE ASM Nos. 263 147155 3-Jun-22 41 Surplus
699 17065021 TUBE ASM Nos. 944 131364 18-Jul-19 60 Surplus
700 17065033 TUBE ASM Nos. 250 36134 18-Jul-19 60 Surplus
701 17065069 TUBE ASM FOR BP Nos. 29 9821 8-Nov-16 60 Surplus
702 17065082 PIPE ASM Nos. 396 229025 5-Jul-18 49 Surplus

703 17065197 TUBE ASM FOR WIPER Nos. 102 20433 28-Dec-18 60 Surplus
704 17065318 PIPE ASM Nos. 443 706618 11-Apr-19 41 Surplus

705 17065367 PIPE ASM FOR 
AFTERCOOLER Nos. 424 579310 27-Mar-19 41 Surplus

706 17065392 PIPE ASM Nos. 193 464892 11-Apr-19 41 Surplus

707 17066384 PIPE ASM FOR BP 
EMERG BRK RAD Nos. 158 205228 2-May-19 49 Surplus

708 17066487 PIPE ASM Nos. 299 522442 25-Mar-19 41 Surplus
709 17066785 Pipe Asm Nos. 17 117329 20-Feb-17 60 Surplus
710 17067480 PIPE ASM. Nos. 73 669243 19-May-22 49 Surplus
711 17067583 Pipe Asm Nos. 24 280960 2-Jan-17 40 Surplus
712 17067595 Pipe Asm Nos. 26 46485 2-Jan-17 40 Surplus
713 17067649 FLANGE ASM Nos. 57 169626 12-Jul-18 59 Surplus
714 17067650 FLANGE ASM Nos. 44 99272 12-Jan-18 59 Surplus
715 17067698 Pipe Asm Nos. 8 15751 2-Jan-17 40 Surplus
716 17068046 AIR STRAINER ASM Nos. 25 78553 8-Jan-20 37 Surplus
717 17068769 TUBE ASM Nos. 27 5074 19-Jan-18 60 Surplus
718 17069051 Pipe Asm Nos. 143 105106 21-Oct-16 49 Surplus

719 17069695 PIPE ASM FOR AIR 
DRYER OUT Nos. 97 438626 19-Mar-19 41 Surplus

720 17069853 PIPE ASM Nos. 346 276896 16-Mar-16 41 Surplus

721 17070454 PIPE ASM FOR MR TO 
FILTER Nos. 20 118727 21-May-19 40 Surplus

722 17070880 TUBE ASM Nos. 55 10855 31-Jul-19 56 Surplus
723 17070892 TUBE ASM Nos. 55 12746 31-Jul-19 56 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

724 17070909 TUBE ASM Nos. 60 13602 31-Jul-19 56 Surplus
725 17070910 Tube Asm Nos. 56 14218 31-Jul-19 56 Surplus

726 17070946 TUBE ASM FOR FEED 
GAUGE Nos. 152 36132 7-Aug-19 56 Surplus

727 17070958 PIPE ASM FOR BC RAD 
END Nos. 80 78391 12-Apr-19 49 Surplus

728 17071069 TUBE ASM Nos. 43 11799 3-Aug-19 56 Surplus
729 17071070 TUBE ASM Nos. 65 16033 31-Jul-19 56 Surplus
730 17071082 TUBE ASM Nos. 31 8872 31-Jul-19 56 Surplus
731 17071094 TUBE ASM Nos. 40 9962 3-Aug-19 56 Surplus
732 17071100 TUBE ASM Nos. 55 13911 31-Jul-19 56 Surplus
733 17071112 TUBE ASM Nos. 307 72481 31-Jul-19 56 Surplus
734 17071124 TUBE ASM Nos. 58 14432 31-Jul-19 56 Surplus
735 17071136 TUBE ASM Nos. 55 13496 31-Jul-19 56 Surplus
736 17071458 Tube Asm Nos. 2 4719 8-Jan-16 41 Surplus

737 17071483 PIPE ASM BC BQ 
CROSS PIPE CAB Nos. 176 108489 15-Mar-19 49 Surplus

738 17071513 TUBE ASM FOR RADAR Nos. 10 3512 20-Jul-19 41 Surplus

739 17071537 PIPE ASM FOR BP TO 
CCB2 Nos. 233 182218 11-Mar-19 49 Surplus

740 17071550 PIPE ASM FOR BP FOR 
CAB END Nos. 161 269350 12-Apr-19 49 Surplus

741 17071562 PIPE ASM FOR BP 821 
VENT VALVE Nos. 150 175991 12-Apr-19 49 Surplus

742 17071586 PIPE ASM FOR EMER 
BRK CAB END Nos. 458 495794 2-May-19 49 Surplus

743 17071604 PIPE ASM FOR BP 
EMER BRK CAB Nos. 84 90280 2-May-19 49 Surplus

744 17071628 PIPE ASM FOR EMER 
BRK CAB END Nos. 86 73087 2-May-19 49 Surplus

745 17071641 PIPE ASM FOR BC TO 
CCB2 Nos. 13 8592 11-Mar-19 49 Surplus

746 17071653 PIPE ASM FOR BC 
CROSS PIPE CAB Nos. 174 77573 11-Mar-19 49 Surplus

747 17071677 PIPE ASM FOR MR TO 
CCB Nos. 169 1094163 11-Mar-19 40 Surplus

748 17071707 PIPE ASM FOR BP CAB 
END Nos. 187 207833 9-Apr-19 48 Surplus

749 17072682 TUBE ASM Nos. 100 19237 18-Sep-19 60 Surplus
750 17072694 TUBE ASM Nos. 150 23972 18-Sep-19 60 Surplus
751 17072700 TUBE ASM Nos. 72 18442 18-Sep-19 60 Surplus
752 17072712 TUBE ASM Nos. 117 28354 18-Sep-19 60 Surplus
753 17072736 TUBE ASM Nos. 162 30086 25-Apr-19 60 Surplus
754 17072748 TUBE ASM Nos. 162 29832 25-Apr-19 60 Surplus
755 17072750 TUBE ASM Nos. 80 23688 25-Apr-19 60 Surplus
756 17072761 TUBE ASM Nos. 69 19445 25-Apr-19 60 Surplus

757 17073170 PIPE ASM FOR FEED 
VALVE IN Nos. 43 415269 12-Apr-19 49 Surplus

758 17073200 TUBE ASM FOR FEED 
GAUGE Nos. 114 32865 12-Oct-19 41 Surplus

759 17075762 CLAMP FOR 3" Nos. 120 42588 17-Oct-19 47 Surplus
760 17083151 RETAINER Nos. 732 6160 8-Jan-20 37 Surplus
761 17083278 CHAIN GUIDE Nos. 444 435971 11-Jan-19 48 Surplus
762 17083382 BAR Nos. 24 41347 15-Sep-06 37 Surplus
763 17083620 PLATE Nos. 12 6596 11-Apr-11 47 Surplus
764 17083898 CHANNEL Nos. 2069 168955 13-Jan-21 48 Surplus
765 17083904 CHANNEL Nos. 1203 94974 11-Jan-19 48 Surplus
766 17084039 BAR Nos. 3391 478366 5-Sep-19 47 Surplus
767 17084088 BRACKET ASM Nos. 375 96995 19-Jan-18 47 Surplus
768 17084301 COLLAR Nos. 120 101364 12-Jul-21 48 Surplus
769 17085044 PLATE Nos. 3 5947 24-Jun-19 47 Surplus
770 17085070 PLATE Nos. 24 17306 17-Jun-09 37 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

771 17085342 SHIM - 5/8 THICK Nos. 890 964483 12-Jan-17 37 Surplus
772 17085378 SHIM - 3/8THICK Nos. 1024 152301 12-Jan-17 37 Surplus
773 17085380 SHIM - 5/8 THICK Nos. 2419 429439 17-Jan-17 47 Surplus
774 17085482 PAD Nos. 22 2610 8-Aug-12 47 Surplus
775 17085913 CHANNEL Nos. 1339 474589 10-Apr-19 48 Surplus
776 17086061 BAR Nos. 295 5086 26-Feb-21 47 Surplus
777 17086474 PAD Nos. 3795 62807 30-Nov-16 48 Surplus
778 17086541 PAD TAPPING Nos. 457 365527 8-Apr-16 37 Surplus
779 17086670 TUBE Nos. 814 475642 12-Apr-11 41 Surplus
780 17086796 GUSSET Nos. 4 708 23-Jul-12 47 Surplus
781 17087892 PAD Nos. 371 7421 6-Dec-18 48 Surplus
782 17100070 BAR Nos. 460 11714 26-Feb-21 47 Surplus
783 17100136 PAD Nos. 36 17527 28-Jan-21 47 Surplus
784 17100185 LINK Nos. 375 219522 16-Nov-19 37 Surplus
785 17121553 BOX-CAB LIGHT Nos. 890 371557 8-Apr-16 37 Surplus
786 17124190 ANGLE Nos. 36 16142 1-Dec-15 37 Surplus
787 17124440 SHEET Nos. 542 112064 20-Feb-14 47 Surplus
788 17124610 CHANNEL Nos. 108 9965 16-Oct-12 47 Surplus
789 17125121 FLASHING Nos. 4 538 8-Feb-12 47 Surplus
790 17125133 FLASHING Nos. 4 661 8-Feb-12 47 Surplus
791 17125157 FLASHING Nos. 4 1180 8-Feb-12 47 Surplus
792 17125169 FLASHING Nos. 4 991 8-Feb-12 47 Surplus
793 17125170 FLASHING Nos. 8 1850 25-Oct-17 37 Surplus
794 17125182 FLASHING Nos. 4 821 8-Feb-12 47 Surplus
795 17125194 FLASHING Nos. 2 566 8-Feb-12 47 Surplus
796 17125200 FLASHING Nos. 2 330 8-Feb-12 47 Surplus
797 17125212 FLASHING Nos. 2 378 8-Feb-12 47 Surplus
798 17125893 SHEET-TRIM Nos. 1932 704928 26-Feb-21 47 Surplus
799 17126101 SHEET Nos. 2 6136 3-Feb-15 37 Surplus
800 17126447 PAD Nos. 6 335 28-May-12 47 Surplus
801 17126678 CLIP Nos. 20 9440 7-Jun-18 47 Surplus
802 17126824 STRIP Nos. 769 121121 9-Dec-10 37 Surplus
803 17128160 SHEET Nos. 36 34900 17-Oct-05 37 Surplus
804 17128171 SHEET Nos. 12 4956 11-Oct-12 47 Surplus
805 17128249 ANGLE TRIM Nos. 19 27573 17-Jan-18 47 Surplus
806 17128894 SHEET Nos. 1 1180 11-Apr-19 37 Surplus
807 17140213 COLLAR-1" Nos. 81 7304 14-Jul-21 48 Surplus
808 17141280 SHIM Nos. 1060 191054 25-Mar-19 48 Surplus
809 17142453 PERFORATED SHEET Nos. 270 503146 22-Jul-19 37 Surplus
810 17160583 PIN Nos. 2719 806261 9-Jan-20 57 Surplus
811 17160637 ROD Nos. 4 1850 19-Dec-12 47 Surplus
812 17161708 CHAIN Nos. 275 126183 26-Jun-20 47 Surplus
813 17161710 PIN-CLEVIS 40132496 Nos. 1175 38735 18-Oct-19 57 Surplus
814 17161721 BUSHINF-FLANGE Nos. 121 248326 18-Oct-19 37 Surplus
815 17161733 BUSHING-FLANGE Nos. 124 109709 18-Oct-19 37 Surplus
816 17171386 Pad Spring Nos. 466 264454 19-Oct-19 37 Surplus
817 17171416 Shim 6.5 mm Thick Nos. 28 29306 19-Oct-19 37 Surplus
818 17201354 PIPE-1" Nos. 118 211660 30-May-22 41 Surplus
819 17201366 PIPE Nos. 200 390102 30-May-22 41 Surplus
820 17201421 PIPE 1 Nos. 203 136313 27-Mar-19 41 Surplus
821 17201433 PIPE-1/2 Nos. 907 373559 16-Mar-16 41 Surplus
822 17201457 NIPPLE - 1 1/4 - 12 Nos. 2 472 11-Apr-19 37 Surplus
823 17201469 NIPPLE-1 1/4 - 6 Nos. 408 36342 3-Jun-22 37 Surplus
824 17201470 NIPPLE Nos. 829 61222 26-Mar-19 48 Surplus
825 17201512 PIPE-1 Nos. 14 119648 30-May-22 40 Surplus
826 17201822 PIPE-1 1/4 Nos. 320 294231 16-Mar-16 41 Surplus
827 17202620 NIPPLE-3/8-SHORT Nos. 294 11825 18-Oct-19 47 Surplus
828 17202991 PIPE-3 Nos. 20 70254 22-Jul-19 40 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

829 17203107 NIPPLE-1-3 Nos. 365 20827 24-Nov-20 47 Surplus
830 17203491 PIPE- 1/2 Nos. 475 104391 4-Nov-16 41 Surplus
831 17204458 PIPE - 3/4 Nos. 194 107369 16-Mar-19 41 Surplus
832 17204495 PIPE1 Nos. 116 1169819 15-Apr-19 40 Surplus
833 17206704 BEND PIPE Nos. 188 156581 11-Apr-19 41 Surplus
834 17207990 PIPE - 3" Nos. 278 849721 13-Apr-19 41 Surplus
835 17208324 BEND PIPE Nos. 105 57557 12-Jul-19 49 Surplus
836 17209020 Bend Pipe Nos. 19 231587 31-Dec-16 40 Surplus
837 17209031 Bend Pipe Nos. 43 336703 2-Jan-17 40 Surplus
838 17209869 Bend Pipe Nos. 20 56749 2-Jan-17 40 Surplus
839 17213848 TUBE-NOSE LINK Nos. 804 75204 8-Jan-20 41 Surplus
840 17214452 Bend Pipe Nos. 103 538271 18-Feb-17 40 Surplus

841 17216540 BEND PIPE FOR MR-2 
CU Nos. 196 965815 11-Mar-19 40 Surplus

842 17220014 PIPE-1 COPPER Nos. 294 1385322 17-Feb-17 40 Surplus
843 17230019 AXLE ROUGH Nos. 8 772148 26-Nov-22 39 Surplus

844 17230251 WHEEL MONOBLOC 
ROLLED Nos. 3 300254 7-Apr-23 39 Surplus

845 17230330 ROUGH TURNED AXLE Nos. 41 3690000 17-Aug-19 39 Surplus

846 17250020 PIVOT PIN MACHINED 
(FINISHED) Nos. 16 595704 22-Jun-19 37

Surplus
847 17250043 BALLAST Nos. 30 284377 3-Oct-18 37 Surplus
848 17250055 BALLAST Nos. 132 1549624 3-Oct-18 37 Surplus

849 17250845 Bearing Adaptor 
Retainer Mach. Nos. 42 1918023 10-Oct-20 37 Surplus

850 17250857 FLANGE-BOTTOM Nos. 36 11232 10-Oct-20 59 Surplus

851 17250894 Housing Bearing 
Machined Nos. 5 840016 3-Jan-18 37 Surplus

852 17270017 RUBBER SEAL MTR 1271 101685 18-May-18 47 Surplus
853 17270303 GASKET Nos. 44 14962 12-Jul-18 47 Surplus
854 17270376 INSULATION Nos. 191 100735 23-Oct-15 60 Surplus
855 17270388 INSULATION Nos. 233 95947 24-Dec-13 60 Surplus
856 17270390 INSULATION Nos. 644 281479 11-Dec-14 60 Surplus
857 17270406 INSULATION Nos. 215 87925 11-Dec-14 60 Surplus
858 17270480 RUBBER STRIP MTR 434 26930 13-Aug-16 48 Surplus
859 17270560 INSULATION Nos. 839 292893 23-Jan-14 60 Surplus
860 17271071 SEAL O-RING Nos. 1361 151764 14-Nov-22 37 Surplus
861 17271228 DUCT 6" - ID Nos. 74 595571 14-Nov-19 47 Surplus

862 17271630 PIPE SEALANT-TEFLON 20?? 224.101 54421 15-Jan-18 41 Surplus

863 17271915 COMPOUND-THREAD 
R/C SN. 2543 Nos. 40 356024 5-Apr-18 37 Surplus

864 17271952 INSULATION Nos. 6252 136441 23-Mar-12 60 Surplus
865 17272580 INSULATION Nos. 171 60317 11-Dec-14 60 Surplus
866 17272968 Lateral Thrust Pad Nos. 44 21001 18-Oct-19 37 Surplus
867 17273158 SEAL GEAR OUTER Nos. 69 668721 8-Jan-20 37 Surplus
868 17273183 Duct Seal FT 13.2 5847 13-Jan-18 59 Surplus

869 17273328 SEAL GEAR INNER MOD Nos. 69 682948 8-Jan-20 37 Surplus
870 17280023 COUPLING 1" PT Nos. 1987 155717 8-Apr-16 37 Surplus
871 17280140 ELBOW - 1/2T Nos. 1120 119700 20-Jul-18 37 Surplus
872 17280242 CPLNG-1 1/4 PT Nos. 746 139358 30-Aug-19 37 Surplus
873 17280370 ELBOW-1W-90 DEG. Nos. 272 59009 30-Aug-19 37 Surplus

874 17280722 ELBOW-1/2" T - 1/2" PT Nos. 397 46818 14-Oct-19 54 Surplus

875 17280760
TEE 45 DEGREE 
FLARED TUBE THREE 
WAY

Nos. 22 6838 22-Sep-22 40
Surplus

876 17280862 TEE 1/2T-3/8PT-1/2T Nos. 55 5515 20-Jan-18 60 Surplus

877 17281120 CONNECTOR -45 
Deg.FLARED TUBE Nos. 106 4753 9-Sep-22 40 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

878 17281246 UNION-5/8 Nos. 723 27063 24-Nov-20 60 Surplus
879 17281398 ELBOW 5/8"T-3/4"PT Nos. 3 17700 14-Jun-21 54 Surplus
880 17281593 ELBOW-1/4"PT Nos. 13 38660 27-Sep-18 47 Surplus
881 17281763 ELBOW IS Nos. 245 161092 27-Mar-19 37 Surplus
882 17282020 TEE-REDUCING PIPE Nos. 92 18968 22-Sep-22 40 Surplus
883 17282032 TEE 3/8T-1/4T-1/4T Nos. 19 9794 22-Sep-22 40 Surplus
884 17282044 RETAINER OIL SEAL Nos. 299 70420 24-Apr-23 40 Surplus

885 17282093 ELBOW IS (BRONZE 
PIPE FITTING) Nos. 25 7714 31-Dec-16 40 Surplus

886 17282147 NIPPLE - 1 1/4 - 9 Nos. 621 40949 12-Dec-19 48 Surplus
887 17282330 CONN 1/2"T 3/4"PT Nos. 54 13798 23-Jul-18 59 Surplus

888 17282342 MALE CONN 1"FS-
3/4"PT Nos. 124 84630 21-Jul-18 59 Surplus

889 17282354 CONN 1FS-1 1/4PT Nos. 39 241073 23-Jul-14 59 Surplus
890 17282380 TEE 1FS Nos. 7 29172 21-Jul-18 59 Surplus
891 17282410 ELBOW 1 1/2 W Nos. 171 66573 13-Nov-17 59 Surplus
892 17282433 INSERT 2"FL-1 1/2"W Nos. 45 25924 23-Jul-18 59 Surplus
893 17282561 ELBOW 3/8T-1/8PT Nos. 19 2558 31-Oct-17 59 Surplus
894 17282846 CONN 3/8T - 1/2PT Nos. 213 25574 19-Jul-19 56 Surplus

895 17290016 UNION-45 degree 
FLARED TUBE Nos. 638 109098 24-Jul-19 60 Surplus

896 17290028 UNION-1 1/4" PT Nos. 2 906 12-Mar-19 48 Surplus

897 17290144 ELBOW-45 DEGREE-
3/8PT X 3/8PT Nos. 2 4661 12-Apr-12 47 Surplus

898 17300162 PLUG Nos. 291 30559 18-Aug-22 45 Surplus
899 17314306 PLATE CALIBRATION Nos. 405 118739 30-Jul-19 47 Surplus
900 17320306 ELBOW-1/2T-1/4 PT Nos. 998 190558 1-Sep-20 54 Surplus
901 17320318 CONN. 1/2T-3/8FPT Nos. 2272 139887 9-Sep-20 60 Surplus
902 17320320 ELBOW-1/2T-3/8 PT Nos. 1964 304917 24-Apr-23 40 Surplus
903 17320331 CONN-1/2T X 1/4PT Nos. 1554 208245 19-May-23 45 Surplus

904 17320598 ELBOW-1/2 T-1/2 FPT Nos. 375 38443 14-Jul-18 54 Surplus
905 17320793 ELBOW ASM 5/8 HYD Nos. 43 30048 24-Apr-23 40 Surplus
906 17320940 Hose ASM Nos. 1 388 18-Oct-19 37 Surplus
907 17320951 Hose ASM Nos. 10 6218 18-Oct-19 37 Surplus

908 17320975 Conn 7/8"T-1/2" BSPT Nos. 156 14616 18-Oct-19 37 Surplus

909 17320987 Conn 9/16"T-1/4" BSPT Nos. 82 6518 18-Oct-19 37 Surplus
910 17320999 Conn 7/8"T-1/2" PT Nos. 251 25014 18-Oct-19 37 Surplus

911 17321001 Conn 9/16"T-3/8" NPT Nos. 77 6768 18-Oct-19 37 Surplus
912 17340081 N/PLT ISTRUCTION Nos. 83 102818 11-Apr-19 37 Surplus

913 17340159 NAME PLATE - 
CALIBRATION Nos. 964 59015 30-Oct-19 47 Surplus

914 17340457 TUBE CLAMP Nos. 6 6726 23-Feb-16 47 Surplus
915 17340469 CLAMP ASM Nos. 3 21240 23-Feb-16 47 Surplus
916 17340755 CLAMP Nos. 613 18763 19-Jul-19 47 Surplus

917 17340810 DECAL ENG WTR DRN 
INS Nos. 1 123 15-Nov-18 37 Surplus

918 17340883 DECAL CLASS NO. 6 
INCH Nos. 138 100295 20-Apr-18 37 Surplus

919 17340986 TUBE CLAMP Nos. 3 21240 28-Aug-10 41 Surplus
920 17341188 DECAL HINDI LTRBD Nos. 165 1141673 12-Mar-19 37 Surplus

921 17341334 N/PLT - HIGH VOLTAGE Nos. 2471 165156 11-Apr-19 37 Surplus

922 17341395 N/PLT - INSTRUCTION Nos. 159 157431 11-Apr-19 37 Surplus
923 17341449 DECAL-OIL FILL Nos. 1819 783081 15-Jan-18 37 Surplus
924 17341450 CLAMP ASM. Nos. 217 25250 15-Mar-19 48 Surplus
925 17341632 CLAMP ASM Nos. 534 30937 31-Jan-19 48 Surplus
926 17341668 CLAMP ASM Nos. 3 4425 30-Nov-06 37 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

927 17341978 HOSE HOLDER Nos. 12 13800 21-Mar-16 47 Surplus

928 17342260 DECAL CLASS No. 6 
INCH Nos. 357 172696 14-Jan-19 37 Surplus

929 17342600 DECAL CLASS 6 INCH 
HINDI Nos. 228 116871 18-Dec-18 37 Surplus

930 17342648 DECAL CLASS 6 INCH 
HINDI Nos. 216 114696 18-Feb-19 37 Surplus

931 17420040 LOCK BOLT 1-3/8" Nos. 4 6663 12-Jul-21 57 Surplus
932 17420076 LOCK BOLT 1" Nos. 34 54408 12-Jul-21 48 Surplus
933 17450093 TUBING NEOPRENE Nos. 1201 255338 17-Dec-14 37 Surplus
934 17450240 TOOL BOX ASM Nos. 20 22029 4-Feb-19 48 Surplus
935 17450287 INSULATION Nos. 122 68242 1-Dec-09 60 Surplus
936 17450329 INSULATION Nos. 506 396508 21-Jan-15 60 Surplus
937 17450342 INSULATION Nos. 136 44732 1-Dec-09 60 Surplus
938 17450354 INSULATION Nos. 231 50429 6-Oct-09 60 Surplus
939 17451280 INSULATION Nos. 2288 564183 28-Nov-15 60 Surplus
940 17451711 SCREEN ASM Nos. 548 716694 28-Sep-13 37 Surplus
941 17452740 DOWEL Nos. 675 73029 21-Jan-15 57 Surplus
942 17452788 DUCT 6" - ID Nos. 82 252010 21-Aug-19 37 Surplus
943 17452790 FILTER DYNACELL Nos. 150 603225 14-Jun-19 37 Surplus

944 17453215 DAMPER PRIMARY 
VERT Nos. 150 1722078 12-Jan-17 56 Surplus

945 17453483 INSERT W/GRIND BAR Nos. 36 75150 14-Aug-19 37 Surplus

946 17454499 HOUSING BEARING KIT Set 12 1390764 15-Jul-22 56 Surplus
947 17455029 FLEX MOUNTING PAD Nos. 763 714352 11-Oct-12 47 Surplus
948 17455625 EQ RACK FRAME ASM Nos. 4 162021 8-Jan-18 47 Surplus

949 17455662 Water Exp.Tank 
Assembly Nos. 20 2679970 17-Jan-18 47 Surplus

950 17455777 Sec lateral Stop Nos. 16 174782 18-Oct-19 37 Surplus
951 17455789 VERTICAL DAMPER Nos. 30 592543 9-Dec-20 37 Surplus

952 17455790 SECONDARY LATERAL 
DAMPER Nos. 12 451243 15-Sep-20 37 Surplus

953 17456721 HOSE LH Nos. 29 199456 11-Jan-18 37 Surplus
954 17456733 HOSE RH Nos. 31 358179 28-Sep-17 37 Surplus
955 17456745 FILTER GC BREATHER Nos. 14 21553 8-Jan-20 37 Surplus

956 17456850 CLAMP-HEX WORM 
GEAR Nos. 564 117056 23-Oct-19 51 Surplus

957 17456915 HOSE FOR E-LKR Nos. 31 198443 23-Jul-20 37 Surplus
958 17457014 CHECK VALVE 1 1/2 Nos. 4 3385 8-Jan-20 37 Surplus

959 17457117 Housing Bearing 
Component Kit Set 68 3764558 2-Jan-18 56 Surplus

960 17980082 GEAR CLAMP Nos. 406 29149 27-Nov-19 47 Surplus

961 18001105 BUSHING - 1/2M STR 
RL Nos. 792 170438 23-Mar-21 37 Surplus

962 18001129 CONTROL CONSOLE#1 
FOR WDG5 Nos. 2 573570 29-Jun-20 37

Surplus

963 18001130 CONTROL CONSOLE#2 
FOR WDG5 Nos. 2 743849 20-Jul-18 37

Surplus

964 18002365 CONTROL CONSOLE 
OF CAB-1 FOR Nos. 6 2798284 4-Oct-19 39 Surplus

965 18002377 CONTROL CONSOLE 
OF CAB-2 FOR Nos. 6 3269557 4-Oct-19 39 Surplus

966 18002894 ACES WITH APU FOR 
WDG4/WDG4D/W Nos. 1 1060265 11-May-15 50

Surplus

967 18120684 INSERT 1 1/4 FL 1 1/4 
W Nos. 1113 233107 6-Nov-17 50 Surplus

968 18120696 INSERT 1 1/4 FL 1W Nos. 4 2596 2-May-14 37 Surplus

969 18190110 FUEL MEASURING 
SYSTEM Nos. 3 1226963 13-Dec-17 50 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

970 18310047 Switch Toggle Nos. 18 6150 10-Dec-18 50 Surplus

971 18310692 SWITCH-LOW 
COOLANT LEVEL Nos. 71 216112 26-Feb-16 50 Surplus

972 18320491 BUS-BAR Nos. 658 121960 26-Apr-22 50 Surplus

973 18330010 CABLE SIZE 19/.0092 
AWG SIZE 1 MTR 2994.5 110682 20-Apr-17 62 Surplus

974 18330113 CABLE 550/24 MTR 789 1334353 15-Oct-16 62 Surplus

975 18330307 CABLE 3 COND 
SHIELDED MTR 1000.05 312449 27-Apr-17 62 Surplus

976 18330344 CABLE SIZE 2109/30 
AWG SIZE4/0 MTR 281.477 670749 20-May-22 62 Surplus

977 18340623 TERMINAL LUG # 8 
STUD (FLANGED Nos. 10290 119089 11-Oct-19 62 Surplus

978 18340805 TERMINAL LUG 2/0 Nos. 2395 569213 15-Jul-21 62 Surplus
979 18340878 TERMINAL LUG- FLAG Nos. 4130 780694 18-Mar-20 49 Surplus

980 18350124 AUTO-STRIP 
TERMINATION Nos. 56086 600681 26-Oct-15 50 Surplus

981 18350148 HOOD R/C SN. 886 Nos. 80 251264 19-Apr-17 50 Surplus
982 18360385 Lamp Holder Nos. 562 18231 27-Mar-17 50 Surplus
983 18360415 CPLG-1/2 FCCM Nos. 1871 415979 11-Jan-20 50 Surplus
984 18360750 Light Asm Nos. 2 20650 18-Feb-21 50 Surplus
985 18360944 PLUG TDP 6 COND Nos. 73 32220 12-Dec-17 62 Surplus
986 18370263 N/PLT-TCC CABINET Nos. 1031 225651 11-Apr-19 37 Surplus
987 18370287 N/PLT-TCC CABINET Nos. 467 109419 11-Apr-19 37 Surplus

988 18370603 N/PLT - HIGH VOLTAGE Nos. 195 2308 10-Jan-20 37 Surplus
989 18370639 N/PLT -E LOCKER Nos. 18 7371 15-Dec-14 57 Surplus
990 18430065 RUBBER GASKET Nos. 21 17325 12-Sep-17 59 Surplus
991 18440022 GEAR 90 TEETH Nos. 12 1348318 21-Oct-22 39 Surplus
992 18440046 GEAR 77 T EETH Nos. 119 10549544 7-Feb-22 39 Surplus
993 18460010 CLEAT Nos. 460 16767 6-Oct-15 62 Surplus
994 18460033 CLEAT Nos. 2226 327874 6-Oct-15 62 Surplus
995 18460215 PAD Nos. 1255 15298 22-Aug-19 50 Surplus
996 18460483 CABLE TIE Nos. 39902 15829 5-Aug-19 62 Surplus
997 18460719 CLEAT Nos. 2245 74171 1-Jan-20 62 Surplus
998 18460720 CLEAT RUBBER Nos. 9564 300692 7-Aug-19 49 Surplus
999 18460732 CLEAT Nos. 160 13444 14-Feb-17 62 Surplus
1000 18460744 CLEAT Nos. 960 55585 6-Oct-15 62 Surplus
1001 18460756 CLEAT Nos. 1505 49653 22-Dec-17 62 Surplus
1002 18460768 BLOCK Nos. 164 22716 17-Jun-22 60 Surplus
1003 18460770 BLOCK Nos. 303 48559 17-Jun-22 60 Surplus
1004 18460781 BLOCK Nos. 959 92815 17-Jun-22 60 Surplus
1005 18460793 BLOCK Nos. 618 94296 26-Apr-17 60 Surplus
1006 18460847 SUPPORT ASM Nos. 201 980633 26-Sep-13 62 Surplus
1007 18480196 STUD PLATE ASM Nos. 791 216659 22-Aug-19 50 Surplus
1008 18510218 CONDUIT - 1/2 Nos. 296 77090 17-Oct-19 50 Surplus
1009 18520261 CLAMP INS Nos. 64 5015 17-Aug-20 62 Surplus
1010 18520376 ELBOW - 1/2 FCCM Nos. 1313 479363 22-Aug-19 50 Surplus
1011 18520467 BUSHING - 1 F INS Nos. 233 7829 12-Feb-18 62 Surplus
1012 18520558 CLAMP ASM Nos. 6 5664 20-Jan-16 47 Surplus

1013 18531015 SPARE WIRE CAP-RED Nos. 8654 69232 30-Nov-20 50 Surplus
1014 18531064 3" REFLECTIVE TAPE MTR 1161.1 510295 11-Apr-19 37 Surplus
1015 18531118 HEAT SHRINK TUBE Nos. 1399 404316 1-Jan-20 62 Surplus
1016 18531209 TAPE POLYAMIDE FT 188.2 11983 28-Sep-13 50 Surplus
1017 18531295 INSULATION Nos. 30 10140 26-Sep-13 60 Surplus
1018 18531465 TIE ANCHOR Nos. 927 10012 29-May-21 62 Surplus
1019 19010138 BOLT HEX SHLDR Nos. 65 130438 9-Jun-22 57 Surplus
1020 19010400 BOLT-M16x2x35 HEX. Nos. 2987 47976 2-Sep-20 57 Surplus
1021 19010450 Bolt M24x3x120 Hex Nos. 306 28706 18-Oct-19 57 Surplus
1022 19010473 BOLT-M16X2X45 HEX Nos. 330 5835 18-Oct-19 57 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1023 19010485 Bolt M12x1.75x20 
HEX.(r Nos. 944 5645 18-Oct-19 57 Surplus

1024 19010497 Bolt M20x2.5x80 HEX. 
(r Nos. 3026 130836 18-Oct-19 57 Surplus

1025 19010503 BOLT M16x2x90 HEX. 
(ref Nos. 1440 40470 14-Jul-22 57 Surplus

1026 19010539 Bolt M20x2.5x40 lg(ref: Nos. 423 14835 30-Nov-19 57 Surplus

1027 19011131 BOLT 5/16-24 DR HEX Nos. 2 182 11-Apr-23 57 Surplus

1028 19011222 BOLT HEXAGON 5/16-
18X1.25 Nos. 7922 42869 16-Jan-18 57 Surplus

1029 19012238 BOLT-3/8-24X4 5/8 Nos. 2999 124309 23-May-22 57 Surplus
1030 19012408 BOLT-3/8-24 12PT Nos. 3933 613585 24-Jun-22 57 Surplus

1031 19012676 BOLT HEXAGON 3/8-16 
X 5 Nos. 4154 71660 18-Jun-18 57 Surplus

1032 19012690 BOLT HEXAGON 3/8-16 
X 2 Nos. 9799 65754 7-Dec-20 57 Surplus

1033 19012718 BOLT HEXAGON 3/8-16 
X 5/8 Nos. 7242 27609 4-Jan-21 57 Surplus

1034 19012720 BOLT-HEXAGON 3/8-
16x3 1/4 Nos. 2280 23637 28-Mar-15 57 Surplus

1035 19012743 BOLT HEXAGON 3/8-16 
X 1/2 Nos. 436 3025 2-Mar-21 57 Surplus

1036 19014284 BOLT 1/2-20 HEX SPL Nos. 2096 169165 6-Mar-20 57 Surplus
1037 19014296 BOLT 1/2-20 HEX Nos. 4802 463516 11-Apr-23 57 Surplus

1038 19014454 BOLT HEXAGON 1/2-13 
x 2 Nos. 782 11558 2-Sep-19 57 Surplus

1039 19016141 BOLT HEXAGON 5/8-
11X1.25 Nos. 2505 39484 29-Sep-16 57 Surplus

1040 19016177 BOLT -5/8-11 HEX Nos. 152 34303 17-May-19 57 Surplus

1041 19016190 BOLT HEXZGON 5/8-11 
x 1.5 Nos. 14724 223895 14-Sep-20 57 Surplus

1042 19017017 BOLT 1-14 HEX Nos. 2029 366128 8-Jul-22 57 Surplus
1043 19017091 BOLT - 1-8 HEX Nos. 920 80399 28-Mar-15 57 Surplus

1044 19017108 BOLT HEXAGON 1- 8 X 
5 Nos. 10611 1708315 2-Sep-19 57 Surplus

1045 19018022 BOLT 1 1/4-12 GEN 
CPG Nos. 696 819788 11-Apr-23 57 Surplus

1046 19018058 BOLT HEXAGON 1 1/8-
7 X 5 Nos. 1974 380210 16-Jul-19 57 Surplus

1047 19018071 BOLT-1 1/8-7 HEX Nos. 100 24000 20-Nov-19 57 Surplus
1048 19019026 BOLT 3/4-16 HEX Nos. 76 72523 19-Jul-22 57 Surplus

1049 19019040 BOLT HEXAGON 3/4-10 
x 2 Nos. 233 8653 28-Mar-15 57 Surplus

1050 19019208 BOLT-3/4-10 HEX Nos. 515 25338 29-Aug-18 57 Surplus

1051 19019282 BOLT HEXAGON 1 1/2-
6 x 6 Nos. 5025 2203513 28-Mar-15 57 Surplus

1052 19110042 STUD - 5/8" Nos. 82 31380 8-Sep-20 57 Surplus

1053 19110121 STUD MAIN BEARING 
CAP Nos. 703 692040 14-Feb-20 57 Surplus

1054 19110182 STUD 3/8 Nos. 607 108605 20-Aug-22 57 Surplus
1055 19110200 STUD 1/4 20 WELD Nos. 4363 89654 16-Jan-19 57 Surplus
1056 19110273 STUD-3/8-16 WELD Nos. 15003 706578 9-Dec-20 57 Surplus
1057 19110303 STUD 3/8-16 WELD Nos. 906 15124 15-Apr-19 57 Surplus
1058 19110467 STUD-3/8-16 WELD Nos. 3753 251446 19-Oct-19 57 Surplus

1059 19150167 SCREW 5/16-18 HS CA Nos. 184 2833 20-Aug-22 57 Surplus

1060 19150325 SCREW FLAT HEAD 
RECESS MACHIN Nos. 2392 11707 25-Nov-14 57 Surplus

1061 19150349 SCREW 3/8"-16 FCR Nos. 98 6862 18-Jun-18 57 Surplus

1062 19150362 SCREW OVAL HEAD 
CROSS RECESS Nos. 3293 20318 28-Mar-15 57 Surplus

1063 19150544 SCREW HEXAGON 
SOCKET HEAD CAP Nos. 1158 18354 28-Mar-15 57 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1064 19150726 LAG SCREW-3/4 HEX. 
HD Nos. 4460 4068813 28-Mar-15 57 Surplus

1065 19150775 SCREW PAN HEAD 
CROSS RECESS Nos. 2764 224081 2-Sep-19 57 Surplus

1066 19150787 SCREW 8-32X1/4 Nos. 2947 105295 19-Jul-22 57 Surplus

1067 19151032 CAP SCREW ASM-CON 
ROD Nos. 3471 376569 6-Mar-20 57 Surplus

1068 19151159 SCREW HEX WASHER 
HEAD TAPPING Nos. 9794 114392 10-Aug-16 57

Surplus

1069 19151160 SCREW HEXAGON 
WASHER HEAD Nos. 8621 145790 20-Oct-16 57 Surplus

1070 19151172 SCREW HEX. WASHER 
HEAD TAPPING Nos. 1606 39784 7-Oct-17 57

Surplus

1071 19151196 SCREW HEX WASHER 
HEAD TAPPING Nos. 3029 80321 6-Mar-17 57

Surplus

1072 19152073 SCREW PAN HEAD 
CROSS RECESS Nos. 4616 18694 21-Jan-16 57 Surplus

1073 19152127 SCREW PAN HEAD 
CROSS RECESS Nos. 6972 19704 28-Mar-15 57 Surplus

1074 19152267 SCREW PAN HEAD 
CROSS RECESS Nos. 1401 9112 2-Mar-21 57 Surplus

1075 19200020 SCREW PAN HEAD 
CROSS RECESS Nos. 11774 82824 11-Nov-16 57 Surplus

1076 19200031 SCREW PAN HEAD 
CROSS RECESS Nos. 3711 13624 12-Aug-17 57 Surplus

1077 19260076 SCREW ROUND HEAD 
METALLIC Nos. 12880 80681 28-Mar-15 57 Surplus

1078 19260088 SCREW ROUND HEAD 
METTALIC DRIV Nos. 328 7124 28-Mar-15 57

Surplus

1079 19270045 SCREW FLAT HEAD 
CROSS RECESS Nos. 118195 312316 6-May-22 57 Surplus

1080 19280063 DOWEL Nos. 258 93511 17-Jun-20 57 Surplus
1081 19280075 DOWEL Nos. 286 166157 17-Jun-20 57 Surplus
1082 19280087 DOWEL Nos. 312 169102 17-Jun-20 57 Surplus
1083 19280099 DOWEL Nos. 261 79031 17-Jun-20 57 Surplus
1084 19280105 DOWEL Nos. 312 131437 17-Jun-20 57 Surplus
1085 19320012 PIN COTTER 1/8 x 1 Nos. 615 3915 19-Oct-21 57 Surplus
1086 19320073 PIN CLEVIS 3/8 Nos. 1512 45780 12-Apr-23 57 Surplus
1087 19330029 DOWEL Nos. 1023 23611 8-Jun-18 57 Surplus

1088 19330066 PIN DOWEL 1/4X1/4 
R/C SN. 384 Nos. 58 809 23-Aug-22 57 Surplus

1089 19330601 GUIDE PIN Nos. 459 32885 19-Apr-17 57 Surplus
1090 19330832 DOWEL Nos. 1402 110436 24-Jun-15 57 Surplus
1091 19331095 LOCK BOLT 1-3/8" Nos. 30 76411 12-Jul-21 57 Surplus
1092 19331125 SPANNER LOCK NUT Nos. 3059 108870 24-Sep-19 57 Surplus
1093 19331253 DOWEL Nos. 725 297138 17-Jun-20 57 Surplus
1094 19331265 DOWEL Nos. 309 163353 17-Jun-20 57 Surplus
1095 19331307 DOWEL Nos. 878 724689 17-Jun-20 57 Surplus
1096 19331319 DOWEL Nos. 875 728496 17-Jun-20 57 Surplus
1097 19331368 DOWEL Nos. 439 426889 15-Dec-22 57 Surplus
1098 19331370 DOWEL Nos. 269 350946 17-Jun-20 57 Surplus
1099 19331459 DOWEL Nos. 1837 1310800 17-Jun-20 57 Surplus
1100 19331460 DOWEL Nos. 2057 1015630 17-Jun-20 57 Surplus
1101 19331484 DOWEL Nos. 642 167914 17-Jun-20 57 Surplus
1102 19331496 DOWEL Nos. 658 71367 17-Jun-20 57 Surplus
1103 19331502 DOWEL Nos. 645 86885 17-Jun-20 57 Surplus
1104 19331514 DOWEL Nos. 684 106097 17-Jun-20 57 Surplus
1105 19331526 DOWEL Nos. 665 434133 17-Jun-20 57 Surplus
1106 19331605 Lock Bolt- 1 3/8" Nos. 16 42295 17-Oct-19 57 Surplus
1107 19331617 Lock Bolt- 1" Nos. 16 26527 18-Oct-19 57 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1108 19350028 NUT 1 1/4-12 HEX Nos. 768 115515 12-May-23 57 Surplus
1109 19350144 NUT 5/8-18 HEX JAM Nos. 92 893 20-May-23 57 Surplus
1110 19350259 NUT 10-24 P WELD E Nos. 8744 266636 1-Nov-18 57 Surplus

1111 19350260 NUT HEX MACHINE 
SCREW 10-24 Nos. 2497 5610 23-Jan-15 57 Surplus

1112 19350302 NUT HEX 5/8-11 Nos. 9822 101167 11-May-22 57 Surplus

1113 19350478 NUT TYPE CLT 
HEXAGON LOCK 1-8 Nos. 20847 966288 13-Feb-17 57 Surplus

1114 19350569 Nut M16 SLFLKG Nos. 1764 43986 13-Nov-19 57 Surplus
1115 19351070 WASHER M 16 FLAT Nos. 5616 46605 20-Jan-21 57 Surplus
1116 19351082 WASHER M 24 FLAT Nos. 4356 125784 18-Oct-19 57 Surplus

1117 19352013 NUT SPL MB STUD 
UPPER Nos. 800 328696 12-May-23 57 Surplus

1118 19354046 NUT Nos. 492 98114 4-Mar-23 57 Surplus

1119 19354095 NUT 1/4"-20 P WELD E Nos. 20068 564636 10-Jan-19 57 Surplus

1120 19354241 NUT YPPE HL HEX 
LOCK 9/16-18 Nos. 4547 201583 3-Jun-19 57 Surplus

1121 19354277 NUT ELASTIC HEX 6-32 Nos. 18304 104724 22-Jan-18 57 Surplus
1122 19355038 NUT 1/2-20 SLFLKG Nos. 1222 29255 6-Mar-20 57 Surplus
1123 19355051 NUT 1/2-20 SPLINE Nos. 4880 274793 24-Jun-15 57 Surplus
1124 19355075 NUT 1/4-20 SLF LKG Nos. 687 3469 9-Jan-20 57 Surplus
1125 19355099 NUT 1/4-28 Nos. 205 2913 15-Jul-22 57 Surplus
1126 19355233 NUT 5/16-18 SLFLKG Nos. 1492 34908 12-Apr-23 57 Surplus
1127 19357023 NUT Nos. 151 15085 18-May-23 57 Surplus
1128 19357035 NUT 3/8-24 Nos. 2548 217222 18-May-23 57 Surplus
1129 19358064 NUT 10-24 WELD E Nos. 4532 227580 18-Jun-18 57 Surplus
1130 19359020 NUT 1/2-13 SQUARE Nos. 18 9271 28-Jul-05 57 Surplus
1131 19391067 WASHER Nos. 250 22861 20-May-23 57 Surplus
1132 19391160 WASHER- 5/8 FLAT Nos. 99 1487 19-Oct-21 57 Surplus

1133 19391377 WASHER TYPE A FLAT Nos. 25362 132695 6-Jul-21 57 Surplus

1134 19391699 Washer M20 Flat (ref-4 Nos. 2096 30391 30-Nov-19 57 Surplus
1135 19391717 WASHER-M30 FLAT Nos. 2186 92962 8-Jan-20 57 Surplus
1136 19394214 WASHER Nos. 589 44410 12-Apr-23 57 Surplus
1137 19394226 WASHER SPECIAL Nos. 8177 69759 15-Jul-22 57 Surplus

1138 19394494 WASHER SPECIAL GM 
PT-8387832 Nos. 1560 84952 11-Mar-19 57 Surplus

1139 19394500 WASHER-SPECIAL Nos. 24 1676 16-May-05 57 Surplus
1140 19394597 WASHER Nos. 1511 166417 12-Apr-23 57 Surplus
1141 19394676 WASHER SPECIAL Nos. 4794 662775 12-Nov-13 57 Surplus
1142 19398049 WASHER- METRIC Nos. 440 7683 15-Jul-22 57 Surplus
1143 19670047 DOWEL Nos. 1287 27745 8-Sep-20 57 Surplus
1144 25612244 SOCKET 35P/40 PIN Nos. 20 49560 5-Jan-21 54 Surplus

1145 25612256 CONTACT PIN 12/2.5 
mm? Nos. 240 43896 5-Jan-21 54 Surplus

1146 25712202 MAIN CIRCUIT 
BREAKER (VCB) Set 3 803049 5-Aug-22 45 Surplus

1147 25880068 PANTOGRAPH WITH 
THROTTLE VALVE Nos. 2 210000 11-Oct-22 41 Surplus

1148 29104488 DIN RAIL FOR ASSLY 
SHOP Nos. 4999 306194 11-Feb-21 35 Surplus

1149 29109966 DIN RAIL CHANNEL KIT Set 19 115211 26-May-23 35 Surplus

1150 29170394 ANGLE PLATE TYPE-03 Nos. 824 474797 13-Dec-22 49 Surplus

1151 29170485 ANGLE PLATE (STEEL) 
TYPE-04 Nos. 384 420476 5-Nov-22 49 Surplus

1152 29170497 ANGLE PLATE (STEEL) 
TYPE-05 Nos. 384 379089 5-Nov-22 49 Surplus

1153 29170874 Hexert Threaded Insert Nos. 2300 1044338 8-Jun-17 58 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1154 29171179 PIANO HINGE Set 15 27217 30-Jul-19 51 Surplus
1155 29210409 CABLE CLIP (TYPE-1) Nos. 445 88613 11-Nov-22 49 Surplus
1156 29210410 CABLE CLIP (TYPE-2) Nos. 495 93110 10-Nov-22 49 Surplus
1157 29210422 CABLE CLIP (TYPE-3) Nos. 526 72972 10-Nov-22 49 Surplus

1158 29238821 SET OF SS PIPE 
FITTINGS OF BOG Set 3 139478 28-Sep-20 57 Surplus

1159 29250328 SET OF U- SECTION Set 299 355849 7-Dec-21 59 Surplus

1160 29310131 FS ALL STEEL LOCK 
NUT M-16 Nos. 96 15520 10-Sep-21 59 Surplus

1161 29330063 SCREWS SLOTTED PAN 
HEAD Set 751 47854 3-Feb-23 58 Surplus

1162 29332035 SCREWS COUNTER 
SUNK SLOTTED Set 534 55509 15-Jul-21 48 Surplus

1163 29335980 DRIVE SCREWS Set 577 143845 12-Jul-19 58 Surplus

1164 29350141 WASHER NON 
METALLIC Set 468 212268 13-Jun-22 58 Surplus

1165 29360043 RIVETS Set 8 15972 11-Jul-19 58 Surplus
1166 29370012 Bush MEGI HL Set 19 26334 25-Jan-19 45 Surplus

1167 29428051 PINION FORGING 
(PROOF MACHINED Nos. 177 2406758 4-Mar-23 39 Surplus

1168 29488199 Channel Assembly Set 100 1155000 27-Jun-19 54 Surplus

1169 29501003 Illumination Pneumatic 
Gauges Nos. 1203 548520 1-Apr-21 48 Surplus

1170 29600042 SET OF FIBER OPTIC 
CABLE Set 16 1682610 14-Jul-22 45 Surplus

1171 29600169 SINGLE CORE CABLE 4 
GKW-A X 1 MTR 416 640577 8-Dec-20 62 Surplus

1172 29608200 SET OF COMPLETE 
PLUG/PLUG Nos. 276 4266408 7-Sep-20 54 Surplus

1173 29610783
POLYETHELENE 
SLEEVE END SLEEVE 
PG-16-PE

Nos. 23268 183929 3-Mar-23 48
Surplus

1174 29610801
POLYETHELENE 
SLEEVE END SLEEVE 
PG-36-PE

Nos. 1010 30675 25-Apr-23 48
Surplus

1175 29610813
POLYETHELENE 
SLEEVE END SLEEVE 
PG-21-PE

Nos. 2490 83274 28-Apr-23 48
Surplus

1176 29610849 COPPER PLATE (TYPE-
12) Nos. 344 15181 13-Jun-23 51 Surplus

1177 29610886 BASE FOR CABLE TIES 
(TYPE5) Nos. 13210 475560 17-Oct-22 62 Surplus

1178 29611854 MULTIPLE BASE 5CA 
TIES (TYPE2) Nos. 354 123900 17-Oct-22 62 Surplus

1179 29611866 BASE FOR CABLE TIES 
(TYPE 9) Nos. 1062 31329 17-Oct-22 62 Surplus

1180 29611933 SLIDING BLOCK M8 
WITH SPRING Nos. 6399 270788 15-Oct-18 51 Surplus

1181 29612469 CONTACT PIN MALE 
GR 16 Nos. 1960 346920 4-Mar-21 54 Surplus

1182 29612573 CA-LUG 6-8/M8 Nos. 1274 9020 19-Jan-22 62 Surplus
1183 29612585 CABLE LUG 12-10 Nos. 267 2520 19-Jan-22 62 Surplus
1184 29612597 CABLE LUG 10-6 Nos. 686 4857 19-Jan-22 62 Surplus

1185 29612640 CABLE TERMINAL 
TYPE 18B, 2.5 SQ.MM Nos. 1512 7137 19-Jan-22 62 Surplus

1186 29612779 SET OF COPPER BRAID Set 119 3179008 12-Jul-22 40 Surplus

1187 29616062 CONNECTOR 
ST.35P/40 BU N IR KA Nos. 40 161424 8-Jan-21 62

Surplus

1188 29616153 CONTACT SOCKET 
SIZE 8 / 2.5 MM Nos. 790 568603 19-Aug-20 54 Surplus

1189 29616591 CABLE LUG INSUL 3-1.5 Nos. 559 1973 1-Dec-18 62 Surplus

1190 29616694 CONTACT PIN 
16/2.0/AWG14 Nos. 200 24780 15-Jan-21 55 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1191 29618678 CABLE TIE 368 X 7.6 
PLT NF Nos. 2960 968957 14-Sep-21 49 Surplus

1192 29618680 CABLE TIE 92 X 2.4 PA Nos. 31300 62600 14-Sep-21 49 Surplus

1193 29695004 CURRENT SENSOR 
HOTEL LOAD Nos. 55 3395464 30-May-19 48 Surplus

1194 29701030
CAB ACTIVATING KEY 
SWITCH,CLW 
SPEC..CLW/ES/3/0074

Nos. 26 263536 28-May-21 50
Surplus

1195 29771031
CAPACITOR (22 MICRO 
FARAD) ALONG WITH 
ACCESSORIES

Nos. 194 640172 31-May-23 50
Surplus

1196 29771043 CAPACITOR BOX ASM 
FOR WAP7 Set 174 173906 19-May-23 40 Surplus

1197 29940321 UNCOMMON 
S.S.HARDWARE Set 188 233831 15-May-19 58 Surplus

1198 29940424 T.M.Bellow Mounting 
Assy. Set 19 714310 3-Aug-17 35 Surplus

1199 40070499 Drop wire PVC 
insulated self s MTR 7333 33682 29-Dec-22 30 Surplus

1200 40125270 P.V.C. insulated tinned 
copper MTR 1400 86348 31-Jan-23 30 Surplus

1201 40300171 COPPER WINDING 
WIRE 18.5 SWG Kgs. 129.71 94383 27-Apr-16 30 Surplus

1202 40300195 SUPERROUND COPPER 
WINDING WIRE Kgs. 39.085 28002 16-Feb-22 30

Surplus

1203 40300250 SUPER ENAMEL 
ROUND COPPER WIRE Kgs. 32.815 22441 24-Jul-20 30

Surplus

1204 40303214 ROUND COPPER 
GRINDING WIRE Kgs. 92.945 67961 24-Jul-20 30 Surplus

1205 40304401 SUPERROUND COPPER 
WINDING WIRE Kgs. 77.566 58006 24-Jul-20 30

Surplus

1206 40304759 ROUND COPPER 
WINDINGWIRE Kgs. 40 56640 26-May-23 30 Surplus

1207 40305417 COPPER WINDING 
WIRE 17.5 SWG Kgs. 63.77 46268 27-Apr-16 30 Surplus

1208 40305442 S.ROUND COPPER 
WINDING WIRE Kgs. 18.44 12926 24-Jul-20 30 Surplus

1209 40305843 ROUND COPPER 
WINDINGWIRE Kgs. 119.13 103187 27-Apr-16 30 Surplus

1210 42020104 SWITCH TUMBLER 
5AMP 250V Nos. 1429 9262 8-Jan-13 30 Surplus

1211 42024250 FUSE SWITCH UNIT 
200A Nos. 4 32137 10-Feb-21 30 Surplus

1212 42024638 TPIC SWITCH 
100AMP500 VOLTS Nos. 57 254749 31-Jan-23 30 Surplus

1213 42026118 TPIC SWITCH 
32AMPS.415VAC 50 Nos. 36 45507 12-Jul-21 30 Surplus

1214 42026120 TPIC SWITCH 16AMPS 
415VAC 50 Nos. 34 24267 30-Jan-23 30 Surplus

1215 42030109 HOLDER LAMP TYPE 
BRASS Nos. 927 26074 8-Feb-22 30 Surplus

1216 42087510 MCB 63Amp Nos. 240 109586 12-Jul-21 30 Surplus

1217 42111158 CHOKE FOR TUBE 
LIGHT 40W/240V Nos. 1800 231810 11-Aug-16 30 Surplus

1218 42111304 BALLAST/CHOKES 
COIL/ FOR HIG Nos. 101 8676 3-Feb-14 30 Surplus

1219 42111353 CHOCK FOR M V D 
LAMP 250 VOLTS Nos. 56 51426 27-Sep-17 30 Surplus

1220 42111390 STARTER TUBELAMP 
40W/230V Nos. 8066 55143 12-Dec-17 30 Surplus

1221 42114998 LAMP FLUORESCENT 
1219MMX40W Nos. 6304 460991 17-Feb-18 30 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1222 42115220
LAMP MUR 
VAPUR125WATTS250V
OLTS

Nos. 293 35066 12-Mar-13 30
Surplus

1223 42115255 HIGH PRESS ORE 
MERCURY Nos. 197 60533 27-Sep-17 30 Surplus

1224 42115267 FLUORSEENT HIGH 
PRESSURE Nos. 472 188552 3-Feb-14 30 Surplus

1225 42115292 DOUBLE ENDED 
ELLIPTICAL METAL Nos. 700 233800 21-Feb-15 30 Surplus

1226 42118050 HPSV LAMP 250 VOLT 
IS-9974PT.I Nos. 130 68938 2-Apr-14 30 Surplus

1227 42118440 BALLAST COPPER 
WOUND POLYSTER Nos. 52 24687 7-Oct-16 30 Surplus

1228 42118840 ELECTRONIC IGNITOR Nos. 1099 79843 7-Sep-18 30 Surplus

1229 42118888 HPSV LAMP 150 W, 
250 V Nos. 582 283306 2-Apr-14 30 Surplus

1230 42119698 250 WATT HPI-T 
COPPER WOUND BA Nos. 767 613534 25-Feb-21 30 Surplus

1231 42119704 150 WATT HPI-L 
COPPER WOUND BA Nos. 336 198840 12-Dec-16 30 Surplus

1232 42312875 RIGID STEEL CODUIT 
3/4" MTR 3691.948 145207 17-Apr-23 62 Surplus

1233 42312905 CONDUIT PIPE 1.1/4" MTR 4145.688 353376 15-Jan-22 62 Surplus

1234 42503802 CAPACITOR 2.25 MFD 
400 v 50 HZ Nos. 8061 133570 14-Feb-23 30 Surplus

1235 42905618 ALUMEL CHROME 
THEROMOCABLE Nos. 128 73350 21-Jul-20 30 Surplus

1236 42980094 HPSV LAMP 250 VOLT 
IS-9974PT.I Nos. 186 98872 28-May-12 30 Surplus

1237 42980173 HPSV LAMP 150 W, 
250 V Nos. 588 286221 10-Feb-14 30 Surplus

1238 42980185 HPSV LAMP 70 W, 250 
V Nos. 384 141744 28-Jan-16 30 Surplus

1239 47300139 A.C.AIR BREAK POWER 
CONTACTOR Nos. 3 20691 29-Jul-20 30 Surplus

1240 47300140 A.C.AIR BREAK POWER 
CONTACTOR Nos. 16 42034 26-Apr-22 30 Surplus

1241 47300152 A.C.AIR BREAK POWER 
CONTACTOR Nos. 27 114837 26-Apr-22 30 Surplus

1242 47300164 A.C.AIR BREAK POWER 
CONTACTOR Nos. 43 135679 29-Jul-20 30 Surplus

1243 47300176 AC AIR BREAK POWER 
CONTACTOR Nos. 13 29648 26-Apr-22 30 Surplus

1244 47300188 AC AIR BREAK POWER 
CONTACTOR Nos. 123 344958 26-Apr-22 30 Surplus

1245 47300190 AC AIR BREAK POWER 
CONTACTOR Nos. 30 81584 31-Jan-23 30 Surplus

1246 47300206 AC AIR BREAK POWER 
CONTACTOR Nos. 18 32832 3-Nov-20 30 Surplus

1247 47300218 A.C.AIR BREAK POWER 
CONTACTOR Nos. 28 58733 26-Apr-22 30 Surplus

1248 47300220 AC AIR BREAK POWER 
CONTACTOR Nos. 42 98154 31-Jan-23 30 Surplus

1249 47300231 A.C.AIR BREAK POWER 
CONTACTOR Nos. 25 33600 26-Apr-22 30 Surplus

1250 47300243 AC AIR BREAKER 
POWER CONTACTOR Nos. 47 77691 26-Apr-22 30 Surplus

1251 47300255 A.C.AIR BREAK POWER 
CONTACTOR Nos. 12 20666 31-Jan-23 30 Surplus

1252 47300267 A.C.AIR BREAK POWER 
CONTACTOR Nos. 42 40793 26-Apr-22 30 Surplus

1253 47300279 A.C.AIR BREAK POWER 
CONTACTOR Nos. 70 71412 3-Nov-20 30 Surplus

1254 47300280 A.C.AIR BREAK POWER 
CONTACTOR Nos. 6 7497 31-Jan-23 30 Surplus

1255

1256 47300309 A.C.AIR BREAK POWER 
CONTACTOR Nos. 8 5872 30-Jul-20 30 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1257

1258 47300334 A.C.AIR BREAK 
AUX.CONTACTOR Nos. 14 21300 7-Sep-16 30 Surplus

1259 47300346 A.C.AIR BREAK 
AUX.CONTACTOR Nos. 4 5743 20-Aug-19 30 Surplus

1260 47300358 A.C.AIR BREAK 
AUX.CONTACTOR Nos. 9 7644 17-Feb-18 30 Surplus

1261 47300360 A.C.AIR BREAK 
AUX.CONTACTOR Nos. 12 11096 7-Sep-16 30 Surplus

1262 47300371 A.C.AIR BREAK 
AUX.CONTACTOR Nos. 13 11504 7-Sep-16 30 Surplus

1263 47300383 A.C.AIR BREAK 
AUX.CONTACTOR Nos. 12 11096 7-Sep-16 30 Surplus

1264 47330016 THREE PHASE 
OVERLOAD RELAY Nos. 10 22313 11-Dec-15 30 Surplus

1265 47330028 THREE PHASE OVER 
LOAD RELAY Nos. 11 23678 11-Dec-15 30 Surplus

1266 47350039 DIRECT ON LINE 
STARTER IS:8544 Nos. 56 85872 2-Feb-23 30 Surplus

1267 47350040 DIRECT ON LINE 
STARTER CAT.AC3 Nos. 19 23621 2-Feb-23 30 Surplus

1268 47350052 DIRECT ON LINE 
STARTER CAT.AC3 Nos. 8 12091 2-Feb-23 30 Surplus

1269 47350064 DIRECT ON LINE 
STARTER CAT.AC3 Nos. 18 21546 2-Feb-23 30 Surplus

1270 47350076 DIRECT ON LINE 
STARTER CAT.AC3 Nos. 36 43092 14-Jun-16 30 Surplus

1271 61011010 A.C.SHEET 2 MTRS. 
LONG Nos. 198 32910 12-Mar-14 30 Surplus

1272 61980080 MOSAIC 
SINK(60X45X25CMS) Nos. 116 53843 25-Nov-21 30 Surplus

1273 62095663 1/2"NB STEEL PIPE 
EXTRA STRONG MTR 194.88 36966 7-Jun-16 41 Surplus

1274 62095675 1.25"NB STEEL PIPE 
STANDARD MTR 966.266 138717 23-Jan-19 41 Surplus

1275 62338626 HFS STEEL TUBE 
127.00 MM OD MTR 12.34 28644 13-Mar-23 41 Surplus

1276 62338663 HFS STEEL TUBE 
168.28 MM MTR 9.016 21491 4-Jul-22 41 Surplus

1277 62347779 MS PIPE 10 MM NB 
SEAMLESS MTR 3205.813 349301 13-Mar-23 41 Surplus

1278 62347858 SEAMLESS STEEL 
TUBE 6.35 MM OD MTR 59.878 7794 24-Jun-23 41 Surplus

1279 62347974 SEAMLESS STEEL 
TUBE 25.4 MM OD MTR 450.39 66041 20-Sep-22 41 Surplus

1280 62348231 RECT STEEL TUBE 
2"X1"X.12" MTR 1227.85 348222 1-Jun-20 41 Surplus

1281 62348358 HFS STEEL TUBE 88.90 
MM OD MTR 50.046 70479 20-Sep-22 41 Surplus

1282 62348449 SQUARE STEEL TUBE 
2"X 2"X0.25" MTR 2885.54 2050979 18-Mar-21 41 Surplus

1283 62348498 3/4"NB STEEL PIPE 
STANDARD MTR 1264.3 211872 25-Jun-19 41 Surplus

1284 62348541 1.5"NB STEEL PIPE 
EXTRA STRONG MTR 1661.025 779541 15-Mar-23 41 Surplus

1285 62348619 RECT.STEEL TUBE 4"X 
2"X.25" MTR 703.72 697628 14-May-19 41 Surplus

1286 62981365 MS PIPE 100 MM NB 
SEAMLESS MTR 8.162 8043 8-Sep-20 41 Surplus

1287 62981675 2"NB STEEL PIPE 
STANDARD MTR 322.577 155962 23-Oct-21 41 Surplus

1288 62981717 1/2"NB STEEL PIPE 
EXTRA STRONG MTR 245.69 37806 4-Sep-21 41 Surplus

1289 62981729 1"NB STEEL PIPE 
EXTRA STRONG MTR 3328.562 928366 4-Sep-21 41 Surplus

1290 62981730 1.25"NB STEEL PIPE 
EXTRA STRON MTR 1626.8 654335 24-Oct-18 41 Surplus

1291 62981742 2"NB STEEL PIPE 
EXTRA STRONG MTR 840.445 452918 8-Mar-22 41 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1292 70010249 ST. GRINDING WHEEL Nos. 53 13229 13-Jan-15 59 Surplus
1293 70050028 GRINDING WHEEL Nos. 14 178557 29-Aug-20 59 Surplus
1294 70050030 GRINDING WHEEL Nos. 25 24082 13-Jan-11 59 Surplus

1295 70237438 HONING STICK WITH 
GAITOR STONE Nos. 1046 58691 22-Mar-14 59 Surplus

1296 70493121 ST.GRINDING WHEEL Nos. 30 6094 13-Jan-21 59 Surplus

1297 70500678 FLARING CUP 
GRINDING WHEEL, Nos. 66 23426 7-Aug-09 59 Surplus

1298 70520033 GRINDING SIGMENT 
SIZE:38.11X12 Nos. 772 216374 9-Dec-17 59 Surplus

1299 70527040 GRINDING SIGMENT 
SIZE:44.45MMX Nos. 61 90603 9-Dec-17 59 Surplus

1300 70537033 DIAMOND HONING 
STICK SIZE:4" X Nos. 598 794722 16-Nov-12 30 Surplus

1301 70981139 Master holder set 
range 8" to Nos. 11 223500 9-Aug-18 59 Surplus

1302 72010575 CC C/BLADE 
DRG.E/INS/1110/001 Nos. 237 75778 27-Oct-20 33 Surplus

1303 72010605 HSS POWER SAW 
BLADE SIZE 24"*1 Nos. 78 58267 2-Nov-20 33 Surplus

1304 72010708 BIMETAL ENDLESS 
BAND SAW BLADE Nos. 10 24754 11-Jan-21 33 Surplus

1305 72010940 HSS CUTTER BLADE Nos. 52 15715 26-Aug-20 33 Surplus

1306 72010952 HSS SUPPER CUTTER 
BLADE Nos. 76 37654 26-Aug-20 33 Surplus

1307 72012158 DAVIS MAKE 
EXPANDABLE CUTTER Nos. 59 30557 33 Surplus

1308 72017119 HSS BLADE HACKSAW 
18"X1"X10TPI Nos. 647 138314 24-May-21 33

Surplus

1309 72017144
CARBON STEEL HARD 
EDGE CUTTING 
BANDSAW BLADE

MTR 335.5 15574 22-Jan-21 33
Surplus

1310 72017569 ENDLESS BI METAL 
SAW BLADE Nos. 71 100981 29-Nov-14 33 Surplus

1311 72017570 B.M.B.S.B.E. 
1"x6TPIx0.36"THIC Nos. 37 82199 27-Nov-20 33 Surplus

1312 72020398 CC SPECIAL TOOL Nos. 344 334238 27-Oct-20 33 Surplus

1313 72020416 HSS SPECIAL TOOL 
HMS/118-19-2 Nos. 139 197993 27-Oct-20 33 Surplus

1314 72020428 HSS SPECIAL TOOL 
HMS/1118-19-2 Nos. 214 370389 24-Dec-20 33 Surplus

1315 72020441 CC SPECIAL TOOL Nos. 100 78023 27-Oct-20 33 Surplus

1316 72020490 S/TOOL, HMS/1118-
1119-1120/015 Nos. 23 34827 16-Jun-20 33 Surplus

1317 72030033 CC INSERT TPAN 1603 Nos. 1820 213353 5-Dec-20 33 Surplus

1318 72030136 CC INSERT WCMX 
060308 R-51 Nos. 190 32185 28-Nov-22 33 Surplus

1319 72030203 SOLID GEAR HOB TIN 
COATED Nos. 3 101645 10-Feb-23 33 Surplus

1320 72030343 HSS SIDE & FACE 
CUTTER STRAIGH Nos. 65 649569 16-Jun-20 33 Surplus

1321 72030355 HSS SIDE & FACE 
CUTTER Nos. 28 143862 9-Dec-20 33 Surplus

1322 72030501 12 UN EXTERNAL 
THREADING INSER Set 2 47326 20-Jul-20 33 Surplus

1323 72030513 SERRATION MILLING 
CUTTER Set 6 2607599 15-Feb-19 33 Surplus

1324 72031001 SERRATION MILLING 
CUTTER FOR G Set 2 1612406 2-Feb-16 33 Surplus

1325 72040117 HSS HAND TAP 3/8"-16 
UNC-3 Set 102 42320 20-Jul-20 33 Surplus

1326 72040130 HSS HAND TAP 7/8" - 
9 UNC-3 Nos. 44 48458 16-Jun-20 33 Surplus

1327 72040373 HSS HAND TAP 1.1/8"-
7 UNC-3 Nos. 168 339788 21-Oct-20 33 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1328 72040488 HSS HAND TAP 1.3/4" 
12 UNF-3 Nos. 12 33691 5-Nov-20 33 Surplus

1329 72040579 HSS HAND TAP NO.10-
24 UNC-3 Nos. 134 17019 26-Aug-20 33 Surplus

1330 72050032 HSS OSTER CHASER 
1/2"-3/4"-14B Set 3 18620 24-Dec-20 33 Surplus

1331 72051413 cc tip cutter blade Nos. 318 80615 26-Aug-20 33 Surplus

1332 72053033 TURNING FACING 
TOOL Nos. 14 5465 10-Feb-23 33 Surplus

1333 72053185 C.C.TIPPED TURNING 
TOOL Nos. 10 8250 10-Feb-23 33 Surplus

1334 72058432 THREAD ROLL 
1.1/8"X12 UNF-3 Nos. 2 101571 9-Dec-20 33 Surplus

1335 72060049 SERRATION MILLING 
CUTTER Set 1 983348 6-Jan-20 33 Surplus

1336 72060918 HSS INVERTED SPOT 
FACE CUTTER Nos. 14 42503 26-Aug-20 33 Surplus

1337 72061194 80 MM DIA BUL NOSE 
CUTTER KIT Set 3 228192 23-Nov-18 33 Surplus

1338 72061510 CARTRIDGE STFCR 
16CA16 Nos. 52 114114 6-Nov-20 33 Surplus

1339 72061625 MICROBORE 
CARTRIDGE Nos. 40 97670 33 Surplus

1340 72085137 C C TIPPED 
REAMER,TR-48 Nos. 23 46278 6-Nov-20 33 Surplus

1341 72090728 HSS HAND TAP 5/8"-
11UNC-PLUG. Nos. 12 7560 26-Aug-20 33 Surplus

1342 72097073 HSS HAND TAP 1/2"-
12BSW Nos. 21 16450 16-Jun-20 33 Surplus

1343 72097541 HAND TAP 
EX.LG.5/8X11UNC-3 Nos. 31 32425 15-Mar-22 33 Surplus

1344 72097826 HSS HAND TAP 3/4"X 
16 UNF-3 Nos. 7 7221 26-Aug-20 33 Surplus

1345 72158001 HSS S/F CUTTER 3"DIA 
X 1"BORE Nos. 26 10576 6-Nov-20 33 Surplus

1346 72158025 HSS S/F CUTTER 
6"DIAX 1"BORE X Nos. 13 64741 6-Nov-20 33 Surplus

1347 72200145 GUN DRILL 0.750"X 52" Nos. 56 607930 26-Aug-20 33 Surplus

1348 72208235 HSS T/S TWIST DRILL 
19/32"DIA Nos. 10 12709 26-Aug-20 33 Surplus

1349 72209306 HSS T/S TWIST DRILL 
2.1/32"DIA Nos. 10 75358 26-Aug-20 33 Surplus

1350 72209367 GUN DRILL FOR 
STIFFER UNIT CAM Nos. 47 400816 10-Dec-20 33 Surplus

1351 72210011 1.5/8"(1.625")HSS T/S 
TWIST Nos. 14 113134 21-Oct-20 33 Surplus

1352 72210618 HSS T/S CORE DRILL 
2.5/16"DIA Nos. 11 168675 29-Sep-21 33 Surplus

1353 72212093 HSS T/S TWIST DRILL 
2.5/16"DIA Nos. 4 57143 22-Oct-20 33 Surplus

1354 72217753 HSS MTS TWIST DRILL 
1/2" Nos. 58 15761 10-Feb-23 33 Surplus

1355 72217765 HSS T/S DRILL TWIST 
17/32" Nos. 22 8051 10-Feb-23 33 Surplus

1356 72217807 HSS DRILL TWIST MT 
SHANK 5/8" Nos. 6 2073 10-Feb-23 33 Surplus

1357 72217844 HSS T/S TWIST DRILL 
45/64" DIA Nos. 23 18458 6-Nov-20 33 Surplus

1358 72218071 HSS T/S TWIST DRILL 
1.9/32" Nos. 27 63977 31-Jul-20 33 Surplus

1359 72218095 HSS T/S TWIST DRILL 
1.11/32 Nos. 37 99583 21-Oct-20 33 Surplus

1360 72218113 HSS T/S TWIST DRILL 
1.13/32" Nos. 5 16219 6-Nov-20 33 Surplus

1361 72218125 HSS T/S TWIST DRILL 
1.7/16" Nos. 2 6680 6-Nov-20 33 Surplus

1362 72218137 HSS T/S TWIST DRILL 
1.15/32" Nos. 23 73675 29-Sep-21 33 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1363 72218162 HSS.DRILL TWIST MTS 
1.91/6" Nos. 7 30719 22-Oct-20 33 Surplus

1364 72218174 HSS DRILL TWIST MTS 
1.19/32" Nos. 29 128324 22-Oct-20 33 Surplus

1365 72218228 HSS DRILL TWIST MTS 
1.23/32" Nos. 42 212638 4-Jun-20 33 Surplus

1366 72218241 H.S.S.T/S TWIST 
DRILL 1.25/32" Nos. 17 92872 10-Dec-20 33 Surplus

1367 72218265 H.S.S.DRILL TWIST 
MTS 1.27/32" Nos. 35 145665 6-Nov-20 33 Surplus

1368 72218277 H.S.S.DRILL TWIST 
MTS 1.15/16" Nos. 9 59669 8-Sep-16 33 Surplus

1369 72218289 H.S.S.DRILL TWIST 
MTS 1.31/32" Nos. 17 115546 6-Nov-20 33 Surplus

1370 72218356 H.S.S.DRILL TWIST 
MTS 1.31/64" Nos. 17 67279 13-Jul-16 33 Surplus

1371 72218381 H.S.S.DRILL TWIST 
MTS 1.47/64" Nos. 18 89674 10-Dec-20 33 Surplus

1372 72218460 H.S.S.DRILL TWIST 
MTS 2.7/32" Nos. 20 230010 10-Dec-20 33 Surplus

1373 72218484 H.S.S.DRILL TWIST 
MTS 2.3/8" Nos. 9 122605 22-Oct-20 33 Surplus

1374 72218587 H.S.S.DRILL TWIST 
MTS 3" Nos. 17 384045 22-Oct-20 33 Surplus

1375 72218630 MT 4 SHANK CORE 
DRILL 1.5/8" Nos. 10 62252 22-Oct-20 33 Surplus

1376 72219051 HSS DRILL TWIST T/S 
EXT.LONG Nos. 8 57908 28-Sep-20 33 Surplus

1377 72219099 HSS MT/S TWIST 
DRILL EXT.LONG Nos. 52 881084 22-Oct-20 33 Surplus

1378 72219210 HSS DRILL TWIST T/S 
49/64" Nos. 21 8150 10-Feb-23 33 Surplus

1379 72219373 HSS MT/S TWIST 
DRILL 49/64"EXT Nos. 3 10032 28-Sep-20 33 Surplus

1380 72219737 HSS COMBINATION 
CENTRE DRILL Nos. 18 7845 10-Feb-23 33 Surplus

1381 72219762 HSS MT SANK TWIST 
DRILL 11/16" Nos. 34 83113 28-Sep-20 33 Surplus

1382 72219786 HSS T/S TWIST DRILL 
55/64"DIA Nos. 26 18913 22-Oct-20 33 Surplus

1383 72219828 HSS T/S TWIST DRILL 
1.3/32"DIA Nos. 34 54598 22-Oct-20 33 Surplus

1384 72219841 HSS T/S DRILL TWIST 
1.3/4" DIA Nos. 35 168271 22-Oct-20 33 Surplus

1385 72219853 HSS T/S TWIST DRILL 
1.7/8" DIA Nos. 3 18639 7-Dec-17 33 Surplus

1386 72219877 HSS T/S TWIST DRILL 
1.29/32"DI Nos. 6 38886 10-Dec-20 33 Surplus

1387 72219889 HSS T/S DRILL TWIST 
2" DIA Nos. 3 15683 10-Feb-23 33 Surplus

1388 72219890 HSS T/S TWIST DRILL 
2.1/16"DIA Nos. 6 55533 22-Oct-20 33 Surplus

1389 72219907 HSS T/S TWIST DRILL 
2.3/32"DIA Nos. 5 65341 21-Jul-16 33 Surplus

1390 72219920 HSS T/S TWIST DRILL 
2.3/16"DI Nos. 3 41128 13-Jul-16 33 Surplus

1391 72219932 HSS T/S TWIST DRILL 
2.1/4"DIA Nos. 11 94451 22-Oct-20 33 Surplus

1392 72219944 HSS T/S TWIST DRILL 
2.1/2"DIA. Nos. 8 104193 22-Oct-20 33 Surplus

1393 72219956 HSS T/S TWIST DRILL 
2.5/8"DIA. Nos. 2 30349 11-Jan-16 33 Surplus

1394 72219968 HSS T/S EXTRA LONG 
DRILL 3/8" Nos. 9 25453 10-Feb-23 33 Surplus

1395 72219970 HSS T/S TWIST DRILL 
2.57/64" Nos. 3 58971 20-Jan-17 33 Surplus

1396 72230721 DIA 11.5 MM CARBIDE 
DRILL Nos. 119 451732 10-Feb-23 33 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1397 72240726 STEP INSERT DRILL & 
CHAMFERING Set 3 189982 11-Nov-14 33 Surplus

1398 72260610 H.S.S.T/S REAMER Nos. 9 124333 23-Jan-17 33 Surplus

1399 72268220 H.S.S. M.T.SHANK 
PARALLEL M/C Nos. 38 92909 28-Oct-20 33 Surplus

1400 72268256 HSS PARALLEL M/C 
REAMER Nos. 7 36468 28-Oct-20 33 Surplus

1401 72550806 CUTTER FOR PROFILE 
MILLING IN Nos. 16 69457 28-Oct-20 33 Surplus

1402 72560903 2" DIA END MILL 
CUTTER KIT FOR Set 4 617686 15-Mar-16 33 Surplus

1403 72560915 DIA 200MM 90 
DEG.ISO.FACE MILL Set 3 1705181 12-Mar-19 33 Surplus

1404 72561002 5" dia end mill cutter kit Set 4 281002 28-Jan-17 33 Surplus

1405 72561105 GANG MILLING 
CUTTER FOR TOP DE Set 1 994162 22-Jul-16 33 Surplus

1406 72561154 CHAMFERING CUTTER 
KIT FOR AIR Set 3 456750 24-Oct-13 33 Surplus

1407 72561166 PROFILE MILLING 
CUTTER KIT FOR Set 4 991700 8-Jun-15 33 Surplus

1408 72561178 BORING CUTTER KIT 
FOR AIR BOX Set 3 886200 26-Sep-16 33 Surplus

1409 72561180 KNOB MILLING 
CUTTER KIT FOR AI Set 1 464200 26-Sep-16 33 Surplus

1410 72837858 PROOF MACHINED 
PHASPHOROUS BRO Nos. 25 455357 19-Jun-17 33 Surplus

1411 72837883 PROOF MACHINED 
PHOSPHOROUS BRO Nos. 26 297021 26-Jun-19 33 Surplus

1412 72837895 PROOF MACHINED 
PHOSPHOROUS BRO Nos. 13 46437 21-Oct-20 33 Surplus

1413 72837901 PROOF MACHINED 
PHOSPHOROUS BRO Nos. 30 182931 16-Aug-18 33 Surplus

1414 72900544 SINGLE DIAMOND 
WELL DEFINED Nos. 54 25099 20-Apr-23 33 Surplus

1415 72900568 SINGLE DIAMOND 
WELL DEFINED Nos. 20 16996 20-Apr-23 33 Surplus

1416 72900611 SINGLE DIAMOND 
WELL DEFINED Nos. 38 14583 8-Feb-23 33 Surplus

1417 72907319 LIFTING FIXTURE 
(SMALL) Nos. 11 415217 29-Jul-20 33 Surplus

1418 72907320 SPACING GRID Nos. 9 104106 26-Mar-22 33 Surplus
1419 72907332 SPECING GRID Nos. 10 101404 26-Mar-22 33 Surplus
1420 72907344 SPACING GRID Nos. 9 72970 26-Mar-22 33 Surplus

1421 72907368 WIRE MESH 1"X1/4" 
DIA WIRE Nos. 9 69769 26-Mar-22 33 Surplus

1422 72980199 MICROBORE BRAZED 
CARTRIDGE Nos. 141 491290 25-Jul-16 33 Surplus

1423 73900011 CAP FOR CRAB BOLT Nos. 4576 77229 28-Mar-22 30 Surplus

1424 73900023 CAP FOR CYLINDER 
HEAD STUD Nos. 200 2119 18-Apr-23 30 Surplus

1425 73900035 CAP FOR M.B INTER 
STUD Nos. 1820 17447 17-Nov-22 30 Surplus

1426 74017913 SHEET EXPANDED 
METAL 1/2 IN SQM 159.703 43559 13-Jan-21 60 Surplus

1427 74050011 U: Wire Rope. Nos. 30 560615 11-Aug-21 30 Surplus

1428 74050023 Double Legged wire 
rope sling Nos. 39 92008 4-Aug-22 30 Surplus

1429 74497868 IRON DOUBLE ACTION 
SPR.HINGE6" Nos. 128 21385 22-Jun-19 30 Surplus

1430 76018477 Copper Dam Nos. 305 990139 14-Dec-17 55 Surplus

1431 76019329 DEEP PENETRATING 
ELECTRODE Nos. 1970 12885 7-Apr-23 55 Surplus

1432 76114028 AUTO MELT WIRE 4.7 
MM Kgs. 4495 1136370 24-Aug-22 55 Surplus

1433 76217980 C-39,MACHINE 
CUTTING TORCH Nos. 4 189054 15-Dec-15 55 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1434 76901907 HEAD BAND WITH 
MOUNTING DETAIL Nos. 48 23256 31-Aug-21 55 Surplus

1435 76901956 SILVER BRAZING ROD Kgs. 65.25 514636 21-Feb-19 55 Surplus

1436 77034661 ENAMEL LT 
ADMIRALTY GREY LTR 180 30373 7-Sep-21 36 Surplus

1437 77070173 PU PAINT KIT FOR 
WAP7 Set 50 1400070 18-May-21 36 Surplus

1438 77195309 THINNER LTR 40 6800 7-Feb-22 36 Surplus
1439 77296205 KNIFFING STOPPER Kgs. 19 3379 4-Apr-22 36 Surplus
1440 81032249 HOMOCARB FLUID LTR 210 40146 15-Dec-22 36 Surplus
1441 81035019 SODA ASH Kgs. 500 16563 11-Nov-21 36 Surplus
1442 81036292 SOLDER Kgs. 62.186 18103 30-Nov-20 62 Surplus
1443 81036309 SOLDER Kgs. 82.568 133100 8-May-12 62 Surplus
1444 82250947 Cover-All Nos. 1847 1236889 13-Jan-22 32 Surplus

1445 83020615
Continuous Computer 
Stationery Size: 
10"x12"x1part

THSND 40 42112 15-Jun-20 31
Surplus

1446 83020676 CONT COMPUT STY 
30.5X30.5X2PT THSND 208 205285 3-Jul-20 31 Surplus

1447 83020718 CONT COMPUT STY 
38.1X30.5X3PT THSND 65 109827 7-Jun-23 31 Surplus

1448 83020743 CONT.COMPUT STY 
38.1X30.5X1PT. THSND 105 51614 18-Nov-22 31 Surplus

1449 83020767 MATERIAL ISSUE SLIP 
(M14) THSND 202.5 246728 5-Aug-20 31 Surplus

1450 83020792 PPO STATIONERY 
10X12X1 120 GSM THSND 42 33771 3-Aug-19 31 Surplus

1451 83049265 PAPER AIRMAIL 29.7 X 
21 CMS Ream 57.75 5459 15-Jul-19 31 Surplus

1452 83050024 PRE PRINTED R/NOTE Set 8502 48892 15-Feb-19 31 Surplus

1453 83055885
GP-13 :- Second Class 
Free Pass Book Foreign 
Line

Nos. 30 1854 2-Jan-20 31
Surplus

1454 83059830 PRINTED RECEIPT 
CHALLAN IN TWO Set 1620 6585 15-May-18 31 Surplus

1455 83059842 STORES DEPARTMENT 
REJ.ADVICE Set 2967 18616 15-May-18 31

Surplus
1456 83141145 PENCIL CARPENTERT Nos. 135 403 21-Apr-22 31 Surplus
1457 83141418 PENCIL COPYING Nos. 105 155 11-Feb-23 31 Surplus

1458 83170509 ERASER FOR 
TYPEWRITER Nos. 68 139 31-Aug-22 31 Surplus

1459 84060360 WINDOW GLASS SHEET Nos. 201 17085 2-May-23 30 Surplus

1460 84060372 WINDOW GLASS 
SHEET. Nos. 188 7115 2-May-23 30 Surplus

1461 84066570 WINDOW GLASS SHEET Nos. 173 11621 2-May-23 30 Surplus

1462 84066593 WINDOW GLASS SHEET Nos. 244 5541 14-Jan-21 30 Surplus
1463 84130209 ADHESIVE HOLDTITE Nos. 39 5560 25-May-23 36 Surplus

1464 84134987 RETAINING 
COMPOUND Nos. 9 29631 19-Mar-20 36 Surplus

1465 84135049 SEALING COMPOUND, 
LOCTITE 976 LTR 2.52 37253 12-Jan-21 36

Surplus

1466 84135050 SEALING COMPOUND 
LOCTITE-11710 LTR 0.985 12389 12-Jan-21 36 Surplus

1467 86210026 MEDIAM DENSITY 
FIBRE BOARD SQM 29.7 73597 29-Oct-18 60 Surplus

1468 90120620 FLAT 125 MM HOT 
LAMINATED MT 21.788 566006 25-Sep-08 52 Surplus

1469 90127213 STEEL FLAT Kgs. 48590 3529793 1-Aug-18 52 Surplus

1470 90216787 ALLOY STEEL ROUND 
BAR Kgs. 113.92 9929 9-Mar-19 34 Surplus

1471 90350212 MS FLAT 6 X 25 MM Kgs. 171 11236 10-Dec-20 53 Surplus



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1472 90350236 MS FLAT 10 X 25 MM Kgs. 36.84 3040 20-May-23 53 Surplus
1473 90350583 MS FLAT 6 X 40 MM Kgs. 60 4489 18-Dec-18 53 Surplus
1474 90350856 MS FLAT 10 X 50 MM Kgs. 295.4 19708 12-Feb-21 53 Surplus
1475 90350868 MS FLAT 12 X 50 MM Kgs. 8782 244517 14-Jan-21 53 Surplus
1476 90351526 MS FLAT 10 X 75 MM Kgs. 7903 130016 15-Jun-12 53 Surplus
1477 90351538 MS FLAT 12 X 75 MM Kgs. 260 76664 6-Jan-10 53 Surplus

1478 90404099 MILD STEEL PLATE 
6X1250X5000 MT 14.92 1040491 31-May-21 52 Surplus

1479 90407027 MANGANESE STEEL 
PLATE SIZE MT 4.437 406891 26-Feb-19 52 Surplus

1480 90413520 M C STEEL FLAT 95 X 
16 MM Kgs. 320 94400 16-Jan-19 53 Surplus

1481 90426988 STEEL PLATE 
25X1500X2800 MM MT 10.054 328589 4-Nov-15 52 Surplus

1482 90700363 STEEL LOCK WIRE 16 
SWG Kgs. 202.189 19423 14-Sep-21 60 Surplus

1483 90726121 RD BAR MC/HR/OH 
NORM-50 MM DIA Kgs. 140 8374 15-Nov-06 34 Surplus

1484 90726340 BRIGHT STEEL ROUND 
BAR 28 MM Kgs. 70.154 11561 3-Dec-20 34 Surplus

1485 90742333 BARS HEX 65.53 MM AF Kgs. 273.5 47593 5-Aug-11 53 Surplus

1486 90743120 STAINLESS HEX BAR 
22.23 MM A/F Kgs. 606 151259 12-Jun-14 34 Surplus

1487 90745814 ROUND HR/MC 1 IN 
DIA Kgs. 163 13522 3-Mar-05 34 Surplus

1488 90811112 STAINLESS STEEL 
ROUND BAR 25MM Kgs. 281 234452 10-Aug-18 34 Surplus

1489 90829384 SPRING STEEL FLAT 6 
X 90 MM Kgs. 974.84 37831 26-Nov-21 53 Surplus

1490 90981212 SQUARE BAR 40 MM Kgs. 2428.61 65832 16-Feb-23 34 Surplus

1491 90981534 MC HEX BAR 14.28 MM Kgs. 13846 105507 31-May-11 34 Surplus

1492 90983014 MS ROUND BAR 16 MM 
DIA Kgs. 222.255 15876 19-Dec-18 53 Surplus

1493 90983129 MS ROUND BAR 18 MM 
DIA Kgs. 60 6453 5-Oct-18 53 Surplus

1494 90984158 ALLOY STEEL BAR 45 
MM DIA Kgs. 1392.23 38843 5-Oct-21 53 Surplus

1495 90984535 STAINLESS STEEL RD 
BAR 56 MM Kgs. 54.1 21745 18-Feb-13 34 Surplus

1496 90988528 STAINLESS STEEL 
ROUND BAR 25MM Kgs. 82.18 68567 2-May-16 34 Surplus

1497 90988814 ALLOY STEEL ROUND 
BAR 45 MM DIA Kgs. 4729.82 536631 2-Sep-20 53 Surplus

1498 90989090 BRIGHT STEEL ROUND 
BAR 32 MM Kgs. 73.617 13921 5-Apr-22 34 Surplus

1499 91050431 ROUNDS BRASS 50MM Kgs. 820.5 309287 28-Dec-15 60 Surplus

1500 91104762 COPPER STRIP 
1.1/2"X1/4" Kgs. 393 -35008 5-Jun-12 62 Surplus

1501 91140020 SILVER BRAZING FOIL Kgs. 1.15 101331 23-Jul-20 60 Surplus

1502 93120412 ANGLE ALUMINIUM 
50X25X3MM Kgs. 914.2 145539 22-May-15 60 Surplus

1503 93250101
WOODEN BOX FOR 
ENCASING01 NO. 
CLUTCH DRIVES

Nos. 10 18730 9-May-23 30
Surplus

1504 10021267 MAIN BASE 
MACHINING Nos. 4 1033200 10-Jun-24 39 Inactive

1505 10021498 MAIN BASE MACHINED 
(WITHOUT DR Nos. 15 2783650 4-Aug-23 39

Inactive
1506 10031662 3RV Cylinder Liner Kit Set 16 487144 21-Mar-24 35 Inactive

1507 10050700 FUEL INJUCTION 
NOZZLE HOLDER Nos. 1 3206 11-Jun-24 54 Inactive

1508 10051582 BOWEL GEAR & 
PINION GEAR Nos. 265 917604 18-Aug-23 54 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1509 10052331 LONG LIFE SEC.FUEL 
FILTER Nos. 2 4513 18-Aug-23 54 Inactive

1510 10060510 7/8" TUBE Nos. 30 69258 13-Jun-24 54 Inactive
1511 10065179 PLEATED PAPER Nos. 4 1387 12-Aug-23 56 Inactive
1512 10071192 DEARATOR INSTALL Set 5 39200 22-Dec-23 54 Inactive

1513 10080168 EXHAUST MANIFOLD 
BRACE ASSY Nos. 10 164795 13-Apr-24 41 Inactive

1514 10080338 WELDING ASSLY Nos. 18 112778 13-Jun-24 54 Inactive

1515 10083510 ALTERNATOR AIR 
DUCT (BOTTOM) Nos. 38 117116 22-May-24 54 Inactive

1516 10083996 EXHAUST MANIFOLD 
ASSY FOR SING Nos. 3 956875 17-Apr-24 54 Inactive

1517 10120221 BRANCH PIPE(WATER 
OUTLET HDR) Nos. 146 125981 18-Aug-23 35

Inactive

1518 10120294
AIR 
ELBOW(CYL.BLOCK TO 
CYL. HD

Nos. 95 91712 15-May-24 35
Inactive

1519 10120531 COVER L.O FILTER 
AND STRAINER Nos. 48 63743 5-Aug-23 35 Inactive

1520 10120695 STRONG BACK FINISH Nos. 214 92749 3-May-24 35 Inactive

1521 10120725 LINER SLEEVE LOWER 
END Nos. 12 13056 14-Jun-24 54 Inactive

1522 10121341
CASING VIB 
DAMP.CAM SHAFT 
CAST

Nos. 13 26554 30-Jan-24 35
Inactive

1523 10121353 COVER CAM SHAFT 
GEAR (CAST) Nos. 3 11559 18-Jun-24 35 Inactive

1524 10121365 BRACKET CAST Nos. 30 27362 5-Aug-23 35 Inactive

1525 10121389 COVER CONTROL 
SHAFT COMT. CAST Nos. 61 17648 10-Aug-23 35 Inactive

1526 10121547 WATER PIPE CAST Nos. 6 15035 12-Jun-24 35 Inactive
1527 10121651 WING NUT /CAST Nos. 12 2878 5-Aug-23 35 Inactive
1528 10121687 PIPE CAP CAST Nos. 26 6412 5-Aug-23 35 Inactive

1529 10121729 SPOOL BOTTOM/CAST Nos. 16 5880 5-Aug-23 35 Inactive

1530 10122000
GENERATOR 
MOUNTING BLOCK 
CAST

Nos. 14 67647 10-Aug-23 35
Inactive

1531 10122023 BEARING SUPPORT 
CAST Nos. 2 6835 10-Aug-23 35 Inactive

1532 10122047 HOUSING OVERSPEED 
TRIP CAST Nos. 62 93674 10-Aug-23 35

Inactive

1533 10122059 COVER HOUSING OST 
CAST Nos. 37 28079 10-Aug-23 35 Inactive

1534 10122072 BACK PLATE L.O.P. 
CAST Nos. 16 88951 14-Aug-23 35 Inactive

1535 10122084 CASING L.O.P CAST 
PROOF MC Nos. 16 113726 5-Aug-23 35 Inactive

1536 10122096 BODY/CAST Nos. 15 54288 10-Aug-23 35 Inactive
1537 10122163 PIPE CAST Nos. 3 8142 3-May-24 35 Inactive

1538 10122175 ELBOW LO COOLER TO 
BLOCK CAST Nos. 14 66043 3-May-24 35 Inactive

1539 10122187 AIR ELBOW CAST Nos. 54 53696 10-Aug-23 35 Inactive
1540 10122321 FUEL PUMP SUPPORT Nos. 79 271843 10-Aug-23 35 Inactive

1541 10122370 BEARING RETAINING 
COVER Nos. 7 3949 3-May-24 35 Inactive

1542 10122436
BRACKET-
LOWER(GEN.TO 
BASE)CAST

Nos. 18 317461 10-Aug-23 35
Inactive

1543 10122448
BRACKE-
LOWER(GEN.TO 
BASE)CAST

Nos. 27 352535 14-Aug-23 35
Inactive

1544 10122620 PIPE EXHAUST MAIN 
FOLD Nos. 5 232718 12-Jun-24 35 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1545 10122692 PIPE LUB OIL INLET Nos. 13 31709 23-Aug-23 35 Inactive

1546 10122801 AIR ELBOW (BIG) CAST Nos. 11 97573 14-Aug-23 35 Inactive

1547 10124160 STRONG BACK 
MODIFIED FINISHE Nos. 92 41085 3-May-24 35 Inactive

1548 10130305 CONTROL CABLE END 
HOUSING Nos. 20 59115 17-May-24 54 Inactive

1549 10130652 EXPLOSION 
DOOR/CAST Nos. 10 51908 31-Jan-24 35 Inactive

1550 10130706 THRUST COOLER 
(CAST) Nos. 56 16696 8-Sep-23 35 Inactive

1551 10130974 FLOATING 
BUSHING/MACHINED Nos. 31 11356 17-May-24 54 Inactive

1552 10132065 MODIFIED ELBOW 
CASTING Nos. 4 7067 14-Sep-23 35 Inactive

1553 10140219 WING NUT MAIN 
BEARING Nos. 2151 440514 23-Aug-23 35 Inactive

1554 10140232 NUT WINGED FORGING Nos. 152 22932 23-Aug-23 35 Inactive

1555 10140438 DRIVE GEAR L.O.P. [ 
FORGING ] Nos. 4 21145 23-Aug-23 35 Inactive

1556 10140475 CRANK SHAFT GEAR 
(FORGING ) Nos. 20 289508 31-Oct-23 35 Inactive

1557 10141261 EYE BOLT Nos. 11 28055 8-Sep-23 35 Inactive

1558 10141273 LIFTER EYE BOLT 
FORG. Nos. 13 20537 11-Jun-24 35 Inactive

1559 10141418 EXTENSION SHAFT Nos. 3 49560 26-Jul-23 35 Inactive

1560 10141790 MAIN CRANK SHAFT 
(BG) 16 CYL. Nos. 1 1341220 17-Apr-24 54 Inactive

1561 10143040
CAM SHAFT 
GEAR(PROOF 
MACHINED)

Nos. 32 1063371 24-Aug-23 35
Inactive

1562 10150080 CAM SHAFT BUSHING Nos. 47 17379 5-Apr-24 54 Inactive

1563 10150134 BEARING (SINTERED 
BRONZE) Nos. 73 10511 17-May-24 54 Inactive

1564 10150687 NEEDLE BEARING Nos. 4 5664 18-Aug-23 54 Inactive
1565 10160024 SPRING Nos. 6 403 17-Apr-24 54 Inactive
1566 10160073 SPRING Nos. 4 84 25-Oct-23 54 Inactive
1567 10160140 TORSION SPRING Nos. 3 3880 22-Nov-23 54 Inactive
1568 10160190 SPRING Nos. 17 2208 17-May-24 54 Inactive
1569 10170133 STAT-O-SEAL Nos. 110 9215 14-May-24 59 Inactive

1570 10170170 GASKET COVER 
SUPPORT Nos. 41 488 1-Nov-23 59 Inactive

1571 10170236 GASKET Nos. 16 873 14-May-24 59 Inactive
1572 10170248 GASKET Nos. 92 5875 2-Dec-23 59 Inactive
1573 10170509 GASKET Nos. 68 796 29-May-24 59 Inactive
1574 10170674 GASKET Nos. 54 2896 14-May-24 59 Inactive
1575 10170900 GASKET Nos. 4 170 14-May-24 59 Inactive
1576 10170935 GASKET Nos. 4 157 28-May-24 59 Inactive
1577 10171198 GASKET Nos. 2 105 28-May-24 59 Inactive
1578 10171241 O RINGS Nos. 21 454 14-May-24 59 Inactive
1579 10171307 GASKET Nos. 3 176 28-May-24 59 Inactive
1580 10171332 GASKET Nos. 1 34 4-Apr-24 59 Inactive
1581

1582 10174795 GASKET FOR AND 
COVER Nos. 9 119 17-Aug-23 59 Inactive

1583 10175921 SEALING RING Nos. 47 7082 4-Apr-24 59 Inactive

1584 10176056 KIT FOE GASKET 
(COPPER) Set 1 6490 25-Sep-23 59 Inactive

1585 10181143 SUPT GUARD RS Nos. 68 98869 24-Jun-24 54 Inactive
1586 10181155 SUPT GUARD LS Nos. 70 98734 24-Jun-24 54 Inactive

1587 10191343 LOCKING BAR 
(EXP.DOOR ON BASE) Nos. 16 26873 17-May-24 54 Inactive

1588 10191367 BAR BASE COVER Nos. 38 8161 17-May-24 54 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1589 10210817 NUT CAM SHAFT Nos. 7 16592 16-Oct-23 54 Inactive
1590 10211123 THRUST BALL Nos. 37 6364 14-Jun-24 54 Inactive
1591 10211172 PIN CAM ROLLER Nos. 2325 2012228 14-Jun-24 54 Inactive
1592 10220010 SPRING RETAINER Nos. 8 2844 16-May-24 54 Inactive
1593 10220021 LOCK NUT-5/8"-18 Nos. 2278 21558 16-May-24 54 Inactive
1594 10220161 NUT CYL. HEAD STUD Nos. 31 2084 20-Sep-23 54 Inactive

1595 10220604 BOLT(Base Cover):5/8"-
11 Nos. 144 11930 17-May-24 54 Inactive

1596 10230397 SLEEVE PUSH ROD Nos. 150 16729 2-May-24 54 Inactive
1597 10240196 ELEMENT Nos. 2 5325 25-Oct-23 54 Inactive
1598 10240287 TAPER DOWEL Nos. 5 178 24-Nov-23 49 Inactive

1599 10240470 KEY COUPLING EXT 
SHAFT Nos. 10 781 24-Jan-24 54 Inactive

1600 10240688 SHIM Nos. 7 17346 18-May-24 54 Inactive

1601 10240950 FLAXIBLE SHAFT FOR 
OST Nos. 5 7088 17-May-24 54 Inactive

1602 10244372 CENTRIFUGAL LUBE 
OIL CLEANER Nos. 15 622034 17-Apr-24 54 Inactive

1603 10244384 EXHAUST 
VALVE(INCONEL) Nos. 30 66781 24-Jun-24 54 Inactive

1604 10245649 CONNECTOR (UPPER) Nos. 8 95948 13-Jun-24 54 Inactive

1605 10245650 CONNECTOR (LOWER) Nos. 7 50381 13-Jun-24 54 Inactive
1606 10250219 INSTRUCTION PLATE Nos. 54 1370 27-Feb-24 54 Inactive
1607 10250220 1NSTRUCTION PLATE Nos. 16 440 22-May-24 54 Inactive

1608 10272770 KIT:KIT FOR NUTS(16 
Cyl), Set 20 19857 12-Oct-23 60 Inactive

1609 10272800 KIT:03(KIT FOR 
WASHER)(16 Cyl) Set 2 26000 12-Oct-23 60 Inactive

1610 10272860 KIT:06(KIT FOR 
HARDWARE) Set 28 602154 20-May-24 60 Inactive

1611 11025888 SAND BOX Nos. 4 11569 22-May-24 56 Inactive

1612 11029420 SAND BOX 
ASSLY.(WDG2) Nos. 4 11423 22-May-24 56 Inactive

1613 11034490 DRAW HEAD ASSEMBLY Nos. 86 2734588 9-Sep-23 39 Inactive
1614 11050238 PROPELLER SHAFT Nos. 3 54889 9-Dec-23 51 Inactive
1615 11055420 L.O. FILTER ASSLY. Nos. 6 143513 13-Dec-23 51 Inactive

1616 11056265 FAN DRIVE 
HORIZONTAL SHAFT Nos. 8 139095 18-May-24 56 Inactive

1617 11061200 FLEXIBLE PIPE 
COUPLING FOR 3" Nos. 67 35855 19-Aug-23 51 Inactive

1618 11065096 1.1/4" CUT OFF ANGLE 
COCK Nos. 328 284793 4-Oct-23 51 Inactive

1619 11066880 AIR MANIFOLD R.S. Nos. 8 69613 29-Sep-23 59 Inactive
1620 11068565 PIPE FITTING Nos. 6 29179 22-Aug-23 59 Inactive
1621 11068589 PIPE FITTING Nos. 4 33040 12-Sep-23 59 Inactive
1622 11071278 PIPE FITTING Nos. 3 9986 12-Apr-24 56 Inactive

1623 11103942 SHIM ( AIR 
COMPRESSOR ) Nos. 100 9461 6-Nov-23 51 Inactive

1624 11105999 RADIATOR FAN GEAR 
BOX SHIM Nos. 20 3231 9-Dec-23 51 Inactive

1625 11120526 BLOCK Nos. 106 23781 2-Nov-23 39 Inactive
1626 11120540 BLOCK Nos. 94 27967 2-Nov-23 39 Inactive
1627 11120551 BLOCK Nos. 15 6069 2-Nov-23 39 Inactive
1628 11128665 EYE BOLT TPL-0536/3 Nos. 32 9497 9-Aug-23 49 Inactive
1629 11160767 PIN Nos. 8 4192 24-Aug-23 51 Inactive
1630 11160779 PIN Nos. 12 1461 29-May-24 51 Inactive
1631 11161656 NUT FAN END Nos. 19 6484 21-May-24 49 Inactive

1632 11162041 ROD (2" Angle Relief 
Valve Spring Guide) Nos. 2 2313 25-May-24 54 Inactive

1633 11180146 FITTING Nos. 31 21143 12-Dec-23 54 Inactive
1634 11189575 M.N.SUSPENTION PIN Nos. 236 88224 22-May-24 56 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1635 11190139 KEY Nos. 12 2794 23-Dec-23 60 Inactive
1636 11190140 KEY Nos. 28 5808 8-Nov-23 60 Inactive

1637 11190152 KEY SHAFT TO COMP. 
3/4 Nos. 4 391 1-May-24 60 Inactive

1638 11230022 CAP BOLT 2" DIA Nos. 8 8629 21-Sep-23 54 Inactive
1639 11230101 CLEVIS Nos. 7 2899 29-May-24 51 Inactive
1640 11250227 BEARING HOUSING Nos. 9 68658 18-May-24 56 Inactive

1641 11250252 RADIATOR FAN HUB 
CAP Nos. 6 22756 9-Dec-23 59 Inactive

1642 11250306 60 DE ANGLE 
BKT.COUPLING 1"X1" Nos. 307 39672 29-Sep-23 59 Inactive

1643 11250318
60 ANGLE 
BKT.COUPLING 
1/2"X1/2

Nos. 70 22747 29-Sep-23 59
Inactive

1644 11270032 T.M. AIR DUCT BOOT Nos. 26 86729 3-Nov-23 59 Inactive
1645 11270287 GASKET Nos. 16 10632 12-Dec-23 59 Inactive
1646 11270457 GASKET Nos. 104 4098 24-Apr-24 59 Inactive
1647 11270550 SYNTH RUBBER RING Nos. 50 3809 13-Dec-23 59 Inactive

1648 11272697 RAW EDGE COGGED 
V.BELT B-72 Nos. 25 11539 21-Jun-24 59 Inactive

1649 11272703 FLEX DUCT 18" Nos. 8 16682 2-Aug-23 59 Inactive
1650 11273446 SIDE BEARER Nos. 12 131891 8-Nov-23 59 Inactive

1651 11275649 8INSULATION CEILING SQM 1142.191 1018187 9-Dec-23 62 Inactive
1652 11275753 WEATHER STRIP MTR 104.75 33342 20-Dec-23 59 Inactive
1653 11275868 SPRING PAD Nos. 48 36480 24-May-24 59 Inactive

1654 11276174 GASKET KIT FOR 
LOCOS ( LAS ) Set 6 18345 17-Apr-24 59 Inactive

1655 11276332 CENTER PIVOT BLOCK 
ASSLY Nos. 2 32871 11-Sep-23 56 Inactive

1656 11280451 COUPLING 3/4" Nos. 23 1175 28-Sep-23 60 Inactive

1657 11282617 COUPLING 1/2 " STYLE 
2 Nos. 10 976 4-Dec-23 59 Inactive

1658 11282630 COUPLING 3/4" STY 1 Nos. 27 2425 29-Sep-23 59 Inactive
1659 11282666 COUPLING 1" Nos. 4 447 29-Sep-23 59 Inactive
1660 11282691 COUPLING 1.1/4" Nos. 95 14119 13-Dec-23 59 Inactive

1661 11283130 REDUCER COUPLING 
1/2 IN X 3/8" Nos. 14 921 11-Dec-23 59 Inactive

1662 11283178 RED COUPLING 
3/4X1/4 IN Nos. 6 493 31-Oct-23 59 Inactive

1663 11283210 REDUCING COUPLING Nos. 3 279 29-Sep-23 59 Inactive
1664 11283269 REDUCER COUPLING Nos. 12 1209 31-Oct-23 59 Inactive
1665 11283415 REDUCER COUPLING Nos. 12 3968 29-Sep-23 59 Inactive

1666 11283531 REDUCING COUPLING 
1"X1-1/4" Nos. 8 1501 29-Sep-23 59 Inactive

1667 11284547 ELBOW 1/4 IN Nos. 27 1258 1-Nov-23 59 Inactive
1668 11284572 ELBOW 3/8 Nos. 543 35798 25-Aug-23 59 Inactive

1669 11284614 ELBOW 1/2 IN STYLE2 Nos. 971 42783 13-Dec-23 59 Inactive
1670 11284626 90DEG M I ELBOW Nos. 65 3633 29-Jan-24 54 Inactive
1671 11284699 ELBOW 1.1/4 IN Nos. 24 4310 10-Oct-23 59 Inactive
1672 11284729 ELBOW FINISH Nos. 34 11480 12-Dec-23 59 Inactive

1673 11285412 REDUCER ELBOW 1" x 
3 / 4" Nos. 66 6620 29-Sep-23 59 Inactive

1674 11287081 TEE 1/4 IN Nos. 20 1126 14-Aug-23 59 Inactive
1675 11287135 TEE 3/8"STYLE I Nos. 158 12498 4-Dec-23 59 Inactive
1676 11287226 T-1/2" NPT ISO NPT Nos. 12 1279 14-Aug-23 59 Inactive

1677 11288395 REDUCE TEE 1/2 IN X 
1/2 IN Nos. 45 5606 4-Dec-23 59 Inactive

1678 11288656 REDUCING TEE Nos. 20 4048 29-Sep-23 59 Inactive
1679 11288814 REDUCER TEE Nos. 16 7093 29-Sep-23 59 Inactive
1680 11289016 UNION SOCKET 1/4" Nos. 5761 334843 1-Nov-23 59 Inactive
1681 11289028 UNION SOCKET 3/8" Nos. 221 17010 31-Oct-23 59 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1682 11289053 UNION SOCKET 1" Nos. 49 10491 5-Oct-23 59 Inactive

1683 11289065 UNION SOCKET 1-1/4" Nos. 30 10400 7-Oct-23 59 Inactive
1684 11289211 UNION ELBOW Nos. 47 4698 3-Nov-23 59 Inactive

1685 11289235 UNION ELBOW 
1/2"x90 DEG. Nos. 40 6940 20-Dec-23 59 Inactive

1686 11289259 UNION ELBOW 1" Nos. 536 140571 20-May-24 59 Inactive
1687 11289260 UNION ELBOW 1-1/4" Nos. 321 133231 21-May-24 59 Inactive

1688 11289521 UNION TEE 1/4" ON 
OUTLET Nos. 5 815 29-Sep-23 59 Inactive

1689 11289569 UNION TEE 1/2 IN Nos. 467 101728 29-Sep-23 59 Inactive
1690 11289570 UNION TEE 3/4 IN Nos. 94 19107 24-May-24 59 Inactive
1691 11289600 UNION TEE 1" Nos. 233 90962 23-Dec-23 59 Inactive

1692 11289612 UNION TEE 1-1/4" ON 
RUN STYLE Nos. 311 136003 29-Sep-23 59 Inactive

1693 11290766 SQ.HEAD PIPE PLUG. Nos. 51 2314 16-May-24 54 Inactive

1694 11290778 PIPE PLUG 1/2 IN 
STEEL Nos. 36 588 8-Jun-24 60 Inactive

1695 11290869 SQUARE HEAD PIPE 
PLUG 1.1/2" Nos. 27 3940 26-Aug-23 60 Inactive

1696 11290882 11250392 SQ. HEAD 
PIPE PLUG 2" Nos. 52 6926 20-May-24 60 Inactive

1697 11291035 PIPE PLUG 1/4IN Nos. 77 1926 5-Oct-23 60 Inactive
1698 11291059 PIPE PLUG 3/8 IN Nos. 24 749 5-Oct-23 60 Inactive

1699 11291114 PIPE PLUG 1 IN SQ HE 
SOLID Nos. 41 1421 4-Nov-23 60 Inactive

1700 11291874 PIPE CAP Nos. 4 406 12-Dec-23 60 Inactive

1701 11304248 HEX SOCKET PIPE 
PLUG Nos. 16 608 16-May-24 54 Inactive

1702 11320760 MALE ELBOW 5/8" OD 
X 1/2" PT Nos. 87 10453 4-Oct-23 59 Inactive

1703 11325082 1/2IN DRESSER 
COUPLING Nos. 4 955 24-Apr-24 59 Inactive

1704 11325094 COUPLING 3/4" Nos. 4 1316 20-Dec-23 59 Inactive

1705 11325136 REDUCER COUPLING 2 
IN Nos. 11 3981 20-May-24 59 Inactive

1706 11325203 DRESSOR ELBOW 3/4 
IN Nos. 452 80550 20-Dec-23 59 Inactive

1707 11325227 DRESSOR ELBOW 
1.1/4 IN Nos. 10 5873 12-Dec-23 59 Inactive

1708 11325239 DRESSER FITTING 
1.1/2X90DG Nos. 93 45864 10-Apr-24 59 Inactive

1709 11325240 ELBOW 2INX90 DEG Nos. 13 9963 2-Aug-23 59 Inactive

1710 11325264 3/4IN DRESSER TEE 
STYLE65B Nos. 25 9139 11-May-24 59 Inactive

1711 11325630 FLEXIBLE PIPE 
COUPLING 5" OD Nos. 2 4691 12-Dec-23 59 Inactive

1712 11327571 HOSE ASSLY. Nos. 8 3489 20-Dec-23 59 Inactive
1713 11327625 HOSE ASSY. Nos. 4 1688 14-Dec-23 59 Inactive
1714 11327637 HOSE ASSLY. Nos. 305 122874 12-Dec-23 59 Inactive

1715 11328009 HOSE ASSLY.AIR 
BRAKE Nos. 12 5921 20-Dec-23 59 Inactive

1716 11328101 AIR HOSE ASSLY 
.WITH AIR HOSE Nos. 44 44255 30-Nov-23 59 Inactive

1717 11329166 HOSE ASSLY 50" LONG Nos. 8 4494 26-Apr-24 59 Inactive
1718 11329683 ADAPTOR 2000-4-4 Nos. 479 5748 12-Dec-23 59 Inactive
1719 11329695 ADAPTER Nos. 68 5391 4-Dec-23 59 Inactive
1720 11329749 HOSE ADAPTER Nos. 12 931 20-Dec-23 59 Inactive
1721 11329750 HOSE ADAPTER Nos. 8 2218 20-Dec-23 59 Inactive
1722 11329774 ADOPTER AEROQUIP Nos. 12 2256 18-Aug-23 54 Inactive

1723 11340058 CLAMP FOR 1" MILD 
STL.TUBE Nos. 171 14521 20-Oct-23 51 Inactive

1724 11340071 CLAMP FOR 1.1/4 
"MILD STL.PIPE Nos. 129 11270 20-Oct-23 51 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1725 11340113 CLAMP 2.1/2" MILD 
STL.TUBE Nos. 44 11850 20-Apr-24 51 Inactive

1726 11340265 UNIVERSAL CLAMP Nos. 122 2918 2-Aug-23 51 Inactive
1727 11340514 HANDLE Nos. 1295 25544 31-Jul-23 60 Inactive

1728 11342857 POP TYPE 
REVIT(Aluminium) Nos. 4565 4519 6-Dec-23 49 Inactive

1729 11360355 CONTROL AIR 
RESERVOIR ASSLY. Nos. 6 21701 16-Apr-24 56 Inactive

1730 11360471 3 WAY MAGNET VALVE 
SR-3008 Nos. 48 188688 29-Nov-23 51 Inactive

1731 11374032 MAIN RESERVOIR 
ASSLY Nos. 8 122842 5-Oct-23 56 Inactive

1732 11376533 DUPLEX CHECK VALVE 
- 3/4" Nos. 5 12868 4-Oct-23 51 Inactive

1733 11377860 MAIN RESERVOIR 
ASSLY Nos. 5 76335 5-Oct-23 56 Inactive

1734 11390050
PRESSURE 
REGULATING VALVE-
3/8"

Nos. 6 21240 6-Oct-23 59
Inactive

1735 11390104 3/8" CHECK VALVE. ( 
TYPE-I ) Nos. 2 4899 13-May-24 51 Inactive

1736 11390130 1.1/4" CHECK VALVE Nos. 11 12568 4-Oct-23 51 Inactive

1737 11390153 DOUBLE CHECK VALVE 
24-A.3/8" Nos. 3 2058 7-Nov-23 51 Inactive

1738 11390177 GLOBE VALVE-3/4" 
(SL.NO.-2) Nos. 6 18362 5-Dec-23 51 Inactive

1739 11390189 GLOBE VALVE.1-1/4" 
(SL.NO.-1) Nos. 6 64486 25-May-24 59 Inactive

1740 11390219 THREE WAY COCK 
BALL TYPE Nos. 27 68645 9-Dec-23 51 Inactive

1741 11397007 CUT OUT COCK 1/4" 
BALL TYPE Nos. 12 5617 7-Nov-23 51 Inactive

1742 11397020 CUT OUT COCK 3/8" 
BALL TYPE Nos. 68 29620 23-Dec-23 51 Inactive

1743 11397032 CUT OUT COCK BALL 
TYPE Nos. 42 18219 29-Nov-23 51 Inactive

1744 11397044 CUT OUT COCK 1/2" 
BALL TYPE Nos. 67 61133 7-Nov-23 51 Inactive

1745 11397068 CUT OUT COCK 3/4" 
BALL TYPE Nos. 3 2245 23-Dec-23 51 Inactive

1746 11397081 CUT OUT COCK- 1" 
BALL TYPE Nos. 9 18054 4-Oct-23 51 Inactive

1747 11397202 NON RETURN VALVE Nos. 161 110151 25-May-24 56 Inactive
1748 11400055 BALL BEARING Nos. 12 32740 20-May-24 59 Inactive

1749 11410036 OUTER COIL 
M.T.SPRING Nos. 5 43088 27-Sep-23 56 Inactive

1750 11410048 INNER COIL MT 
SPRING Nos. 64 293158 27-Sep-23 56 Inactive

1751 11410115 SPRING COMPRESSION Nos. 17 12455 9-Nov-23 51 Inactive

1752 11410190 SPRING RELIEF VALVE 
LUBE OIL Nos. 7 4631 24-May-24 51 Inactive

1753 11420054 FAST COUPLING 
COMPRESSOR Nos. 1 18514 18-May-24 51 Inactive

1754 11420066 SPECIAL COUPLING Nos. 2 66676 18-May-24 51 Inactive

1755 11420091 RADIATOR FAN ASSLY. Nos. 2 79198 13-Apr-24 39 Inactive
1756 11420170 SAND CONVEYER Nos. 16 10714 25-May-24 51 Inactive

1757 11434466 TRACTION MOTOR 
BLOWER FRONT Nos. 3 73927 4-Dec-23 39 Inactive

1758 11440302 STRAINER Nos. 20 58689 29-Nov-23 51 Inactive
1759 11440314 CHOKE FITTING 5/16" Nos. 68 7114 4-Oct-23 51 Inactive
1760 11440399 THERMOMETER Nos. 2 534 8-Jun-24 59 Inactive
1761 11440430 STEEL BALL Nos. 23 12647 9-Nov-23 51 Inactive

1762 11440478 FITTING 3/8" ODX1/4" 
PIPE Nos. 31 10938 29-May-24 51 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1763 11445555 4"CONTROL AIR GAUGE Nos. 6 19116 7-Nov-23 51 Inactive
1764 11445889 WINDOW GLASS Nos. 15 18582 18-Nov-23 51 Inactive

1765 11453310 FLEXIBLE PIPE 
COUPLING 3" 4 BO Nos. 4 5664 17-Apr-24 59 Inactive

1766 11453631 TUBE BEND 3"NBX90 
DEG. Nos. 1026 340343 28-Sep-23 35 Inactive

1767 11454118 SAND HOSE ASSLY. Nos. 326 129080 26-Apr-24 59 Inactive
1768 11454222 STOPPER BOTTOM Nos. 12 45881 21-Sep-23 56 Inactive

1769 11457260 PLATE TYPE LUBE OIL 
COOLER Nos. 2 230858 9-Dec-23 51 Inactive

1770 11458010 ENGINE INERTIAL 
PRIMARY FILTER Nos. 6 450932 21-Dec-23 56 Inactive

1771 11458045 FIBER GLASS FILTER Nos. 17 144513 21-Dec-23 56 Inactive

1772 11458069 DUST COLLECTOR & 
EXTRACTION PI Nos. 3 24227 21-Dec-23 56 Inactive

1773 11458562 WINDOW VISOR Nos. 26 20740 6-Nov-23 51 Inactive

1774 11459803 PRESSURE SWITCH (P-
2) RT-116X Nos. 4 11355 19-Apr-24 51 Inactive

1775 11459888 DOUBLE FERRULE 
FITTINGS KIT Set 1 21000 28-May-24 56 Inactive

1776 11487501 3CD AIR COMPRESSOR Nos. 1 551709 27-May-24 39 Inactive

1777 11520334 KIT FOR BRAKE 
RIGGING Set 2 719243 30-Apr-24 56 Inactive

1778 11543413 Cab Structure asm. Nos. 6 1435210 2-May-24 39 Inactive
1779 11543541 Long Hood asm. Nos. 2 726983 8-Jun-24 39 Inactive

1780 11547960 DUST EXTRACTION 
PIPING. Nos. 6 41202 21-Dec-23 56 Inactive

1781 11563163 HOSE ASSLY. Nos. 54 23107 8-Jun-24 59 Inactive
1782 11566759 HOSE ASSLY. Nos. 6 3865 12-Apr-24 59 Inactive

1783 11569037 PRIMARY FUEL OIL 
FILTER Nos. 2 16648 29-Nov-23 56 Inactive

1784 11660661 90DEG ELBOW UNION 
1/2"OD X 1/2 Nos. 949 192837 25-Aug-23 59 Inactive

1785 11663080 BEND ELBOW 
1.1/4"X90 DEGREE Nos. 33 4258 28-Sep-23 51 Inactive

1786 11663108 BEND ELBOW 2" X 90" Nos. 255 26486 12-Oct-23 59 Inactive

1787 11663121 SANDING MAGNET 
VAVLE WITH BRAC Nos. 12 51660 4-Oct-23 51 Inactive

1788 11663431 FUEL TRAP ASSLY Nos. 4 29736 29-Nov-23 39 Inactive

1789 11663455 ADOPTER 3/4"-14 x 1-
1/16"-14 Nos. 2 1869 11-Dec-23 54 Inactive

1790 11663637 PIPE REDUCER Nos. 2 11133 28-Sep-23 54 Inactive

1791 11663716 HIGH CAPACITY 1/2" 
REGULATING Nos. 2 13928 29-Nov-23 51 Inactive

1792 11663728 HIGH CAPACITY 
3/8"RELIEF VALVE Nos. 6 32140 5-Dec-23 51 Inactive

1793 11664253 AIR FILTER ASSLY. Nos. 16 298197 5-Oct-23 56 Inactive
1794 11664265 AIR WHISTLE ASSLY Nos. 12 152874 21-Dec-23 56 Inactive

1795 11664277 CEILING PERFORATED 
SHEET Nos. 139 114486 12-Dec-23 60 Inactive

1796 11664733 KIT FOR IRAB-1 
PANEN MOUNTED Set 4 3398400 28-May-24 56 Inactive

1797 11665312 Dust Collector 
Blower(RH) Nos. 8 470820 18-Oct-23 56 Inactive

1798 11665324 DUST COLLECTOR 
BLOWER (LH) Nos. 10 604050 18-Oct-23 56 Inactive

1799 11665336 ARM REST ASSLY Nos. 14 109972 8-Dec-23 60 Inactive

1800 11665660 VERTICAL HYDRAULIC 
DAMPER Nos. 36 327365 22-May-24 56 Inactive

1801 11665671 LATERAL HYDRAULIC 
DAMPER Nos. 8 73948 21-Dec-23 56 Inactive

1802 11665725 HOSE ASSLY.FOR FUEL 
OIL GAUGE Nos. 56 40437 2-Nov-23 59 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1803 11665830 CARBODY FILTER Nos. 11 957762 21-Dec-23 56 Inactive

1804 11666316 Single Ferrule Ermetto 
FITTING Set 30 204886 10-Apr-24 59 Inactive

1805 11667930 KIT FOR DEARATOR 
BRACKET Set 9 45476 21-Dec-23 56 Inactive

1806 11668647 KIT FOR CLAMP FOR 
L.A.S. Set 4 65011 25-Apr-24 51 Inactive

1807 11668799 WIPER APPLICATION 
KIT Set 10 495799 28-May-24 56 Inactive

1808 11669160 MODIFIED HAND 
BRAKE Nos. 8 69033 31-Oct-23 51 Inactive

1809 11810713 FILTER CASING ARRGT. Nos. 2 114107 21-Dec-23 56 Inactive
1810 11811699 Side Sash Assly. LH Nos. 17 256643 4-May-24 56 Inactive
1811 11811717 DRIVER SEAT ASM Nos. 15 191639 16-May-24 60 Inactive

1812 12080354 TRACTION MOTOR 
WITH PINION Nos. 25 59595900 22-Mar-24 39 Inactive

1813 12087841 GEAR CASE ASSLY. Nos. 41 1008195 22-May-24 39 Inactive

1814 12130229 MASTER CONTROLLER Nos. 8 2713632 11-Oct-23 50 Inactive

1815 12141082 BATTERY CUTOUT 
SWITCH Nos. 5 23457 21-Aug-23 50 Inactive

1816 12191450 ELECTRONIC SPEED 
RECORDER/INDI Set 5 1093930 9-Nov-23 50 Inactive

1817 12202423 AUTO CREEP CONTROL Nos. 8 3209279 11-Oct-23 50 Inactive

1818 12330772 ELECTRON BEAM 
CABLE SIZE 1.5 M MTR 4071.386 155297 24-Aug-23 62 Inactive

1819 12330814 ELECTRON BEAM 
CABLE SIZE 95 MM MTR 1425.028 1568961 26-Aug-23 62 Inactive

1820 12330826 ELECTRON BEAM 
CABLE SIZE 240 M MTR 1189 3405857 24-Aug-23 62 Inactive

1821 12340431 LUG TERMINAL Nos. 28 2596 5-Aug-23 62 Inactive
1822 12346720 LUG TERMINAL Nos. 690 153620 20-Sep-23 62 Inactive
1823 12346974 LUG TERMINAL Nos. 720 51385 3-Aug-23 62 Inactive
1824 12346986 LUG TERMINAL Nos. 102 10537 3-Aug-23 62 Inactive
1825 12347024 LUG TERMINAL Nos. 240 51572 20-Sep-23 62 Inactive

1826 12347073 WIRE TERMINALS 1.5 
MM SQR Nos. 135 378 4-Aug-23 50 Inactive

1827 12347097 WIRE TERMINALS 1.5 
MM SQR Nos. 1837 5361 4-Aug-23 50 Inactive

1828 12347190 WIRE TERMINALS 3.0 
MM SQR Nos. 24 104 5-Aug-23 50 Inactive

1829 12350485 TERMINAL BOARD 12 
POINT Nos. 18 3794 16-Sep-23 50 Inactive

1830 12360685 METAL CLAD SOCKET Nos. 26 9009 14-Aug-23 62 Inactive
1831 12364022 LAMP 50W/75V Nos. 60 2919 10-Oct-23 62 Inactive
1832 12365051 HAND LAMP ASSY Nos. 25 40512 13-Jun-24 62 Inactive

1833 12470016 GUARD BATTERY 
SWITCH Nos. 11 24478 14-Aug-23 62 Inactive

1834 12470030 FERRULE 2 IN Nos. 89 4335 3-Aug-23 62 Inactive

1835 12479652 ASSLY. OF CONN. & 
BUSH COVER Nos. 1109 1156561 14-Aug-23 62 Inactive

1836 12515012 FLEX.COND.3/4" MTR 40.54 1872 3-Aug-23 62 Inactive
1837 12516016 FLEXIBLE CONDUIT MTR 56.168 6308 14-Aug-23 62 Inactive

1838 12519017 FLEX CONDUIT 2"BS-
731 MTR 30 6056 14-Aug-23 62 Inactive

1839 12520550 P.C.F. CONDUIT & 
FITTING KIT Set 4 42480 14-Aug-23 62 Inactive

1840 12520561 P.C.F. CONDUIT & 
FITTING KIT Set 0.23 122 14-Aug-23 62 Inactive

1841 12520573 COND.FITTING KIT Set 3 60000 14-Aug-23 62 Inactive
1842 12520585 CABLE CLEAT KIT Set 6 102828 20-Sep-23 62 Inactive
1843 12520597 COND.FITTING KIT Set 39 119171 14-Aug-23 62 Inactive
1844 12520603 COND.FITTING KIT Set 6 18007 14-Aug-23 62 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1845 12520615 COND.FITTING KIT 
(MALLEABLE C. Set 15 139064 10-Oct-23 62 Inactive

1846 12520627 COND.FITTING KIT Set 23 74652 14-Aug-23 62 Inactive

1847 12523483 CONNECTION BOX 
COMPLETE Nos. 7 5370 14-Aug-23 62 Inactive

1848 12523495 CONNECTION BOX 
COMPLETE Nos. 17 8379 3-Aug-23 62 Inactive

1849 12545065 GROMMET Nos. 458 6044 14-Aug-23 62 Inactive
1850
1851 12650020 DB FAN MOTOR ASM Set 2 1456063 25-Oct-23 50 Inactive

1852 12654176 HEAT SHRINKABLE 
TUBE Nos. 120 12485 3-Aug-23 62 Inactive

1853 12664492 ELECTRONIC NOTE 
BOOK Nos. 4 309867 7-May-24 50 Inactive

1854 12841055 ACES WITH APU Nos. 10 11251153 11-Oct-23 50 Inactive

1855 15010193 H H CAP SCREW 3/4"-
10X2 1/2" Nos. 82 3916 15-Apr-24 49 Inactive

1856 15010247 H.H CAPSCREW 3/4"-
10X3 3/4" Nos. 261 12118 29-May-24 49 Inactive

1857 15010296 SPECIAL CAP SCREW 
5/8"-11X5" Nos. 48 2976 18-May-24 49 Inactive

1858 15013054 HEX HD CAP SCREW 
1/4"-20X1/2" Nos. 837 1523 16-Aug-23 49 Inactive

1859 15013170 H H CAP SCREW 1/4"-
20X2" Nos. 133 207 31-Jul-23 49 Inactive

1860 15015210 HEX HD CAP SCREW 
3/8"-16X3" Nos. 128 11627 9-Oct-23 49 Inactive

1861 15018131 CAP SCREW 3/4"-10 X 
1 1/2" Nos. 156 2471 22-Sep-23 49 Inactive

1862 15019135 H.H. CAP SCREW 7/8"-
09X1 1/2" Nos. 60 5049 15-Apr-24 49 Inactive

1863 15029098 HEX HEAD CAP SCREW 
1/4"-20X1" Nos. 400 740 19-Apr-24 49 Inactive

1864 15031070 HEX HD CAP SCREW 
3/8"-16X3/4" Nos. 1596 5618 18-May-24 49 Inactive

1865 15031111 H.H CAP SCREW 3/8"-
16X1 1/4" Nos. 1707 4506 23-Apr-24 49 Inactive

1866 15031135 H H CAP SCREW3/8"-
16X1 1/2" Nos. 1270 4496 15-Apr-24 49 Inactive

1867 15031159 H H CAP SCREW 3/8"-
16X1 3/4" Nos. 248 560 18-May-24 49 Inactive

1868 15031172 H H CAP SCREW 3/8"-
16X2" Nos. 794 4026 17-Nov-23 49 Inactive

1869 15031275 HEX HEAD BOLT 3/8"-
16X4.1/2" Nos. 46 1357 9-Oct-23 49 Inactive

1870 15031378 CAP SCREW 3/8"-16X7" Nos. 58 6115 18-May-24 49 Inactive

1871 15032073 H H CAP SCREW 1/2"-
13X3/4" Nos. 11790 42798 2-Aug-23 49 Inactive

1872 15032097 H H CAP SCREW 1/2"-
13X1" Nos. 165 1363 22-Sep-23 49 Inactive

1873 15032152 H H CAP SCREW1/2"-
13X1 3/4" Nos. 564 6052 6-Nov-23 48 Inactive

1874 15032206 H H CAP SCREW 1/2"-
13X2 3/4" Nos. 82 940 24-Aug-23 49 Inactive

1875 15039171 H H CAP SCREW 7/8"-
9X2" Nos. 342 35387 29-Jul-23 49 Inactive

1876 15040252 HEX BOLT (CAP 
SCREW) 1"-8 X 4" Nos. 8210 515886 8-Dec-23 58 Inactive

1877 15058074 HEX HEAD CAP SCREW 
1/4"-20X3/4 Nos. 6003 4442 31-Jul-23 49 Inactive

1878 15058116 H.H.CAP SCREW 1/4"-
20X1.1/4" Nos. 85 83 17-Aug-23 49 Inactive

1879 15059054 HEX HD CAP 
SCREW5/16"-18X1/2" Nos. 508 4719 18-May-24 49 Inactive

1880 15059133 H H CAP SCREW 5/16"-
18X1.1/2" Nos. 274 863 16-Aug-23 49 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1881 15059212 H.H.CAP SCREW 5/16"-
18X3" Nos. 53 751 9-Dec-23 58 Inactive

1882 15060196 H H CAP SCREW 3/8"-
16X2 1/2" Nos. 126 480 9-Oct-23 49 Inactive

1883 15060238 H H CAP SCREW 3/8"-
16X3.1/2" Nos. 440 2094 6-Nov-23 49 Inactive

1884 15063173 H.H. CAP SCREW 3/4"-
10x2" Nos. 619 20347 15-Apr-24 49 Inactive

1885 15065236 H.H.CAP SCREW 1"-
8X3.1/2" Nos. 366 26957 9-Sep-23 58 Inactive

1886 15065248 H H BOLT 1"-8X3.3/4" Nos. 60 7719 22-Sep-23 49 Inactive

1887 15090097 H H CAP SCREW 5/8"-
11X1" Nos. 224 1978 17-Apr-24 49 Inactive

1888 15090115 H H CAP SCREW 5/8"-
11X1 1/4" Nos. 3837 35109 21-May-24 48 Inactive

1889 15090139 H H CAP SCREW 5/8"-
11X1.1/2" Nos. 1028 12439 17-Apr-24 48 Inactive

1890 15090176 H H CAP SCREW 5/8"-
11X2" Nos. 331 6777 12-Oct-23 49 Inactive

1891 15090188 H.H.CAP SCREW 5/8"-
11X2 1/4" Nos. 2081 23682 31-Jul-23 49 Inactive

1892 15090190 H H CAP SCREW 5/8"-
11X2 1/2" Nos. 15865 268594 9-Oct-23 48 Inactive

1893 15090218 H.H.CAP SCREW 5/8"-
11X3" Nos. 1504 32471 16-Oct-23 48 Inactive

1894 15096683 REAM BOLT 5/8"-11X3 
5/8" Nos. 61 16930 29-May-24 49 Inactive

1895 15100091 H.H CAP SCREW-5/16"-
24X1" Nos. 65 2813 6-Feb-24 49 Inactive

1896 15100261 BOLT 1 1/2X5" ENC Nos. 2865 3639 10-Aug-23 48 Inactive

1897 15100388 HEX HD.CAP 
SCREW:M24X3X130 LG Nos. 28 6757 21-May-24 49

Inactive

1898 15100534 HEX HD.CAP 
SCREW:M8X1.25X20 LG Nos. 98 463 17-Oct-23 58

Inactive
1899 15153071 M/C SCREW FL HD Nos. 6361 3880 17-May-24 49 Inactive

1900 15159073 M/C SCREW RD HD-
1/4" Nos. 7803 4136 16-Aug-23 49 Inactive

1901 15162072 MACHINE SCREW RD 
HEAD SLOTTED Nos. 5880 4118 16-Aug-23 58 Inactive

1902 15174037 MACHINE SCREW RD 
HEAD SLOTTED Nos. 720 496 18-Aug-23 58 Inactive

1903 15174050 M/C SC RD HD 
10(.190)"-24X1/2 Nos. 4322 1645 18-Aug-23 58 Inactive

1904 15176071 MACHINE SCREW RD 
HEAD SLOTTED Nos. 688 310 18-Aug-23 58 Inactive

1905 15190092 M/C SCREW RD HD 6-
32X3/4" Nos. 3004 3695 16-Aug-23 49 Inactive

1906 15205071 SELF TAPPING SCREW 
RD HD SLOTT Nos. 241 566 15-Apr-24 49

Inactive

1907 15213110 SELF TAPPING SCREW Nos. 462 25872 4-Nov-23 58 Inactive
1908 15220059 SELT TAPING SCREW Nos. 4844 3633 27-Sep-23 48 Inactive

1909 15230119 WOOD SCREW NO.8 
X1.1/4" Nos. 2328 2002 11-Dec-23 49 Inactive

1910 15262017 PK DRIVE HDS 0.57 187 24-Aug-23 49 Inactive

1911 15281097 STR.DOWEL(STEEL):1/
8"X1" Nos. 14 763 18-May-24 49 Inactive

1912 15283136 STR.DOWEL(STEEL):1/
4"X1.1/2" Nos. 30 556 17-Aug-23 49 Inactive

1913 15284189 STR.DOWEL(STEEL):5/
16"X2.1/4" Nos. 11 317 17-May-24 49 Inactive

1914 15285091 STRAIGHT 
DOWEL(STEEL):3/8"X1" Nos. 140 1723 10-Nov-23 49

Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1915 15292174 STRAIGHT DOWEL: 
5/8" X 2" Nos. 1 28 2-Nov-23 49 Inactive

1916 15299156 TAPER PIN SLOTTED-
0.289X1.3/4" Nos. 628 6531 17-Aug-23 49 Inactive

1917 15299211 TAPER PIN SLOTTED-
0.289 X 3"LG Nos. 6 62 18-May-24 49 Inactive

1918 15320066 COTTER PIN-1/16" X 
5/8" Nos. 19 23 18-May-24 49 Inactive

1919 15322210 COTTER 3/16" X 3" Nos. 738 583 15-Apr-24 48 Inactive

1920 15326196 COTTER 5/16" X 2.1/2 Nos. 100 34 30-Aug-23 49 Inactive

1921 15329112 COTTER PIN-1/8" X 
1.1/4" Nos. 25 24 24-Nov-23 49 Inactive

1922 15330175 ROLL PIN-0.375" X 2 
1/4"LG Nos. 116 2435 22-Sep-23 49 Inactive

1923 15330229 SPIROL PIN- 1/4"DIA X 
3/4" Nos. 176 2307 26-Sep-23 49 Inactive

1924 15330266 SPIRAL PINS- 1/2" X 
1"LG Nos. 1338 33370 29-Sep-23 49 Inactive

1925 15330345 WOOD SCREW PL.FL 
HD NO.11X11/2 Nos. 1887 9775 6-Dec-23 49 Inactive

1926 15330370 LOCK WIRE 14 SWG Kgs. 337.522 98297 25-May-24 54 Inactive

1927 15330692 COTTER PIN-1/4" X 3" Nos. 19 143 30-Oct-23 49 Inactive

1928 15331556 COTTER PIN-2.5MM 
X14 MM LG. Nos. 296 491 8-Jun-24 48 Inactive

1929 15345075 BIFURCATED RIVET-
4MMX16MM Nos. 514 1383 20-Apr-24 48 Inactive

1930 15345208 RETAINING RING-
External Nos. 1 79 25-Oct-23 54 Inactive

1931 15350204 PLAIN HEX NUT: 7/8"-9 Nos. 324 7248 29-Jul-23 49 Inactive
1932 15350228 PLAIN HEX NUT- 1"-8 Nos. 5453 87139 8-Dec-23 48 Inactive
1933 15355147 HEX NUT: 1/2"-20 Nos. 43 553 2-Nov-23 49 Inactive

1934 15363168 ELASTIC STOP NUT: 
5/8"-11 Nos. 311 1910 12-Aug-23 49 Inactive

1935 15366108 PLAIN HEX NUT: 1/4"-
20 Nos. 2315 1065 16-Aug-23 49 Inactive

1936 15369067 PLAIN HEX 
NUT:6(.138)-32 Nos. 15868 3015 17-Aug-23 48 Inactive

1937 15369080 PLAIN HEX 
NUT:10(.194)-24 Nos. 1608 8233 16-Aug-23 49 Inactive

1938 15373125 ACOM NUT-3/8"-16 Nos. 48 1194 18-May-24 49 Inactive

1939 15375109 SQUARE & ROUND 
NUT- 1/4"-20 Nos. 10498 8608 29-Jul-23 49 Inactive

1940 15375110 SQUARE & ROUND 
NUT: 5/16"-18 Nos. 14543 20215 11-Aug-23 49 Inactive

1941 15375122 SQUARE & ROUND 
NUT: 3/8"-16 Nos. 950 2271 29-Jul-23 49 Inactive

1942 15380087 FLEX LOCK NUT- 3/8"-
24 Nos. 1 55 17-May-24 49 Inactive

1943 15380105 HUG LOCK NUT: 3/4"-
10 Nos. 308 14103 29-May-24 49 Inactive

1944 15380210 LOCK NUT 3/4 Nos. 2908 10818 16-Aug-23 49 Inactive
1945 15380555 LOCK NUT 1" Nos. 281 15272 16-Aug-23 49 Inactive

1946 15380804 HEX.NUT:M-24 X 3 X 
8H Nos. 86 4083 21-May-24 49 Inactive

1947 15390202 PLAIN WASHER 7/8" Nos. 270 821 15-Apr-24 49 Inactive

1948 15390238 PLAIN WASHER 1.1/8" Nos. 267 1306 15-Apr-24 49 Inactive

1949 15390240 PLAIN WASHER 1-1/4" Nos. 24 221 15-Apr-24 49 Inactive

1950 15390251 PLAIN WASHER 1 3/8" Nos. 103 437 29-Jul-23 49 Inactive

1951 15391085 PLAIN WASHER NO 10 Nos. 4905 392 16-Aug-23 49 Inactive
1952 15391103 PLAIN WASHER 1/4" Nos. 258 67 16-Aug-23 49 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1953 15391127 PLAIN WASHER 3/8" Nos. 555 222 18-May-24 49 Inactive
1954 15391164 PLAIN WASHER HDS 737 167764 18-Oct-23 49 Inactive

1955 15393227 SPRING LOCK WASHER 
1" Nos. 129 1010 13-Apr-24 49 Inactive

1956 15396060 SPRING LOCK WASHER 
NO 6 Nos. 67622 4612 18-Aug-23 58 Inactive

1957 15396083 SPRING LOCK WASHER 
# 10 Nos. 5736 1205 16-Aug-23 49 Inactive

1958 15396101 SPRING LOCK WASHER 
1/4" Nos. 3002 4413 15-Apr-24 49 Inactive

1959 15396186 SPRING LOCK WASHER 
3/4" Nos. 88392 341192 18-Apr-24 58 Inactive

1960 15410602 SPRING LOCK WASHER 
M-24 Nos. 72 3287 21-May-24 48 Inactive

1961 15660060 HEX HEAD BOLT:M16 
X 150 LG Nos. 160 16245 29-Nov-23 49 Inactive

1962 15660102 HEX HEAD BOLT-M16 
X 80 Nos. 26 1116 29-May-24 49 Inactive

1963 15669191 HIGH ST.STRC.BOLT-
M16 X 140 LG Nos. 410 15137 30-Sep-23 49 Inactive

1964 15710087 HEX HD.CAP SCREW-
M16X1.5X45 LG Nos. 67 3954 9-Dec-23 58 Inactive

1965 15713052 HEX HEAD SCREW: M-
24 X 70 Nos. 156 16182 26-Jul-23 49 Inactive

1966 15719029 HEX HEAD SCREW:M-
18 X 30 MM Nos. 164 13573 6-Nov-23 49 Inactive

1967 15719030 HEX HEAD SCREW:M-
18 X 60 LG Nos. 288 10506 6-Nov-23 49 Inactive

1968 15749022 NUT:M-18 Nos. 320 7072 19-Apr-24 49 Inactive
1969 15755095 NYLOCK NUT: M- 16 Nos. 414 3945 24-May-24 49 Inactive

1970 15790010 SPRING WASHER M-24 Nos. 30 1770 22-Sep-23 49 Inactive

1971 15790022 SPRING WASHER M-
16(TYPE-B) Nos. 1314 2181 24-May-24 49 Inactive

1972 15790101 SPRING WASHER M-
18(TYPE-B) Nos. 256 1219 19-Apr-24 49 Inactive

1973 15830032 STUD M-16 X 70 Nos. 538 8845 24-May-24 49 Inactive

1974 16020534 OIL PAN MACHINING 
ASSEMBLY Nos. 56 19728471 22-Jul-23 54 Inactive

1975 16040041 ROCKER ARM SUB ASM 
- EXHAUST Nos. 4 14776 18-Oct-23 49 Inactive

1976 16050370 TRIP PAWL BRACKET 
ASM Nos. 47 1836676 15-Nov-23 45 Inactive

1977 16070161 SEAL RETAINER 
ASSEMBLY Nos. 238 106385 1-Dec-23 45 Inactive

1978 16140096 TOP DECK SECTION 
END-FORGING Nos. 138 18698261 30-Mar-24 35 Inactive

1979 16140102 TOP DECK SECTION 
CENTRE-FORGING Nos. 133 15695615 30-Mar-24 35 Inactive

1980 16150405 BEARING OUTER Nos. 163 748384 9-Jan-24 45 Inactive
1981 16160058 SPRING Nos. 48 12221 21-Feb-24 45 Inactive
1982 16160241 SPRING Nos. 209 22278 8-Jan-24 45 Inactive
1983 16160344 SPRING Nos. 31 22124 31-Jan-24 45 Inactive
1984 16170635 GASKET Nos. 204 14938 31-Jan-24 45 Inactive
1985 16170647 SEAL Nos. 284 1005241 31-Jan-24 45 Inactive
1986 16191778 BASE RAIL Nos. 1106 34778427 6-Jun-24 54 Inactive
1987 16191791 BRACKET Nos. 2540 620851 28-Aug-23 40 Inactive
1988 16230292 PIPE 1 1/2" Nos. 240 232842 29-Jan-24 49 Inactive

1989 16230553
Pipe 
Connecting(PROOF 
MACHINED

Nos. 142 1077541 13-Sep-23 40
Inactive

1990 16230577 TUBING 1/2" OD Nos. 860 1144726 28-Aug-23 40 Inactive

1991 16240376 SLINGER WATER PUMP Nos. 79 46688 25-Nov-23 45 Inactive

1992 16240777 EXPANSION JOINT ASM Nos. 139 4876216 22-Nov-23 40 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

1993 16241526 PUMP & MOTOR 
ASSEMBLY Nos. 3 309302 21-Mar-24 45 Inactive

1994 17020232 PLATE ASM Nos. 182 408980 21-Sep-23 56 Inactive

1995 17020256 BRG ADAPTOR PLATE 
ASM Nos. 528 1797865 20-Sep-23 56 Inactive

1996 17020270 PIVOT ASM. Nos. 6 433643 18-Sep-23 48 Inactive
1997 17020347 WHEEL SANDER APL Nos. 48 418970 21-Sep-23 56 Inactive
1998 17020440 BRAKE HEAD ASM Nos. 25 58877 18-Sep-23 56 Inactive

1999 17020451 BRAKE LEVER 
BRACKET ASM Nos. 49 169876 21-Sep-23 56 Inactive

2000 17020645 SHACKLE ASM Nos. 187 194709 12-Dec-23 48 Inactive

2001 17020890 BRAKE CYLINDER ASM 
KIT. Set 54 738308 23-Sep-23 56 Inactive

2002 17021108 DAMPER BRACKET 
ASM LOWER Nos. 48 209363 20-Sep-23 37 Inactive

2003 17021182 BRAKE RIGGING KIT Set 2 484287 18-Sep-23 56 Inactive

2004 17021492 FABRICATED BOGIE 
FRAME ASM. Set 2 2537000 25-Sep-23 39 Inactive

2005 17021900 BRG. ADAPTER SPACER Nos. 48 56073 20-Sep-23 37 Inactive

2006 17022708 PAD ASM-LAT THRUST Nos. 20 90323 22-Sep-23 45 Inactive
2007 17030833 CLAMP ASM Nos. 1414 117503 6-Oct-23 48 Inactive
2008 17031655 CLAMP ASM. Nos. 883 83341 22-Aug-23 48 Inactive
2009 17031874 SHACKLE ASM. Nos. 435 537234 22-Aug-23 48 Inactive

2010 17031904 T.M. AIR DUCT ASSLY. Nos. 81 2783735 12-Oct-23 47 Inactive

2011 17036800 FUEL TANK 
ASSEMBLY(6000LTR) Nos. 1 443090 18-Aug-23 39 Inactive

2012 17036963 SET OF CATTLE 
GUARD ASM Set 1 75520 18-Aug-23 39 Inactive

2013 17041983 LONG HOOD 
STRUCTURE ASSEMBLY Nos. 1 654679 20-Oct-23 39

Inactive
2014 17042458 TUBE ASM Nos. 29 8048 30-Sep-23 60 Inactive
2015 17042495 TUBE ASSEMBLY Nos. 52 15589 30-Sep-23 60 Inactive
2016 17042501 TUBE ASM Nos. 140 31142 30-Sep-23 60 Inactive
2017 17042525 TUBE ASSMLY. Nos. 120 35903 30-Sep-23 60 Inactive
2018 17042550 TUBE ASM Nos. 1 767 27-Sep-23 49 Inactive
2019 17042689 CLIP ASM. Nos. 840 85784 8-Jan-24 47 Inactive
2020 17043128 SHEET ASM Nos. 1 15576 29-Dec-23 47 Inactive
2021 17043130 SHEET ASM Nos. 355 281067 29-Dec-23 47 Inactive
2022 17043141 SHEET ASM Nos. 489 410178 29-Dec-23 47 Inactive
2023 17043153 SHEET ASM Nos. 392 214637 29-Dec-23 47 Inactive
2024 17043165 SHEET ASM Nos. 379 188567 29-Dec-23 47 Inactive
2025 17043177 SHEET ASM Nos. 366 36925 29-Dec-23 47 Inactive
2026 17043189 SHEET ASM Nos. 172 19034 29-Dec-23 47 Inactive
2027 17043300 CLIP ASM Nos. 896 134804 29-Dec-23 47 Inactive

2028 17044698
WIDER CAB 
(AERODYNAMIC 
DESIGN)

Nos. 1 690950 22-Sep-23 39
Inactive

2029 17044789 DOOR ASM (RH) Nos. 1 14254 21-Oct-23 47 Inactive
2030 17044790 DOOR ASM (LH) Nos. 2 28966 21-Oct-23 47 Inactive
2031 17045204 SIDE SASH ASM (LH) Nos. 1 59767 5-Apr-24 47 Inactive
2032 17045216 SIDE SASH ASM (RH) Nos. 1 59767 5-Apr-24 47 Inactive

2033 17045241 DOOR FRAME ASM (LH) Nos. 1 23364 26-Apr-24 37 Inactive

2034 17045253 DOOR FRAME ASM (R 
H) Nos. 1 23364 21-Oct-23 47 Inactive

2035 17047780 KIT FOR PERFORATED 
SHEET Nos. 21 159074 27-Sep-23 47 Inactive

2036 17050248 AIR FILTER ASSEMBLY Nos. 1 105000 17-Oct-23 37 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2037 17050455 CONTROLLER ASM 
DYNAMIC Nos. 20 4266877 30-Apr-24 48 Inactive

2038 17050789 TUBE ASM Nos. 11 7132 5-Oct-23 41 Inactive
2039 17050844 CLAMP ASM Nos. 224 10274 29-Sep-23 47 Inactive
2040 17050923 SHIELD ASM. Nos. 300 84293 25-Aug-23 37 Inactive
2041 17050935 SHIELD ASM. Nos. 152 24134 25-Aug-23 37 Inactive
2042 17050947 SHIELD ASM. Nos. 442 99972 25-Aug-23 37 Inactive
2043 17050960 SHIELD ASM. Nos. 266 73416 25-Aug-23 37 Inactive
2044 17050972 SHIELD ASM. Nos. 10 14908 25-Aug-23 37 Inactive
2045 17050996 SHIELD ASM. Nos. 87 112044 25-Aug-23 37 Inactive
2046 17051010 SHIELD ASM. Nos. 4 3315 25-Aug-23 37 Inactive
2047 17051022 SHIELD ASM. Nos. 452 296122 25-Aug-23 37 Inactive
2048 17051034 SHIELD ASM. Nos. 11 6627 25-Aug-23 37 Inactive
2049 17051046 SHIELD ASM. Nos. 64 41290 25-Aug-23 37 Inactive
2050 17051058 SHIELD ASM. Nos. 1 9157 25-Aug-23 37 Inactive
2051 17051060 SHIELD ASM. Nos. 232 310506 25-Aug-23 37 Inactive
2052 17051071 SHIELD ASM. Nos. 196 174524 25-Aug-23 37 Inactive
2053 17051083 SHIELD ASM. Nos. 40 25865 25-Aug-23 37 Inactive
2054 17051095 SHIELD ASM. Nos. 283 96530 25-Aug-23 37 Inactive
2055 17051101 SHIELD ASM Nos. 182 82728 25-Aug-23 37 Inactive
2056 17051848 SHIELD ASM. Nos. 100 68926 25-Aug-23 37 Inactive
2057 17051850 SHIELD ASM. Nos. 10 23108 25-Aug-23 37 Inactive
2058 17051861 SHIELD ASM. Nos. 271 187803 25-Aug-23 37 Inactive
2059 17060382 CLAMP ASM Nos. 2163 56119 22-Aug-23 48 Inactive
2060 17060539 PIPE ASM Nos. 36 271853 28-Sep-23 41 Inactive
2061 17060771 TUBE ASM Nos. 1 1003 17-Aug-23 41 Inactive
2062 17060783 TUBE ASM Nos. 1 1062 17-Aug-23 41 Inactive
2063 17060862 CLAMP ASM Nos. 956 91236 22-Aug-23 48 Inactive
2064 17060874 CLAMP ASM Nos. 4277 181066 22-Aug-23 48 Inactive
2065 17060928 CLAMP ASM Nos. 3500 142749 22-Aug-23 48 Inactive
2066 17060989 CLAMP Nos. 924 110102 22-Aug-23 48 Inactive
2067 17061246 TUBE ASM. Nos. 367 163890 30-Aug-23 41 Inactive
2068 17061581 PIPE ASM Nos. 42 98548 4-Oct-23 41 Inactive
2069 17061593 PIPE ASM Nos. 47 97722 4-Oct-23 41 Inactive
2070 17061611 PIPE ASM Nos. 62 137276 11-Oct-23 41 Inactive
2071 17061623 PIPE ASM Nos. 1 4130 11-Oct-23 41 Inactive
2072 17061635 PIPE ASM Nos. 117 53383 11-Oct-23 41 Inactive
2073 17061672 CLAMP ASM Nos. 2 14160 11-Oct-23 37 Inactive
2074 17061854 TUBE ASM Nos. 1 1063 17-Aug-23 41 Inactive
2075 17061994 TUBE ASM Nos. 461 202188 9-Oct-23 41 Inactive
2076 17062068 PIPE ASM Nos. 463 974489 5-Oct-23 49 Inactive
2077 17062070 PIPE ASM Nos. 173 249320 5-Oct-23 48 Inactive
2078 17062093 PIPE ASM Nos. 7 83761 12-Oct-23 41 Inactive
2079 17062421 CLAMP ASM. Nos. 1200 42300 4-Sep-23 48 Inactive
2080 17062470 PIPE ASM Nos. 1 1652 4-Oct-23 41 Inactive
2081 17062597 PIPE ASM. Nos. 469 325145 28-Sep-23 41 Inactive
2082 17062603 TUBE ASM Nos. 16 3908 27-Sep-23 49 Inactive
2083 17062883 PIPE ASM. Nos. 1 2065 17-Aug-23 41 Inactive

2084 17062937 PIPE ASM FOR BC EP 
CAB END Nos. 1 1063 17-Aug-23 41 Inactive

2085 17062986 TUBE ASM Nos. 458 130073 11-Oct-23 41 Inactive
2086 17063061 TUBE ASM. Nos. 124 28449 10-Oct-23 60 Inactive
2087 17063073 PIPE ASM Nos. 24 9448 12-Oct-23 51 Inactive
2088 17063140 PIPE ASM Nos. 15 37895 21-Sep-23 41 Inactive
2089 17063152 PIPE ASM Nos. 38 24429 21-Sep-23 41 Inactive
2090 17063395 PIPE ASM Nos. 54 35552 21-Sep-23 41 Inactive
2091 17063449 PIPE ASM Nos. 182 276647 21-Sep-23 41 Inactive

2092 17064223 TUBE ASM FOR FEED 
GAUGE Nos. 202 54985 28-Sep-23 41 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2093 17064247 Tube Asm Nos. 164 42673 10-Oct-23 60 Inactive
2094 17064259 Tube Asm Nos. 111 29940 17-Oct-23 60 Inactive
2095 17064260 Tube Asm Nos. 1 248 9-Oct-23 41 Inactive
2096 17064296 TUBE ASM Nos. 1 826 9-Oct-23 41 Inactive
2097 17064405 TUBE ASM 1/4" OD Nos. 1 1063 3-Oct-23 41 Inactive
2098 17064429 PIPE ASM Nos. 1 649 3-Oct-23 41 Inactive
2099 17064510 TUBE ASM 1/4" OD Nos. 1 649 14-Oct-23 41 Inactive
2100 17064521 TUBE ASM 1/4" OD Nos. 134 27735 16-Oct-23 60 Inactive
2101 17064533 TUBE ASM 1/4" OD Nos. 165 36138 16-Oct-23 60 Inactive
2102 17064545 TUBE ASM 1/4" OD Nos. 167 39405 16-Oct-23 60 Inactive
2103 17067741 CLAMP ASM. Nos. 274 12975 22-Aug-23 48 Inactive
2104 17067789 NIPPLE-1 1/2 Nos. 231 33203 5-Oct-23 48 Inactive

2105 17069660 PIPE ASM FOR AIR 
DRYER OUT Nos. 1 11859 25-Aug-23 41 Inactive

2106 17069683 PIPE ASM FOR AIR 
DRYER IN Nos. 1 944 25-Aug-23 41 Inactive

2107 17069841 Pipe Asm Nos. 269 317361 24-Aug-23 41 Inactive
2108 17069877 PIPE ASM Nos. 331 255741 24-Aug-23 49 Inactive
2109 17069890 PIPE ASM Nos. 106 387676 24-Aug-23 40 Inactive
2110 17069919 PIPE ASM Nos. 84 103724 25-Aug-23 41 Inactive
2111 17069932 PIPE ASM Nos. 221 391097 4-Mar-24 41 Inactive
2112 17069993 TUBE ASM Nos. 457 103968 27-Sep-23 51 Inactive
2113 17070296 PIPE ASM Nos. 1 2065 25-Aug-23 41 Inactive
2114 17070399 PIPE ASM Nos. 123 629791 24-Aug-23 40 Inactive
2115 17070417 TUBE ASM Nos. 466 121190 28-Sep-23 51 Inactive

2116 17070764 TUBE ASM FOR FEED 
GAUGE Nos. 280 76291 27-Sep-23 51 Inactive

2117 17070843 TUBE ASM Nos. 418 72082 28-Sep-23 51 Inactive
2118 17070855 Pipe Asm Nos. 152 243884 25-Aug-23 41 Inactive
2119 17070960 TUBE ASM Nos. 451 111047 28-Sep-23 51 Inactive
2120 17070971 TUBE ASM Nos. 464 136587 28-Sep-23 51 Inactive
2121 17070983 TUBE ASM Nos. 4 1774 28-Sep-23 51 Inactive
2122 17070995 TUBE ASM Nos. 339 91070 28-Sep-23 51 Inactive
2123 17071884 Pipe Asm Nos. 1 2596 9-Mar-24 41 Inactive
2124 17082950 ANGLE Nos. 997 605977 25-Aug-23 37 Inactive
2125 17083321 PLATE Nos. 34 93370 25-Aug-23 37 Inactive
2126 17084210 FLANGE-2" W Nos. 361 53426 4-Oct-23 47 Inactive
2127 17084374 WEAR PLATE Nos. 12 940 18-Sep-23 48 Inactive
2128 17085020 ANGLE Nos. 684 27750 29-Dec-23 47 Inactive
2129 17085032 PAD-TAPPING Nos. 99 1252 29-Dec-23 47 Inactive
2130 17085081 PAD-TAPPING Nos. 24702 176866 28-Aug-23 48 Inactive
2131 17085366 PLATE Nos. 2 15104 11-Oct-23 47 Inactive
2132 17085391 SHIM - 7/8 THICK Nos. 941 256890 3-May-24 47 Inactive
2133 17085408 SHIM - 1" THICK Nos. 918 263940 9-Sep-23 48 Inactive
2134 17085457 PAD TAPPING Nos. 36 15549 29-Sep-23 47 Inactive
2135 17086395 ZEE Nos. 6 3540 12-Sep-23 37 Inactive
2136 17086553 PLATE Nos. 797 58915 22-Aug-23 48 Inactive
2137 17086565 PLATE Nos. 6 35400 25-Aug-23 37 Inactive
2138 17086577 PLATE Nos. 2 2832 25-Aug-23 37 Inactive
2139 17087260 PAD TAPPING Nos. 40 4883 29-Aug-23 37 Inactive
2140 17087272 PAD-TAPPING Nos. 2849 83257 30-Aug-23 48 Inactive
2141 17124207 PLATE Nos. 44 31152 25-Aug-23 37 Inactive
2142 17124219 ANGLE Nos. 38 17039 25-Aug-23 37 Inactive
2143 17124463 SHIM Nos. 144 27289 25-Aug-23 37 Inactive
2144 17124591 STRIP Nos. 18 19013 20-Oct-23 47 Inactive
2145 17124773 FLASHING Nos. 22 2448 11-Oct-23 37 Inactive
2146 17125777 SHEET Nos. 2 7080 4-Oct-23 37 Inactive
2147 17125923 ANGLE-TRIM Nos. 19 28025 30-Sep-23 47 Inactive
2148 17128389 SHEET Nos. 391 147865 12-Sep-23 37 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2149 17128523 SHEET Nos. 38 15246 12-Sep-23 37 Inactive
2150 17128614 SHEET Nos. 38 4260 12-Sep-23 37 Inactive
2151 17129382 ANGLE Nos. 147 18345 28-Aug-23 37 Inactive
2152 17140328 SHIELD Nos. 262 20562 25-Aug-23 37 Inactive
2153 17140766 FLASHING Nos. 2 814 29-Dec-23 47 Inactive
2154 17140997 SHIM COIL SPRING Nos. 144 145126 19-Sep-23 48 Inactive

2155 17141084 SPACER FOR HOUSING 
BEARING Set 54 571604 18-Sep-23 48 Inactive

2156 17143603 SHIM 20 GA Nos. 4222 93004 30-Sep-23 47 Inactive
2157 17143615 SHIM 0.014" Nos. 3508 68058 30-Sep-23 47 Inactive
2158 17143627 SHIM 0.005" Nos. 5408 58947 30-Sep-23 48 Inactive

2159 17160492 ROD PRIMARY 
INTERLOCK Nos. 24 50717 18-Sep-23 48 Inactive

2160 17161186 BUSHING FLANGE. Nos. 112 144166 18-Sep-23 48 Inactive
2161 17161514 BUSHING FLANGE Nos. 69 38201 18-Sep-23 48 Inactive
2162 17200660 NIPPLE 1 3 1/2 Nos. 3051 204381 22-Aug-23 48 Inactive
2163 17200740 TUBING 2.1/8" OD Nos. 441 59899 29-Aug-23 51 Inactive
2164 17201548 TUBING 3" OD Nos. 153 41773 1-Sep-23 51 Inactive
2165 17201925 PIPE - 3" Nos. 26 92397 17-Oct-23 41 Inactive
2166 17202115 TUBE Nos. 589 161487 2-May-24 41 Inactive
2167 17202152 PIPE-3/4 Nos. 18 13115 17-Aug-23 41 Inactive
2168 17203004 PIPE-3/4 Nos. 1 1121 30-Sep-23 41 Inactive
2169 17203028 PIPE 1-1/2" Nos. 619 457092 17-Aug-23 41 Inactive

2170 17203650 NIPPLE 1/4 " NBX- 
7"LG NPT-NPT Nos. 2 472 22-Aug-23 37 Inactive

2171 17206534 BEND PIPE Nos. 1 531 25-Aug-23 41 Inactive
2172 17250018 JACKING PAD Nos. 114 418306 9-Sep-23 37 Inactive

2173 17250687 DAMPER BRACKET 
UPPER Nos. 26 18991 18-Sep-23 48 Inactive

2174 17270285 FIBER STRIP Nos. 2758 210274 30-Oct-23 47 Inactive
2175 17270728 DUCT AIR Nos. 16 16662 17-Oct-23 47 Inactive
2176 17271095 COMPOUND 20?? 42176.385 2240231 23-Apr-24 47 Inactive
2177 17271162 RING WEAR Nos. 240 44131 11-Oct-23 47 Inactive
2178 17271186 GASKET Nos. 65 20428 29-Dec-23 47 Inactive
2179 17271368 SEALANT LTR 732.163 928691 5-Oct-23 48 Inactive
2180 17271411 SEALANT 20?? 2081.81 137656 20-Sep-23 37 Inactive
2181 17271794 INSULATION Nos. 263 65963 21-Sep-23 60 Inactive
2182 17271990 STRIP RUBBER Nos. 1 500 22-Aug-23 37 Inactive

2183 17272415 WEATHER STRIP(2.8 
METER= 1 No) Nos. 6 31223 27-Dec-23 47 Inactive

2184 17272520 PERPORATED SHEET Nos. 53 96237 20-Sep-23 47 Inactive
2185 17272543 INSULATION Nos. 182 82127 19-Sep-23 60 Inactive
2186 17272555 INSULATION Nos. 178 128305 19-Sep-23 60 Inactive
2187 17272567 INSULATION Nos. 173 79651 19-Sep-23 60 Inactive
2188 17272579 INSULATION Nos. 578 216834 19-Sep-23 60 Inactive
2189 17272592 INSULATION Nos. 32 22412 19-Sep-23 60 Inactive
2190 17280126 ELBOW 3/8 W Nos. 1585 124819 1-Sep-23 37 Inactive
2191 17280230 ELBOW-1 1/4 Nos. 3628 720128 1-Sep-23 48 Inactive
2192 17280254 TEE-1 1/4W Nos. 462 151869 1-Sep-23 48 Inactive

2193 17280266 ELBOW - 1 1/4 W x 3/4 
W Nos. 659 168992 25-Aug-23 37 Inactive

2194 17280280 FLANGE - 2 SWIVEL Nos. 990 284488 12-Oct-23 47 Inactive
2195 17280291 INSERT-2FL-2W Nos. 1897 407978 12-Oct-23 48 Inactive

2196 17280308 FLANGE-1 1/4 SWIVEL Nos. 2849 478632 1-Sep-23 48 Inactive

2197 17280310 INSERT-1 1/4 FL 1 1/4 
W Nos. 1 2950 1-Sep-23 37 Inactive

2198 17280448 TEE - 3/4W Nos. 605 95169 31-Oct-23 37 Inactive
2199 17280485 INSERT 2FL-2W Nos. 514 106936 22-Aug-23 48 Inactive
2200 17280540 ELBOW 1/2T-3/8FPT Nos. 1247 83732 26-Aug-23 54 Inactive
2201 17280576 ELBOW-3/4 PTW Nos. 66 10298 31-Oct-23 37 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2202 17280783 PIPE TEE 1 - 1/2" PT Nos. 73 19551 21-Sep-23 37 Inactive

2203 17280795 ELBOW 1 1/2" - 3/4" PT Nos. 77 17129 21-Sep-23 37 Inactive
2204 17280801 NIPPLE-1 1/2" Nos. 893 49462 21-Sep-23 37 Inactive
2205 17280850 ELBOW-1/4 TUBE Nos. 255 6617 3-Oct-23 54 Inactive
2206 17281362 ELBOW-3/4" PT Nos. 1317 159988 4-Oct-23 47 Inactive
2207 17281374 UNION-3/4 " PT Nos. 403 82227 4-Oct-23 47 Inactive
2208 17281428 NIPPLE-3/4PT X 2.5 Nos. 455 14918 12-Oct-23 47 Inactive
2209 17290041 UNION-1" PT Nos. 24 7280 5-Oct-23 48 Inactive
2210 17290089 UNION-1 1/2" PT Nos. 448 271549 21-Sep-23 48 Inactive
2211 17300046 PLUG-1/4 PT Nos. 1117 32926 16-May-24 37 Inactive
2212 17300060 PLUG-1/4 PT Nos. 465 22600 16-May-24 37 Inactive
2213 17300101 PLUG-1 PT Nos. 384 37193 16-May-24 37 Inactive
2214 17300125 PLUG-3/4 PT Nos. 626 63966 16-May-24 37 Inactive
2215 17300137 PLUG-1/2 PT Nos. 2059 52064 16-May-24 37 Inactive
2216 17300149 PLUG-1/2 PT. Nos. 543 35525 28-May-24 37 Inactive
2217 17300216 PLUG-1 1/2" PT Nos. 583 87346 22-Aug-23 37 Inactive
2218 17300228 PIPE OUTLET Nos. 557 181043 1-Sep-23 41 Inactive
2219 17300381 PLUG-1/16 PT Nos. 712 37464 19-Oct-23 37 Inactive
2220 17300393 PLUG HEX 1/8-27 PT Nos. 388 19542 2-Jan-24 37 Inactive
2221 17314094 NAME PLATE Nos. 156 25451 5-Sep-23 51 Inactive

2222 17320276 ELBOW-5/8" T-3/8" PT Nos. 2198 360406 13-Oct-23 54 Inactive
2223 17320483 HOSE ASM Nos. 13 4477 18-Sep-23 48 Inactive
2224 17320495 HOSE ASM Nos. 76 14418 30-Sep-23 47 Inactive
2225 17320653 HOSE COOLANT Nos. 2 1103 5-Oct-23 48 Inactive
2226 17340251 CLAMP ASM Nos. 931 19021 22-Aug-23 48 Inactive
2227 17340378 CLAMP ASM Nos. 1025 47278 22-Aug-23 48 Inactive
2228 17340573 CLAMP HOSE T BOLT Nos. 2852 228824 11-Oct-23 47 Inactive
2229 17340585 HOSE CLAMP Nos. 100 29380 17-Oct-23 47 Inactive

2230 17340834 DECAL ENGLISH LTRBD Nos. 448 5661339 5-Sep-23 37 Inactive
2231 17340974 CLAMP ASM. Nos. 959 91178 22-Aug-23 48 Inactive
2232 17341541 N/PL OIL FILTER Nos. 456 20268 29-Sep-23 47 Inactive

2233 17400030 BEARING ASM ROLLER Nos. 28 784749 18-Sep-23 48 Inactive

2234 17400053 BEARING ASM ROLLER Nos. 18 491494 18-Sep-23 48 Inactive
2235 17410101 SPRING SINGLE COIL Nos. 404 6388011 3-Apr-24 56 Inactive
2236 17420088 DOOR GLASS Nos. 2 5900 27-Dec-23 51 Inactive

2237 17451383 Flasher Light Housing 
Halogen Nos. 80 134718 19-Sep-23 48 Inactive

2238 17451395 CLIP ASM Nos. 130 16715 29-Dec-23 47 Inactive

2239 17451759 Dynamic Braking Fan 
Assembly Nos. 2 1853780 1-May-24 37 Inactive

2240 17452211 BUSHING-TRACTION 
ROD Nos. 36 89208 18-Sep-23 48 Inactive

2241 17452417 HIGH FRICTION 
COMPOSITION BRAK Nos. 27 17374 18-Sep-23 56 Inactive

2242 17452855 Horizontal Damper 
Secondry YAW Nos. 254 3503355 12-Dec-23 56 Inactive

2243 17453173 CLEVIS. Nos. 385 92376 19-Sep-23 48 Inactive
2244 17453227 BRAKE SHOE KEY Nos. 50 11032 18-Sep-23 48 Inactive

2245 17453458 HALF CYLINDER WEAR Nos. 512 1264508 14-Mar-24 37 Inactive
2246 17453793 GEAR CASE ASM KIT Set 28 2207384 25-Sep-23 39 Inactive

2247 17454487 HOUSING BEARING KIT Set 25 619713 19-Sep-23 56 Inactive

2248 17454992 VERTICAL DAMPER 
PRIMARY Nos. 12 134349 19-Sep-23 56 Inactive

2249 17455236 FLOOR MAT Nos. 22 95448 23-Dec-23 47 Inactive
2250 17455248 FLOOR MAT Nos. 6 42714 23-Dec-23 47 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2251 17455250 FLOOR MAT Nos. 30 105075 1-May-24 47 Inactive
2252 17455716 FLOOR MAT Nos. 43 226331 8-Jun-24 47 Inactive
2253 17455728 FLOOR MAT Nos. 40 210602 8-Jun-24 47 Inactive

2254 17459758
KIT FOR COMPUTER 
CONTROL BRAKE 
(CCB) 2.0 SYSTEM

Set 1 3576497 18-Apr-24 37
Inactive

2255 18000060 CONTROL CONSOLE#1 
FOR SINGLE C Nos. 4 1360769 14-Sep-23 37

Inactive

2256 18000071 CONTROL CONSOLE#2 
FOR SINGLE C Nos. 6 2694013 14-Sep-23 37

Inactive
2257 18000435 CLASS LIGHT ASM Nos. 891 431413 19-Sep-23 48 Inactive

2258 18011639 PLUG TCC2 XA ZONE 
T44 Nos. 78 2123373 31-Aug-23 48 Inactive

2259 18011640 PLUG TCC2 XB ZONE 
T45 Nos. 25 803174 31-Aug-23 48 Inactive

2260 18011652 PLUG TTC 2 XC-ZONE 
T46 Nos. 25 771472 31-Aug-23 48 Inactive

2261 18020010 TRACTION 
ALTERNATOR FOR Nos. 1 7966536 19-Apr-24 54 Inactive

2262 18050025 CAB MOUNTED 
COMPACT HVAC UNIT Nos. 1 424473 28-May-24 37

Inactive
2263 18060018 PIPE ASM Nos. 18 21418 5-Oct-23 48 Inactive

2264 18080017
3-PHASE TRACTION 
MOTOR WITHOUT 
PINION FOR 4500HP

Nos. 6 12382920 31-Oct-23 39
Inactive

2265 18250026 RESISTOR 6.6-6.6 -
400W Nos. 34 80560 22-Aug-23 49 Inactive

2266 18300352 RESISTOR ASM Nos. 8 34689 23-Aug-23 50 Inactive
2267 18310072 800A FUSE Nos. 15 105367 7-May-24 37 Inactive

2268 18330071 CABLE SIZE 37/30 
AWG 14 MTR 313.02 15982 15-Sep-23 62 Inactive

2269 18330083 CABLE SIZE 37/.0133 
AWG 12 MTR 2120 202755 12-Oct-23 62 Inactive

2270 18330095 CABLE SIZE 91/24 
AWG 5 MTR 697.15 331335 15-Sep-23 62 Inactive

2271 18330125 CABLE SIZE 775/24 MTR 416.824 1356091 14-Sep-23 62 Inactive

2272 18330204 CABLE SIZE 37/24 
AWG SIZE 8 MTR 339.92 58913 15-Sep-23 62 Inactive

2273 18330216 CABLE SIZE 125/24 
AWG 3 MTR 1019.801 369602 15-Sep-23 62 Inactive

2274 18330228 CABLE SIZE 225/24 
AWG SIZE 1 MTR 519 595272 15-Sep-23 62 Inactive

2275 18330265 SHIELDED 
MICROPHONE CABLE MTR 5941.41 1763194 15-Sep-23 62 Inactive

2276 18330289 CABLE -3 Cond 12 
TWT SIZE37/27 MTR 875.032 386809 15-Sep-23 62 Inactive

2277 18330290 CABLE SIZE 37/30 
AWG 14 MTR 1976.605 289477 15-Sep-23 62 Inactive

2278 18330320 CABLE-5 CONDUCTOR 
AWG 16, MTR 447.372 293117 15-Sep-23 62

Inactive

2279 18330356 CABLE -4 COND 
SHIELDED MTR 161.465 44242 15-Sep-23 62 Inactive

2280 18330368 CABLE-14 
CONDUCTOR, AWG 16 MTR 580.45 224279 15-Sep-23 62

Inactive
2281 18330484 SEAL & WIRE Nos. 7518 316871 13-Sep-23 50 Inactive

2282 18350094 TERMINAL 
RECEPTACLE Nos. 2283 33591 19-Sep-23 62 Inactive

2283 18350161 TERMINAL 
RECEPTACLE Nos. 4840 105808 1-Sep-23 62 Inactive

2284 18360324 Lamp 200W/30V Nos. 50 92395 6-Jun-24 50 Inactive
2285 18360683 Head light assly Nos. 28 176020 13-Sep-23 48 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2286 18360774 LED Based 
Classification Lamp Nos. 18 49646 22-Sep-23 49 Inactive

2287 18440010 PINION 17 TEETH Nos. 56 1551700 13-Sep-23 39 Inactive
2288 18461141 CLEAT Nos. 333 18773 11-Sep-23 50 Inactive
2289 18520698 CLAMP ASM MOD Nos. 3012 132023 19-Sep-23 48 Inactive
2290 18530266 HEAT SHRINK TUBE Nos. 12 68 19-Sep-23 62 Inactive
2291 18531556 INSULATOR SLEEVE Nos. 1836 262314 30-Aug-23 48 Inactive
2292 18540016 GROMMET Nos. 930 22098 19-Sep-23 50 Inactive
2293 18540156 GROMMET STRIP Nos. 1570 111062 19-Sep-23 50 Inactive
2294 19010114 BOLT - HEXAGON Nos. 304 2373 9-Feb-24 57 Inactive
2295 19010461 Bolt M24x3x220 Hex Nos. 940 171914 14-Aug-23 57 Inactive

2296 19011180 BOLT 5/16-18 HEX SPL Nos. 484 12788 3-Jan-24 57 Inactive

2297 19011313 BOLT HEXAGON 5/16-
18X2.25 Nos. 267 1553 20-Mar-24 57 Inactive

2298 19011349 BOLT HEXAGON 5/8-11 
x 1.75 Nos. 11396 154710 15-Sep-23 57 Inactive

2299 19011350 BOLT HEXAGON 5/8-
11X2.25 Nos. 14018 232663 10-Oct-23 57 Inactive

2300 19012380 BOLT 3/8-16 HEX Nos. 15 1012 5-Mar-24 57 Inactive
2301 19012410 BOLT 3/8-16 DR HEX Nos. 1251 30743 25-Jun-24 57 Inactive

2302 19012585 BOLT - ROUND HEAD 
SQUARE NECK Nos. 4344 93699 30-Sep-23 57 Inactive

2303 19012615 BOLT HEXAGON 3/8-16 
x 2.75 Nos. 1856 15118 26-Aug-23 57 Inactive

2304 19012664 BOLT HEXAGON PLUG 
INSERT LOCK Nos. 3095 15206 10-Oct-23 57 Inactive

2305 19014417 BOLT-1/2-13 HEXAGON Nos. 242 3405 18-Jan-24 57 Inactive
2306 19016050 BOLT 5/8-18 HEX Nos. 1017 387407 6-May-24 57 Inactive

2307 19016098 BOLT - 5/8-11 DR HEX Nos. 1984 399747 6-May-24 57 Inactive

2308 19016153 BOLT HEXAGON 5/8-
11X1 Nos. 11881 184536 30-Nov-23 57 Inactive

2309 19016165 BOLT HEXAGON 5/8-11 
x 3.75 Nos. 100 3602 12-Dec-23 57 Inactive

2310 19016256 BOLT 5/8-11 HEX Nos. 644 17893 22-May-24 57 Inactive

2311 19017080 BOLT HEXAGON 1-8 x 
1.5 Nos. 2082 191210 26-Dec-23 57 Inactive

2312 19018034 BOLT HEXAGON 1-14 x 
2.25 Nos. 320 26796 28-Aug-23 57 Inactive

2313 19019038 BOLT HEXAGON 3/4-10 
x 1.75 Nos. 20692 450736 30-Sep-23 57 Inactive

2314 19019191 BOLT-HEXAGON Nos. 1811 59851 22-May-24 57 Inactive
2315 19019210 BOLT-3/4-10 DR HEX Nos. 2346 95602 10-Oct-23 57 Inactive

2316 19019233 BOLT HEXAGON 3/4-10 
x 1.5 Nos. 11024 309208 18-Aug-23 57 Inactive

2317 19019245 BOLT HEXAGON 5/8-
11X4.5 Nos. 11589 308728 18-Sep-23 57 Inactive

2318 19019257 BOLT HEXAGON 3/4-10 
x 3.5 Nos. 20160 736602 18-Sep-23 57 Inactive

2319 19019269 BOLT 3/4-10 HEX Nos. 5390 253162 18-Sep-23 57 Inactive

2320 19019270 BOLT HEXAGON 3/4-10 
x 5 Nos. 11664 549738 18-Sep-23 57 Inactive

2321 19152036 SCREW 10-24 PCR Nos. 3810 15318 30-Aug-23 57 Inactive

2322 19152140 SCREW PAN HEAD 
CROSS RECESS Nos. 4799 13225 30-Aug-23 57 Inactive

2323 19260039 SCREW # 4R Nos. 434 2476 27-Jan-24 57 Inactive

2324 19260064 SCREW ROUND HEAD 
METTALIC DRIV Nos. 186 883 27-Sep-23 57

Inactive
2325 19310092 KEY WOODRUFF Nos. 203 8722 18-Jan-24 57 Inactive
2326 19310109 KEY WOODRUFF Nos. 47 1843 18-Jan-24 57 Inactive
2327 19320050 PIN COTTER Nos. 297 35156 8-Dec-23 57 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2328 19330133 PIN - SPRING(1/8" x 1-
3/8") Nos. 578 11563 8-Jan-24 57 Inactive

2329 19330741 PIN Nos. 323 116269 8-Dec-23 57 Inactive
2330 19330935 DOWEL Nos. 324 118896 5-Apr-24 57 Inactive
2331 19330947 DOWEL Nos. 302 60954 5-Apr-24 57 Inactive
2332 19330984 DOWEL Nos. 331 229199 7-May-24 57 Inactive

2333 19331174 PIN KIT FOR BRAKE 
RIGGING. Nos. 5.5 79200 18-Sep-23 57 Inactive

2334 19331198 DOWEL Nos. 692 379145 26-Oct-23 57 Inactive
2335 19331204 DOWEL Nos. 372 86201 8-Jan-24 57 Inactive
2336 19340199 RING RETAINING Nos. 168 148420 8-Jan-24 57 Inactive
2337 19350326 NUT- 5/8-11 SLF LKG Nos. 399 3873 12-Dec-23 57 Inactive
2338 19350429 NUT 3/4-10 Nos. 1871 36012 22-May-24 57 Inactive
2339 19350570 Nut M24x3 SLGLKG Nos. 824 77868 14-Aug-23 57 Inactive
2340 19350594 NUT 5/8-11 HEX Nos. 161 2249 22-May-24 57 Inactive
2341 19350697 CRAB NUT FORGING Nos. 1738 996503 21-Mar-24 57 Inactive

2342 19355191 NUT 5/8-18 SELF 
LOCKING Nos. 71 20848 27-Jan-24 57 Inactive

2343 19358015 NUT 1/4"-20 P WELD-E Nos. 28696 821784 30-Aug-23 57 Inactive
2344 19390040 WASHER 1/2 SPR LK Nos. 2436 15154 27-Jan-24 57 Inactive

2345 19390221 WASHER REGULAR 
HELICAL SPRING Nos. 108967 364154 18-Sep-23 57 Inactive

2346 19391158 WASHER 5/8 FLAT Nos. 207 11938 10-Jan-24 57 Inactive
2347 19394366 WASHER SPECIAL Nos. 6442 73046 18-Sep-23 57 Inactive
2348 19394391 WASHER SPECIAL Nos. 782 5562 26-Dec-23 57 Inactive
2349 19394548 WASHER SPECIAL Nos. 4468 47789 4-Jan-24 57 Inactive
2350 19394718 Washer Special Nos. 1532 47591 22-May-24 57 Inactive
2351 19394720 WASHER SPECIAL Nos. 3446 94317 22-May-24 57 Inactive

2352 19840202 WASHER FOR HUCK 
BOLT Set 3 17802 18-Sep-23 57 Inactive

2353 19840226 BOLT KIT FOR BRAKE 
RIGGING Set 13.5 31970 18-Sep-23 57 Inactive

2354 19840238 WASHER KIT FOR 
BRAKE RIGGING. Set 2 7097 18-Sep-23 57 Inactive

2355 19840240 NUT KIT FOR BRAKE 
RIGGING Set 19 43461 18-Sep-23 57 Inactive

2356 29170023
DRIVER AND 
ASSISTANT DESK 
ILLUMINATION

Nos. 2 4591 5-Apr-24 56
Inactive

2357 29230093 SET OF PLUGS Set 182 71823 13-Mar-24 48 Inactive
2358 29380030 KEY MULTIPLIER SET Set 18 679680 20-Oct-23 45 Inactive
2359 29420052 PINION 21 TEETH Nos. 69 1872517 13-May-24 39 Inactive

2360 29610576 SHRINK DOWN SLEEVE 
12.7 X 0.28 PE5G/YEL MTR 1407 73720 21-Sep-23 51

Inactive

2361 29616232
CONTACT SOCKET 
16/2.0 MM2 WITH 
CHEMPHERING AWG14

Nos. 3060 394032 5-Sep-23 54
Inactive

2362 40125257 COPPER CONDUCTOR 
35/.012"(6MM) MTR 35.2 696 18-Jan-24 30

Inactive

2363 40300468 SUPER ENAMELLED 
COPPER Kgs. 135.451 98737 5-Mar-24 30 Inactive

2364 40303251 ROUND COPPER 
WINDING WIRE Kgs. 98.685 72844 18-Jun-24 30 Inactive

2365 40305429 SUPER ENAMELLED 
COPPER WIRE Kgs. 20.99 22137 25-Oct-23 30 Inactive

2366 40980443 3 pair pvc cable MTR 4900 48268 7-Nov-23 30 Inactive
2367 40980455 05 Pair PVC Cable MTR 1857 31033 7-Nov-23 30 Inactive
2368 40980467 10 Pair PVC Cable MTR 2337 79168 7-Nov-23 30 Inactive

2369 40980479 05 Pair Jelley field 
Cable MTR 435 12841 7-Nov-23 30 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2370 40980522 Field service cable Two 
core,8 MTR 4110 24735 7-Nov-23 30 Inactive

2371 42030651 LAMPHOLDER 
PENDENT TYPE Nos. 1248 33695 20-Jul-23 30 Inactive

2372 42312887 CONDUIT PIPE 1" MTR 314.062 24796 11-Aug-23 62 Inactive

2373 42312929 REGID STEEL 
CONDUIT 1.1/2" MTR 1301.2 299284 11-Aug-23 62 Inactive

2374 42312930 RIGID STEEL CONDUIT 
51 MM MTR 510.009 149438 31-Aug-23 62 Inactive

2375 62309031 H.F.S STEEL TUBE 
101.6 MM OD MTR 68.695 87424 18-May-24 41 Inactive

2376 62331498 MS PIPE 80 MM NB 
SEAMLESS MTR 266.366 265413 22-Aug-23 41 Inactive

2377 62334013 H.F.S STEEL TUBE 
73.33 MM OD MTR 738.383 217971 18-May-24 41 Inactive

2378 62334116 SEAMLESS STEELTUBE 
82.55 MM OD MTR 110.598 117856 18-May-24 41

Inactive

2379 62337865 SEAMLESS STEEL 
TUBE 9.53 MM OD MTR 1303.319 77113 2-May-24 41 Inactive

2380 62347767 MS PIPE 8 MM NB 
SEAMLESS MTR 10661.925 913419 20-Oct-23 41 Inactive

2381 62347792 3/4"NB STEEL PIPE 
EXTRA STRONG MTR 1162.109 268263 31-Oct-23 41 Inactive

2382 62348036 SEAMLESS STEEL 
TUBE 34.93MM OD Nos. 129.308 316076 20-Jul-23 41 Inactive

2383 62348176 SEAMLESS STEEL 
TUBE 57.15MM OD MTR 48.082 41326 20-Jul-23 41 Inactive

2384 62348371 HFS STEEL TUBE 88.90 
MM OD MTR 105.715 138439 20-Jul-23 41 Inactive

2385 62348607 SQUARE STEEL TUBE 
2"X2"X.12" MTR 490.05 196957 6-Apr-24 41 Inactive

2386 66020001 PRI FILTER Nos. 745 549331 18-Apr-24 59 Inactive

2387 66020037 BAG FILTER FOR LOCO 
PAINT SHOP Nos. 745 1913852 18-Apr-24 59 Inactive

2388 67010076 RUBBERSED WHEEL 
TYRE ASSLY. Nos. 26 93600 24-Jun-24 59 Inactive

2389 70237440 HONING STICK SIZE Nos. 400 36982 21-Nov-23 59 Inactive

2390 70237451 HONING TOOL 
CONSISINGASSLY FOR Nos. 146 47647 21-Nov-23 59

Inactive

2391 70237463 RESIN BOND 
STRAIGHT GRINDING Nos. 186 41747 11-May-24 59 Inactive

2392 72012158 DAVIS MAKE 
EXPANDABLE CUTTER Nos. 59 30557 33 Inactive

2393 72040178 HSS HAND TAP 3/4" X 
14 NPT Nos. 25 41330 21-Aug-23 33 Inactive

2394 72061625 MICROBORE 
CARTRIDGE Nos. 40 97670 33 Inactive

2395 72200108 HSS COMBINATION 
CENTRE DRILL Nos. 14 4213 8-May-24 33 Inactive

2396 72202890
HSS PARALLEL SHANK 
DRILL NO. 17, 
STANDARD (JOBBER

Nos. 4000 88028 2-Jan-24 48
Inactive

2397 72211179 CC INSERT 
CCMT120408 Nos. 58 12730 3-Nov-23 33 Inactive

2398 72240740 DIA 54.0 MM INSERT 
DRILL KIT Set 6 546297 8-May-24 33 Inactive

2399 72340710 RECTANGULAR DIE 
PUNCH KIT SIZE Set 23 1027249 10-Jun-24 33 Inactive

2400 72357101 TUNGESTAN CARBIDE 
ROTARY BURR Nos. 326 100395 4-Jun-24 33

Inactive

2401 72580045 DigitalOutside 
micrometer, Nos. 8 389211 14-Sep-23 33 Inactive

2402 72800045 3/4 inch square drive 
impact socket Nos. 18 358956 7-May-24 33 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2403 72900532 SINGLE DIAMOND 
WELL DEFINED Nos. 82 38804 29-Jul-23 33 Inactive

2404 72900581 SINGLE DIAMOND 
WELL DEFINED Nos. 5 1855 1-Jul-24 33 Inactive

2405 72902322 interchangeavle head 
torque wrench Set 8 1568258 14-Nov-23 33 Inactive

2406 72902760
1/2 inch sq. drive , 
Allen Hex bit socket 
size-6mm

Nos. 20 106554 26-Oct-23 33
Inactive

2407 72902772
1/2 inch square drive 
Impact socket, size-18 
mm

Nos. 20 24308 14-Nov-23 33
Inactive

2408 72902784
1/2 inch sq. drive 
Impact socket, size-24 
mm

Nos. 30 85314 14-Nov-23 33
Inactive

2409 72902863 3/8 Inch Square Drive 
Torque Wrench Nos. 12 813294 26-Jul-23 33 Inactive

2410 72902875 3/4 inch square drive 
pneumatic impact Nos. 4 314588 21-Jul-23 33 Inactive

2411 72902930
Pneumatic Impact 
wrench size 1 inch 
(long Anvil)

Nos. 8 814200 21-Jul-23 33
Inactive

2412 74033761 MS WELDED WIRE 
MESH SQM 25.172 12341 7-Jun-24 60 Inactive

2413 74491040 IRON TWER BOLT 8" 
LONG Nos. 1097 19198 24-Apr-24 30 Inactive

2414 75036459 PREMIUM/WELDING 
RUBBER HOSE8MM MTR 6 616 28-Mar-24 59 Inactive

2415 75102067 CANVAS APRON WITH 
ONE STRIP Nos. 400 49560 21-Nov-23 60 Inactive

2416 75613438 FLEX.PVC FLOORING 
2MMX1.62X20M MTR 13.52 9919 8-Dec-23 51 Inactive

2417 76018945 ELECTRODE Nos. 4562 43731 19-Apr-24 55 Inactive
2418 76114077 MCAW WIRE 1.6 MM Kgs. 825 282315 19-Apr-24 55 Inactive

2419 76114090 FCAW WIRE OF 2.00 
MM DIA. Kgs. 3260 2142759 19-Apr-24 55 Inactive

2420 76116025 submerged are welding Kgs. 10430.01 2617414 19-Apr-24 55 Inactive

2421 76116037 LINCON WELD FLUX L-
761 Kgs. 924.2 253300 19-Apr-24 55 Inactive

2422 76116049 Cu-Coated 5.5 mm Dia 
Wire Kgs. 29270 11368670 19-Apr-24 55 Inactive

2423 76116050 Cu-Coated Wire 4.00 
mm. Dia. Kgs. 1620 223213 19-Apr-24 55 Inactive

2424 76215106 GLASSES CLEAR Nos. 1 10 12-Jun-24 55 Inactive
2425 76217360 SWIRL RING Nos. 82 112044 28-Jun-24 55 Inactive
2426 76218041 Contact Nozzel Nos. 25 524643 23-Apr-24 55 Inactive
2427 76905329 TORCH HEAD Nos. 2 271400 30-Aug-23 55 Inactive

2428 77033152 ENAMEL SYNTH 
SMOKE GREY LTR 150 25311 2-Aug-23 36 Inactive

2429 77070045
EPOXY 
/POLYURETHANE 
PUTTY

Kgs. 935 82280 5-Oct-23 36
Inactive

2430 77115004 PAINT BRUSHING 
BITUMINOUS BLACK LTR 8 1935 5-Oct-23 36 Inactive

2431 80015189 MOBIL VACTRA EXTRA 
HEAVY LTR 210 49665 20-Jun-24 36 Inactive

2432 80015918 MACHINERY OIL 
R/BRAND LTR 420 44630 8-Feb-24 36 Inactive

2433 80091209 RUST PREVEN TIVE OIL LTR 2310 452483 12-Jul-23 36 Inactive
2434 81039610 K-OTHRIN FLOW LTR 100 62500 11-Dec-23 36 Inactive

2435 83020652 CONT COMPUT STY 
25.5X30.5 1PT THSND 111.5 33270 10-Apr-24 31 Inactive

2436 83020688 CONT COMPUT STY 
30.5X30.5X1PT THSND 144 28256 13-Apr-24 31 Inactive

2437 83040079 WHITE PAPER ROLL, 
75-80 GSM Rolls 170 163192 6-Dec-23 31 Inactive



COMBINED LIST OF SURPLUS and INACTIVE ITEMS FOR BLW:GSD AS ON 01 JULY 2025

2438 83050863
GP11/G18 1st Class A 
Free Pass 5.3X12 B/S 
Bks

Nos. 25 4900 21-Aug-23 31
Inactive

2439 84130404 ARALDITE ADHESIVE Nos. 127 14605 1-Mar-24 36 Inactive

2440 84134951 ADHESIVE FOR 
THREAD LOCKER LTR 10.776 138089 10-Jan-24 36 Inactive

2441 84135013 ADHESIVE FOR 
RETAINING CAM LTR 0.8 14774 7-Aug-23 36 Inactive

2442 84135037 SEALING COMPOUND LTR 69.25 982250 7-Jul-23 36 Inactive
2443 84139821 SEALENT Nos. 10 29937 6-Jul-23 36 Inactive
2444 86900055 FELT INSULATION MTR 12.24 20135 14-Nov-23 62 Inactive

2445 86980038 MEDIUM DENSITY 
FIBER BOARD SQM 470.205 337702 12-Dec-23 60 Inactive

2446 90330912 ALLOY STEEL ROUND 
BAR 45MM D Kgs. 0.8 82 4-May-24 34 Inactive

2447 90331138 BRIGHT STEEL ROUND 
BAR 36 MM Kgs. 38.93 3779 17-Nov-23 34 Inactive

2448 90338777 MC STEEL HEX BAR 
57.15 MM A/F Kgs. 150.56 39974 4-May-24 34 Inactive

2449 90361702 HEX BAR 28.57 MM A/F 
MC Kgs. 52.27 20046 14-Oct-23 34 Inactive

2450 90412011 Mild Steel Plates 25 x 
2000 x 4500 MT 30.98 2871555 17-Feb-24 52 Inactive

2451 90412473 Mild Steel Plates 40 x 
2000 x 4500 MT 24.212 1113418 17-Aug-23 52 Inactive

2452 90412771 Mild Steel Plates 76 x 
1800 x 8400 MT 17.162 747993 2-Aug-23 52 Inactive

2453 90505153 SHEET STEEL 0.8 
X1250 X2500 MM Kgs. 4855.88 185136 17-Oct-23 53 Inactive

2454 90518100 MS PERFORATED 
SHEET 1.6 MM Nos. 18.224 40686 30-Nov-23 34 Inactive

2455 90742771 LC HEX BAR 14.29 MM 
A/F Kgs. 4200.392 32595 9-Aug-23 34 Inactive

2456 90742850 BAR HEX LC OH 1.675" 
AF Kgs. 1110 130647 12-Apr-24 53 Inactive

2457 90742977 MEDIUM CARBON STL 
HEX BAR46 MM Kgs. 475.976 78638 4-Nov-23 34 Inactive

2458 90742990 MC STL HEX BAR 69.85 
MM A/F Kgs. 3057.07 197567 3-Aug-23 34 Inactive

2459 90745759 ALLOY STEEL ROUND 
BAR 20 MM Kgs. 134.845 23702 3-Aug-23 34 Inactive

2460 90776598 ALLOY STEEL ROUND 
BAR 100 MM Kgs. 817.265 67079 4-May-24 34 Inactive

2461 90980554 HIGH CARBON STL RD 
12 MM DIA Kgs. 588.4 38833 3-Aug-23 34 Inactive

2462 90980578 ALLOY STEEL ROUND 
BAR 32 MM Kgs. 2612.078 250255 4-May-24 34 Inactive

2463 90980992 STEEL SQUARE BAR 20 
MM. Kgs. 21.04 3554 21-Feb-24 34 Inactive

2464 90984973 BRIGHT HEX BAR 
1.5/16" A/F Kgs. 41665.965 301662 6-May-24 34 Inactive

2465 91050224 BRASS ROUND BAR 28 
MM DIA Kgs. 151.56 26949 26-Aug-23 60 Inactive

2466 91103228 COPPER TUBE 9.53 MM 
OD X 1.65 MTR 84.118 22916 10-Apr-24 45 Inactive

2467 91103230 COPPER TUBE 15.88 
MM OD X 2.03 MTR 166.456 88846 17-Apr-24 45 Inactive

2468 93120230 ALUMINIUM FINISH 
STRIP 3 MM Kgs. 6832.358 2563724 10-Apr-24 60 Inactive

2469 93120436 FINISH STRIP 
ALUMINIUM Kgs. 203.602 58046 12-Dec-23 60 Inactive

2470 93120448 MDF BLOCK 30X76 MM 
X 2.44 MTR Kgs. 169.497 53825 12-Dec-23 60 Inactive

2471 93120503 ALLUMINIUM FLAT 
3X25 MM Kgs. 73.95 23767 12-Dec-23 60 Inactive

2472 93120527 ALLUMINIUM CEILLING 
SHEET Nos. 10 19803 13-Dec-23 51 Inactive


	Combined Inactive & Surplus

